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001.

002.

003.

004.

005.

006.

Match the Column:

Work

I. Maksad

I1. Biji Sawar no Suraj

I11. Gulab

V. Kapoor no Divo
(A)1-a,1l-b,1l-¢IV-d
(C)1-d,1l-c, Il-alV-b

Match the Column:

I. Andrews Library

I1. Sayaji Vijay Library

I11. Lang Library

IV. Barton Library
(A)1-a,1l-b,1l-¢IV-d
(C)1-d,11-a, ll-b, IV-c

Author

a. Chandravadan Mehta

b. Nagindas Marfatia

c. Hasu Yagnik

d. Labhshankar Thakar
(B)1-d,1-c1ll-b1V-a
(D)1-a,1-b,111-d,1V-c

a. Bhavnagar

b. Navsari

c. Rajkot

d. Surat

B)1-d, 1-b,1Il-c1V-a
(D)1-a,1-d,1l-c IV-b

Which of the following terms is used by Bhil tribe for Ghandharva Marriage?

(A) Kahotilagna
(C) Satalagna

Which of the following is/are unmatched pair/s?

Fair

I. Akha Trij

Il. Dusshera

I11. Gher no mela
IV. Dang Darba
(A) 1, 11, 111 and 1V
(C) Il and 111 only

(B) Birhoor
(D) Udali Javu

Month

a. March

b. October

c. March

d. February

(B) 11 and IV only
(D) 111 only

Which of the following was a great saint of Vaishnav tradition of Achintya Bheda-Abheda?

(A) Narsinh Mehta

(C) Bhaktivedanta Swami Prabhupada

(B) Chaitanya Mahaprabhu
(D) Vallabhacharya

The unique museum of various medicinal plants for naturopathy is located at .

(A) Waghai Botonical Garden, Dang

(C) Junagadh

(B) Sardar Sarovar Museum
(D) Ahwa
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007. Which of the following actors, famous for enacting female characters, has written an autobiography
named ‘Abhinaypanthe’?

(A) Amrut Jani (B) Amrut Keshav Nayak
(C) Prabhashankar ‘Ramani’ (D) Jayshankar ‘Sundri’

008. Which of the following statements are correct?
I. Kalakacharya was the monk popular in the 14t century for Jain miniature painting.
Il1. Thanjavur is famous for monolithic ‘vimana’ and ‘ratha’ architecture.
I11. Bhimbetka is well known for its rock painting.
(A) L, 1Tand 1 (B) I'and 11 only
(C) Iand 111 only (D) Il and 111 only

009. Which of the following is described as ‘the pride of Bikaner’ by Aldous Huxley?

(A) Kothari Haveli (B) Rampuria Haveli
(C) Dhadha Haveli (D) Sopani Haveli
010. Which of the following is/are seen as seated yogi on the Harrapan seal?
I. Buddha 1. Pashupati I11. Varuna IV. Indra
(A)Only I (B) Only 111 and IV
(C) Only 1 (D) Only I and 11

011. Which of the following are the architectural splendours built by the Pallavas?
I. Kailasanathar Temple, Kanchipuram
Il. Kotikal Mandapam, Mahabalipuram
I11. Airavateswara Temple, Darasuram

(A) Only I and I (B) Only Il and 111
(C) Only I and 111 (D) I, Il and 111
012. Who among the following issued different ‘rashi’ coins of 12 Sun ‘rashis’ in the mint of Gujarat?
(A) Siddaraj (B) Mulraj
(C) Jahangir (D) Vanraj

013. Match the Column:

Pen name Author

I. Mumukshu a. Ramanbhai Mahipatram Nilkhant
Il. Vanmali b. Zaverchand Meghani

I11. Sukani c. Keshavlal Dhruv

IV. Makrand d. Anandshankar Dhruv

A l-all-b,Il-c IV-d @) 1-d, Il-c, Il-b,IV-a
©Cl-all-clHll-b/IV-d DO)l-d,11-b,1-c IV-a
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yausia- 2uleal2ani A 44 59 vid yeald walda o ?

(NEGE (G ECEIR R
(C) ugL a2l (D) A1
A5 AL
I. v Mld a. susdl 29w gl - srwala Brsimen
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(C)l-c, -d 1l-alV-b (D)1-d, 1-c Il-bIV-a
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014. Which of the following is the song of the play, ‘Nindhyasrungarnishedhak’, authored by
Ranchodbhai Udayram?

(A) shani dikri padhaar tu sashare, siddh kar subha kaam

(B) na paake vichaare kare kaam jyaare na saara parinaam ni aash
(C) ahithi lidhu, tahithi lidhu, lidhu jahithi ladhayu

(D) gharda var ne jawaan vahu ne javaan ne vahu ghardi

015. Which of the following Gujarati Bhakti poets belong/s to the 15t century?
I. Premanand Bhatt I1. Narsinh Mehta I11. Dalpatram

(A) I'and Il only (B) 11 only -
(C) L and 111 only (D) I only

016. By whom was the Raniparaj Conference, which could be properly called the first congress of
tribals, organised at Khata?

(A) Raisinghbhai Chaudhari (B) Kotla Mehta
(C) Govinbhai Desai (D) Amarsinh Gamit

017. Music maestro, Tansen, was an expert player of which musical instrument?
(A) Sitar (B) Mrudang
(C) Santoor (D) Rawab

018. Match the Column:

I. Kakhasharo Kabaraji a. Mumbai Gujarati Natak Mandali
I1. Vaghibhai Aasharam Oza b. Shree Desi Natak Samaj
I11. Dahayabhai Dholashaaji c. Victoria Natak Mandali
IV. Jayshankar ‘Sundari’ d. Morbi Arya Subodh Natak Mandali
A)l-a,ll-c,l11-d,IV-b B)l-c, Il-b,1l-aIV-d
©)l-c,l1-d, Ill-b,IV-a DO)l-all-c Hl-b1V-d

019. Which of the following is the popular farming method of tribals of Panchmahals?
(A) Kumari (B) Zoom and Daajna
(C) Pan Pavarata (D) Raab

020. Match the Column.
I. Akho Bhagat a. hayhasti rath pala dise, baktariya bihamana
1. Premanand b. gebi nipaj thai pind tani, tyare tu tya nohto dhani
I11. Pritam c. Tire ubha juve tamasho te, kodi nav pame jone

IV. Narsinh Mehta d. Karachata garath bhandhar khute tuo, khutjyo re,
sonu pihirita kaan tute tuo, trutjyo re

(A)I-a,1l-b, Hl-c IV-d (B)1-b,11-a,Ill-¢ IV-d
(C©)1-c 11-d, 1l-aIV-b (O)I-d,1-c 1l-bIV-a
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Who is known as ‘taaj vagar na raja’ in tribal songs?

(A) Gandhiji (B) Sardar Patel

(C) Vinoba Bhave (D) Jawaharlal Nehru
Which of the following Gujarati poets wrote ‘Chittvichaarsamvaad’?
(A) Narsinh Mehta (B) Akho

(C) Premanand (D) Dayaram

Which of the following statements are correct?

I.  From ancient times learned brahmins personally imparted education in stereotyped system
and ran their own schools at the famous study centre of Varanasi.

I1. At that time there were no public educational institutes at Varanasi.
I11. Education pertaining to theology only was imparted here.

(A) I, 1Tand 1 (B) Iand 111 only

(C) I and 11 only (D) Il and 111 only

Match the Column:

Play Playwright

I. Hu j Ceaser ane hu j Brutus a. Madhu Rye

I1. Akhu aikhu farithi b. Chinu Modi

I11. Kumar ni agashi ¢. Hasmukh Baradi

IV. Raja Midas d. Lavkumar Desai
A)l-a,1l-b,Il-c IV-d B)lI-a,ll-b 1l-d IV-c
O 1-d-clll-a1V-b MD)I-d,l-c, IHl-b,IV-a

Which of the following actors enacted the character of Raja Barathari in the traditional Gujarati
plays wearing golden chain on legs?

(A) Natwar Mastaan (B) Mohan Lalaji
(C) Pranjivan Joshi (D) Mulji Aasharam Oza

Which of the following statements are correct?

I. Kanada, Kedar and Sarang are included in the ragas which are specifically sung in Krishna
devotion.

1. Kedar raga was dear to Krishna. Narsinh Mehta sang this raga to please Krishna.
I11. Sarang is popularly sung in Vraj. Marriage songs, season songs and hori songs are only sung

in Sarang.
(A) I, Il and 111 (B) I only
(C) Il only (D) I and 11 only

Which of the following statements are correct?

I.  All the four types of musical instruments known today have its mention in Rigveda.

1. String instrument, membranophone, wind instruments, etc. were popular in Vedic times.
I11. The discussion about Indian music is found in the most ancient book, ‘Dholsagar’.

(A) I, Il and 11 (B) I and Il only (©) Il and Il only (D) I and 111 only

[CSP-1] rro. KA
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032.

033.

034.

035.
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TRCENICEEIR)
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(A)1-all-b,1l-c IV-d
(C)l-d, 1l-c,Il-b,IV-a
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(A) AMaysl
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(B) A
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a. us1eilayy

b. deag

c.sw)

d. 3guadt

B)I-b,1-c 1l-d,IV-a
(D)1-b,1-a Hl-d,IV-c

18 6L W 8 ?

(B) 82412 2s1ell
(D) $RUAEIA YN

(B) ¥+ ws
()EIERITE

a. Udld Yl gHIR usA-L
b. (R 18y vun
c. 8199 [Aenud s1eflmi

d. A3 gA
(B)I-a,1l-b,1l-d,IV-c
()I-d,1l-c 1l-aIV-b

vd 2uadl 9.

(B) dvuen
(D) AH $3iReli

AL WS S 2A2A% AVHRA AR L [BLAloy HOUL 241 A2l HHELAE AS2 21RU[d o1 S ?

(A) EAUARAH
(C) maeus Nass

(B) M sl
(D) 4. §. 81512
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028. Which of the following Gujarati films have been nominated for Oscar Awards in the category of
Best Foreign Language Film?

l. Reva I1. Veer Hamirji I11. The Good Road IV. Hellaro
(A) 11 only (B) Il and 111
(C) Hl only (D) I, land 11
029. The Zari gold industry of Surat dates to which of the following periods?
(A) Maurya (B) Gupta
(C) Mughal (D) Sultanate
030. Match the Column:
I. Brihadeshwara Temple a. Mahabalipuram
I1. Shore Temple b. Thanjavur
I11. Tunganath c. Hampi
V. Virupaksha d. Rudraprayaag

(A)I-a,11-b, 1l-c, IV-d
(B)1-b,Il-c, I11-d,1V-a
©1-c 1-d, 1l-aIV-b
O)I-b, 11-a l-d,IV-c

031. Who among the following donated the first girls’ school in Ahmedabad?

(A) Mahipatram Nilkanth (B) Harkor Sethani
(C) Vidhyagori Nilkanth (D) Karshandas Mulji
032. What is “Prajnaparamita”?
(A) Hindu text (B) Jain text
(C) Islamic text (D) Buddhist text
033. Match the Column:
I. Azarara Gharana a. Pandit Sudhirkumar Saxena
I1. Lucknow Gharana b. Miya Bakshu Khan
I11. Farukha Gharana c. Haji Vilayat Alikhan
IV. Punjab Gharana d. Zakir Hussain
A)l-a ll-bI-c IV-d B)l-a,ll-b,I-d IV-c
S 1-d -clll-b,IV-a DO)I-d,-c, Il-a1V-b
034. The caves with ‘Abhal Mandap’ and ‘Chatyagruh’ are located at
(A) Abhalpuri (B) Talaja
(C) Upleta (D) Jam Kandorana

035. Who among the following got the title of ‘Sir’ from English government and also became the
mayor of Ahmedabad city?

(A) Dalpatram (B) Ramanbhai Joshi
(C) Ramanbhai Nilkanth (D) B. K. Thakor

[CSP-1] rero. K



sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


036. dasl-l s-oldzii-i dist weldlHidai sa 3ud yz o ?
(A) G gadl (B) uisiz edl
(C) apuelau (D) USiRMLdL

037. A3l A3l

. ARl a. ugell el

1. 88 b. 525) bilell

TR c. ydl oiiell

IV. 2u4g d. 2RAddl el
(A)1-a,1l-b, Hl-c IV-d (B)1-d,Il-b,1l-c IV-a
(C)1-c, 1l-d, 1l-a,1V-b (D)1-d,1l-c, 11-b,IV-a

038. ‘sls3Licd’ gl UL Sl HIS AU 69,
(A) 98&iea (B) vilhnega
(C) tead (D) el

039. gl HAeu glRL Wil Toey[RiA s1ou ouetd A1 W sui [Qeunl i 6 ?
I dwdl SoeyBui vai=llndiqu agel GHal.
1. dHel suesiHl oNa-wolld- ay w2,
1. uuRa -uesini 2usdl eu gui-l nan g2 30 25 o A2 U A MRl Asndyds A ddl

Al $3.
(A) $5d 1 241 11 (B) $5c | 2 111
(C) s5a 11 244 111 (D) 1, 11244 111

040. i Ada-u eu DR weni ouni welll doll-l dsdlsi £ sa1 e g Ania sami 2uey ?
(A) 23149+l g (B) AsadlaL avua
(C) @viizL dvua (D) ll-l cua

041. A3l A3l

1. 2ulurdl S29a aoyeald a. AL318l
1. 3i20l 2ul2anl qeu b. swiluan
1. 2ulRa agadi-l 2ulds-mas caaza C. vits
IV. aia-l sy d12 d. sua
(A)1-d,1l-c, Ill-b,IV-a (B)1-d,Il-c Ill-aIV-b
(C)l-a,1l-b, 1l-¢c IV-d (D)1-a,Il-b,11-d, IV-c
042. 91 Nl H2 “489 €l dl 9nA AoAd H 24 “vy90d djord 517 2lRnand 2udvid 519 54 ?
(A) naid Bk (B) Hal S1RY5AA
(C) MM 612 (D) dlym uid
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036.

037.

038.

0309.

040.

041.

042.

Which form of Goddess Parvati is worshipped by the tribes of Gujarat?

(A) Uma Devadi (B) Pandor Devi

(C) Bhumalima (D) Nohor Mata

Match the Column:

I. Bhako a. Pattani dialect

Il. Ghadu b. Kutchi dialect

I11. Haiya Haiya c. Surati dialect

V. Aalvu d. Charotari dialect
A)l-all-b,Hl-cIV-d B)1-d,11-b,Il-c IV-a
©)l-c,-d lll-a1V-b DO)I-d, 1l-c, l-b,IV-a
‘Kakada Dance’ is being performed to please .

(A) Vrukhshadev (B) Baliyadev

(C) Nagdevta (D) Jaldevta

Which of the following statements are correct regarding the contribution by Adi Marzban to Parsi
theatre?

I.  He added the features of modernism to theatre.
I1. He gave more prominence to songs and music in the plays.

I11. He removed the system of eight to ten scenes in the traditional plays and did planning to
successfully enact the play on just one set.

(A) land Il only (B) Iand Il only
(C) Il and 111 only (D) I, land 11

What was constructed in memory of Rana Veer Singh of Vaghela dynasty to address the water
shortage problems in the state?

(A) Adalaj Stepwell (B) Shahastraling lake
(C) Lakhota lake (D) Rani ni Vav

Match the Column:
I. Tribal marriage system for desired groom a. roabdati

Il. Dangi tribal dance b. haalipratha

I11. Economic-social system of tribal elite class c¢. Khandhad

IV. Arrow with bamboo knot d. Bhaaya

(A)1-d, Il-c, Ill-b,IV-a (B)I-d,1l-clll-alV-b
©)l1-a,ll-b,Il-cIV-d D)I-all-b,1H-d IV-c

Who designed ‘Kuchh Din to Guzariye Gujarat Main’ and ‘Khusbhu Gujarat Ki’ campaigns for
Gujarat Tourism?

(A) Prashant Kishore (B) Mudra Communications
(C) Amitabh Bachchan (D) Piyush Pandey
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043.

044.

045.

046.
047.
048.

049.

050.

A2 A s 2221 6 v 69 ?
(A) aavi ¥g (B) lu Hl2=
(C) »it1r-ua (g2 (D) 96 g8l #il2R

DA 44 5§ Siarl o dl sioffA gl sauni 2udl 4 sl ?

. S+flun S[Rezye wis Adyu-2, »UsLUE

11. et oA A00AA, AHELUE

11, Suasas YA, asiel

IV. 202512 $v% RY[BUH, AHELUE

(A) $5d 1 241 11 (B) $5d 11 241 111
(C) $5d 1 21 111 (D) $5d 11 24 IV

Azl anugl Aisel [Rsi we Al 4 su sasi onsllai ¢ ?

I. delaq Alddl 1. vidlerd uRHR
I11. HASR HsURU IV, 24901 Qo
(A) $5d 1 241 11 (B) s 1, 11 241 111
(C) 85 11, T A4 1V (D)1, 1, 1124 1V

yrllard cuar - A4 sun unel Qo el gai ?

(A) A A HSIRY (B) FARIH UL

(C) uosu Hi2l (D) HsAas

A2 WA 519 alsBia nfs “ogseu” a3 3 ed ?

(A) ¢lg 2visidie (B) HiW by,

(C) 2l ulRagi-e (D) Y[Rd H8R1s

“l vl 245180, Rt sl il ol D WA 56 darRudl slend e ?
(A) glagidl (B) sllein xRl

(C) Buadid (D) el [donsie

A U4 56 ulSail sofla-) =) ?

(A) s 51211, S0 HASR-GAUR [REU AMA WL
(B) d, 584 51015l Avl, W 58l 2Ai[Ba4) 2ol
(C) 4 ™, SMHH o7& 8, ot ld wil.

(D) s™U-5314, AH-[32 A7, 61 Q2L s YN

w2t A ALEL dvua-il HELtdL sig HER e ?
(A) [zl edl (B) MEHLAL
(C) brgryRuu edl (D) s edl
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043. Which of the following temples has two courtyards?
(A) Navlakha temple (B) Gop temple
(C) Ambarnath temple (D) Hathi Singh temple

044. Which of the buildings were not designed by Le Corbusier?
. Indian Institute of Management, Ahmedabad
I1. Mill Owners' Association, Ahmedabad

I11. Gaikwad Palace, Vadodara

IV. Sanskar Kendra Museum, Ahmedabad -
(A) Iand Il only (B) 11 and 111 only

(C) Iand 111 only (D) lland 1V only

045. Which of the following artists are known for paintings of local folklore of Saurashtra?

I. Vrundavan Solanki Il. Khodidas Parmar  Ill. Manhar Makwana  1V. Devjibhai Vaja
(A) I and 11 only (B) I, Il and 111 only
(C) 1, 11 and 1V only D) I, 1, 1 and IV

046. By which of the following names is Chunilal Bhavsar specifically known?
(A) Rang Avadhoot Maharaj (B) Jalaram Bapa
(C) Pujya Mota (D) Muksevak

047. Who among the following started the popular magazine, ‘Jankalyan’?
(A) Bhikshu Akhandanand (B) Morari Bapu
(C) Swami Sachidanand (D) Punit Maharaj

048. The famous song, ‘tari aankh no afini, tara bol no bhandani’, is from which of the following films?
(A) Divadandi (B) Jogidas Khuman
(C) Jesal Toral (D) Sheni Vijanand

049. Which of the following are not the lines of Kabir?
(A) Kya Kashi, kya maghar-usar hirday Ram jo pyara
(B) Tu kaheta kagadki lekhi, mei kaheta aankhanki dekhi
(C) Jal me kumbh, kumbh me jal hei, bahar bhitar pani

(D) Krushna-karim, Ram-hir Raghav, jab lag ek na pesha

050. Whose temple was there at the middle portion of Shahastralinga lake of Patan?
(A) Vindhayavashini Devi (B) Harshad Mata
(C) Bahusmarana Devi (D) Ranak Devi
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051.

052.

053.

054.

055.

056.

057.

sudloiou Ael-l Yl d2 BUR 2udy 8.

(A) adl (B) tER (C) nHel (D) R-ust
AR G2 i, cusel, Al =14 dau, sealldl gl

(A) g (B) %=1 (C) Burun (D) AMUAE
A2 WS s A3 514 Qi Ld AsEl 69 ?

I. [PiguR — uianae
[, AYSIAA — YASHS
1. §HR9pd — Hdslee
IV. 2889 — suiley

CNINIRITEERNLY, (B) $5d 1 244 111
(C) $5d 11, 111 24 IV (D) $5d 1, 112 IV
9oL 510 €3I 2 A5 2 HlsL BuR pusH S,
(A) ylzaus s (B) AdsA1-3R

(C) w21 Al g1 (D) [MA=s:

A2 WA sul [ s 2R 52 [ vilEs20 Gedm WA WRAAHL Al Hadl ?
I AHLISAL

1. al~8ad

1. §HIRHIL

IV. vidud

(A) $5d 1 211 111 (B) $5d | 24 IV
(C)$5d 11 (D) 85 111

A2 W 56 s/ ae-iil g Apdl shns-1 08 usnad © ?
I. g34art [Agi2 vid kel sl AR 2uai

1. olies, [Ralzi Sl 2 Adln Hisaal.

[ Y430y Uil w2l si-iadl.

(A) $5d 1 (B) $5d 11

(C) $5d 1 241 11 (D) $5d 1 241 111

A0 U 5y / sui Qe / (sl 2 / i ¢ ?

I. U 156541 asilell 28uS-cadl-u Y [Qoru-oi mpd-ll AS Sid sueul.

11, wigallos a-ladl iRl U i sneti [Qosusoi-dl yeusid @l edl.
1, $3A2AA AHAL 5L 24 AU 2081 18 “is ¢y als oelldl sa.
(A) §5d | (B) 85 11

(C) $5d 1 241 11 (D) $5a 11 24 111

[CSP-1]

[Contd.


GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight


051. Kalibangan was situated on the dried bank of the river
(A) Tapi
(B) Ghaggar
(C) Narmada
(D) Chenab

052. The upper three varnas, Brahman, Kshatriya and Vaishya were called
(A) Dwija
(B) Rajanya
(C) Upanayan
(D) Sabhasad

053. Which of the following pairs are correctly matched?
I. Bindusar — Amitraghata
Il. Samudragupta — Parakramank
I11. Kumargupta — Mahendraditya
IV. Skandgupta — Kramaditya

(A) L 1L 1 and IV (B) Iand 111 only
(C) 1, 1T and 1V only (D) I, 11 and IV only
054. invaded Saketa and Madhyamika during the Sunga period.
(A) Eucratides (B) Alexander
(C) Antialcidas (D) Menander
055. Which of the following officials does/do not find mention in the Mauryan Administration?
I. Samaharta  Il. Sannidhata 1. Kumaramatya IV. Antapala
(A) Iand 111 only (B) I and IV only
(C) ll only (D) 111 only

056. Which of following events is/are associated with the Kushana ruler Kanishka 1?
I.  Organization of the fourth Buddhist Council at Kundalavana Vihara.
I1. Sending Buddhist Missionaries to Egypt and Greece.
I11. Making Purushapura as his capital.
(A) lonly (B) 11 only
(C©) land Il (D) I'and 111

057. Which of the following statements is/are correct?
I. The battle of Rakshasi-Tangadi fought in 1565 CE brought an abrupt end to the Vijayanagar
Empire.
I1. Domingo Paes and Barbosa visited Vijayanagar.
I11. Due to his patronage of art and letters king Krishnadevaraya was known as ‘Andhra Bhoja’.
(A) lonly (B) 111 only
(C) Iand 11 only (D) Il and 111 only

[CSP-1] [PT.0.
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058.

059.

060.

061.

062.

suadd A Adldl A fu ugnpiay] ed. 2 el A W sy / sui Qa7 Q- 1
1AL ?

I. MiEaHl A%, sadd syad-q xAE1ue s,

[1. S1M3unil A, GusaHA srat 1d Rotal 260 9.

[11. gNad- 3L A A5 UALHA sl dl.

(A) $5d 11 (B) 5 111

(C) $5d 1 241 111 (D) $5a 11 244 111

A0 U 5y / sui Qe / (sl 2 / i ¢ ?

I. 2219 A nad @Hl adaa 214 2usRel-u g sedl az2ud s3.

1. 301 H1z4R AAaq A% Ad au- ausidl edi

[ s wan- Al s Yo aom(Eier- seat d- - s salgol gt sami 2udl ¢dl.
(A) $5d 1 241 11 (B) $5c | 2 111

(C) $5a 11 24 111 (D) 854 |

A0 U 5y / sui Qe / (sl 2 / i ¢ ?

I, g5 A HH UAH HSHE A3l U 1025 Hi ulFd sul.

I, HNRA% NAH HRASAUI A G 5U A< 2AUUS Sl

[, H3A% A1G A2 Uil A% URHIR [RIYRA% L 20512 AH 01219 Sl
(A) 85 | (B) $5cL 11

(C) $5d 1 241 11 (D) $5a 11 24 111

A0 U 5y / sui Qe / (sl 2 / i ¢ ?

I acaedl-i Hots Apdanl U8, Mu2LsH A AP G121 AerAdH] 1AWl a5 [Rysd s
Ul .

1. 1R ueaR Ml [l il 21 Hatsl a2l Uvdld Y-l Gedw 53 8.
1. acaell Ayl gadq oflo oyaopanil ansidl- sdl.

(A) s5d | (B) s5 111

(C) $5d 1 A 11 (D) $5d 1 241 111

A1 UL s Qe i e ?

. Herue Bl 850171 g5l glRL YA%-6lloa SAAUHE UL el

[, Tl v, sul udal dugdl AR AsL AGSAL S50 AL WAL 8.
11, osulis RisaioHl aig sy o [AsHilze e dad 2ul gdl.

(A) $5a 11 244 111 (B) 85 1 ¢4 11

(C) $5d 1 241 111 (D) 854 11
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058.

059.

060.

061.

062.

The reign of Harshavardhana was marked by vigorous political activity. Which of the following
statements is/are correct in this reference?

I. Devagupta, the king of Malava, accepted the suzerainty of Harshavardhana.

Il. Bhaskaravarman, the king of Kamarupa, entered into a treaty of friendship with
Harshavardhana.

I11. Harshavardhana defeated Sasanka, the king of Gauda.
(A) 11 only (B) 111 only
(C) I'and 111 only (D) Il and 111 only

Which of the following statements is/are correct?

I. Rajaraja Chola I initiated the project of land survey and assessment.

Il1. Bhaskara Ravivarman of Kerala was a contemporary of Rajaraja Chola I.

I11. Rajadhiraja, the eldest son of Rajendra I, was murdered by his younger brother Kulottunga.
(A) Iand Il only (B) Iand 111 only

(C) L and 111 only (D) I only

Which of the following statements is/are correct?
I.  Bhima I of the Chalukya dynasty defeated Mahmud Ghazni in 1025 CE.
I1. Mularaja I was the founder of the Chalukya dynasty of Anahilavada.

I1l. Chamundaraja Chalukya defended his kingdom against the incursion of the Paramara
Sindhuraja.

(A) lonly (B) 11 only
(C) land Il only (D) Il and 111 only

Which of the following statements is/are correct?

I. Bhatarka, the founder of the Maitraka dynasty of Vallabhi was appointed as
commander-in-chief in Gujarat by the imperial Guptas.

Il. The Eran stone pillar inscription mentions ‘famous battle’ between the Guptas and the
Maitrakas.

I11. The Vallabhi ruler Dhruvasena Il was a contemporary of Budhagupta.
(A) 1 only (B) 111 only
(C) I and 11 only (D) I'and 111 only

Which of the following statements is/are correct?

I.  Mularaja Il was defeated by the Turks under Muhammad Ghori.

1. Vaghelas before their rise to power served under the Chalukyas of Anahilavada.

II1. Jayasimha Sidharaja came into conflict with the Chalukya king Vikramaditya VI of Kalyana.
(A) I1and 111 only (B) I and Il only

(C) I'and 111 only (D) 11 only

[CSP-1] rro. KX



sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


063.

064.

065.

066.

067.

D2 WA 53 / sui (e / Qa2 / i 9 ?

. WogR disR, W 1800 Hi ti2isL vid Wieldlsa 01372 a5 [Aysd aun .

1. Qeal bua-11 §22 S8l susll 8 Agtasidl Alo-uni Al sl

1, 2uasnsial asdlsl ugiansd, 2uet Higdl 601 2R 2sie Ad giL (AR 1801 i wAl¥d 2y,
(A) $5d | (B) $5d 11

(C) $5d 1 1 11 (D) $5d 1 241 111

D2l WA 53 / sul (At / Qe 02 /i 9 ?

I. ga-ie AL o1 9 ARAAHL ESIRL viLd, 1824 Hi AUl 8dl.

1. 2UAAHIHL HI2L HLAL YOS vild 1887 Hi Uil

[11. gagitat 20002 glRL a8l el 2eu-i sami 2ud) sdl.
(A) 85d | (B) S5 | 2 11
(C) s5a 1 (D) $5c 11 244 111

A0 U 5y / sui Qe / [Qandl 2 / i 6 ?

I. GUAARIRAL HSIRUN Al Giadnv1R-aeadl 3¢d Al [3A12 1880 Hi HogEl 2uMl.
1. vi31a duasaud 1908 Hi 6is 2iis 6113t 22iu-u 53,

1. A2 HAlon duasais w222 3¢d 1862 i A3 $3\.

(A) $5d | (B) $5d 11

(C) $5d 1 21 11 (D) $5d 11 24 111

AER ANAN ouotd, DAL U sui [Qsnl 0l o ?

I, s GaRladl 2A cuRdHidl 2ide A% Guadl sar Wi A s [Q2all yaslaii-u assivn
a3 3asiRami ae: anan a3 as.

1. dd 2nalo 2 g Adl Audia 24 [Bdl-ds wa gy ay sd.
1. uBistzl wanad due tuRdul st 112 $[RAUIR1 21 A5l waL Hisaard nale- 2. sd.

IV. %3, 1920 il £la51 341, AER WSl Yri:otem 2y 24 d GuRaxl 2uostgl- an Yl uonoll 2i7 sl
2L 561 als g L

(A) s5d 1, 1124 111 (B) $5d 1, 11 1 IV
(C)s5a I, 111 A IV (D) 1, 11, 1 244 1V

HBLLY U ANAn tietd 1A WAL sui (Al i 8 ?

I. iueicieni 84l 2ore, 1957 - A% 2R Seans sida-t [Qensflil wal srn R igian [us oy,
1. 5. W Y2l 1937 Hi He1-9R1d 26t s10MT 2w,

1. Sgaie s He1-2R1d %-tdl wlRue-l 22 530,

(A) 5 111 (B) $5a 11 21 111

(C) 85d 1 (D) $5d 1 241 11
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063.

064.

065.

066.

067.

Which of the following statements is/are correct?
I.  Major Walker was appointed as Political Resident in Baroda in May 1800.
Il. Peshwa Baji Rao Il entered subsidiary alliance with the East India Company in 1802.

III. The Arab mercenary force that troubled the Gaikwads was finally defeated by Anand Rao in
December 1801.

(A) lonly (B) 11 only
(C) Iand Il only (D) I and 111 only

Which of the following statements is/are correct?

I. Dayananda Sarasvati was born at Tankara in Gujarat in 1824.
I1. Arya Samaj had a great split in Mumbai in 1887.

I11. Tattvabodhini Sabha was founded by Devendranath Tagore.
(A) 1 only (B) I and 111 only
(C) 1l only (D) Il and 111 only

Which of the following statements is/are correct?

I.  Maharaja Takhtasinhji of Bhavnagar accorded sanction to Bhavnagar-Wadhwan Railway
line in December 1880.

Il. Khande Rao Gaekwad established Bank of Baroda in 1908.
I11. Sayaji Rao Il started Gaekwad Baroda State Railway in 1862.
(A) 1 only (B) Il only

(C) Iand Il only (D) Il and 111 only

Which of the following statements about Ghadar Movement are correct?

I.  The Ghadar Movement began, in California, as a coalition of expatriate Punjabis dedicated
to raising money and support to overthrow British rule from India.

I1. It was organised and headed by Lala Lajpat Rai and Bipin Chandra Pal.

I11. It was organised to print pamphlets and even to send arms and volunteers for a revolution in
India.

IV. In the 1920s, however, the Ghadar party was reorganised and it continued as a focal point for
Punjabi and Sikh identity until the time of Indian independence.

(A) I, Il'and 111 only (B) I, Iland IV only
(©) I, Il and 1V only O) 1, 1, 1 and IV

Which of the following statements is/are correct with reference to Mahagujarat Movement?

I. The agitation became violent when some college students were killed on 8t August 1957 in
Ahmedabad.

I1. K.M. Munshi coined the term Mahagujarat at Karachi in 1937.
I11. Indulal Yagnik founded Mahagujarat Janata Parishad.

(A) 1 only (B) 11 and 111 only
(C) I only (D) I and 11 only
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068.

069.

070.

071.

072.

073.

074.

075.

076.

077.

078.

079.

Hig-o-321 Higll wofl 2udai eidlawn ygu-dl 244-uldw A oridl 8.

(A) usadl Hél (2sial) (B) 1l ueaR (Ar322in)

(C) ¥laise (D) 33 22

(Rig el 2uwd [Qar ABaa’ 58 8 3 x1Y 8.

(A) Sl el (B) 2atAi-l erofll

(C) Rual ol (D) Y-l 1ol

214 430l “[Ban-6a-[€e” i dupadl 6.

(A) [&+€) (B) 1206l (C) 4l (D) ulhun
sl [Ritaia 5 % GulRnging Ayel dd [AsRid 2ul d-l vad Gedw Hi YUl Sdl.
(A) Hdy GUsIRL (B) QU L&

(C) sildl3 cusmat (D) 2 sl

1A Hi onusl Ha DA U 5 el uulla scuHi 2ucdl © ?

(A) asil (B) ula-fl (C) x1[m (D) u3la
At Hir M1l il yn dd s8aldl.

(A) Raly (B) Y3 (C) »ulz2ia (D) w8124y
MU A1 AUIR s A2 22L5 Sull AL AR A3 $-UR Sl

(A) wigll (B) 3 (C) 3 (D) 3l

vitd-L [Rlendavil g1 Ald 8sun-t i AR @dtdl aell [Qaidl 1ufl 2udl 6.
(A) dagr (B) Gy (C) silyy (D) BlarH32

2oflaur Henaww il saladl ueaui si-uddl olied 951 sui 2uddl 6 ?
(A) A%l (B) el (C) 5180 (D) s1d

([Rey 2l 0l a3 ui2s A-s2i’ 589 scnuou Gualai Adl edl ?
(A) 2141adl (B) Ut (C) HYRL (D) AR+

Al BV GIRL FAUR AAA BUR BUSHEL SRAUNT U] AUR d-ll Ayl s18L el ?
(A) Ndlu3sged dAH (B) ulH3sed

(C) alsagzsea (D) He13584

D2l W) sul (Aol A%l UAYSAHEUED L $dl 8l ?

(A) t4551-| (B) eys51-11

(C) s™aAgaRx (D) elRe2
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068.

069.

070.

071.

072.

073.

074.

075.

076.

077.

078.

079.

The bust of bearded man which was found in Mohenjo-Daro is made of

(A) Terracotta (B) Sandstone

(C) Steatite (D) Redstone

The surrounding region of Indus river is called “Nakhilistan” which means

(A) Garden of Eden (B) Garden of Dreams

(C) Garden of Sind (D) Garden of Dead

Al-Biruni’s ‘Kitab-ul-Hind’ was written in language.

(A) Hindi (B) Arabic (C) Turki (D) Persian
The doctrine of Karma, which is fully developed in Upanishads was first mentioned in
(A) Athreya Brahmana (B) Shatapatha Brahmana

(C) Kaushitaki Brahmana (D) Arseya Brahmana

The Gayatri Mantra in Rigveda is dedicated to which of the following deities?

(A) Lakshmi (B) Savitri

(C) Agni (D) Maruti

The followers of Vardhamana Mahavira originally were called

(A) Nirgranthas (B) Surgranthas

(C) Adigranthas (D) Mahagranthas

The first to start a joint stock company to trade with India were the

(A) Portuguese (B) Dutch

(C) French (D) Danish

Alot of details regarding the village administration under the Cholas is provided by the inscriptions
at

(A) Thanjavur (B) Uraiyur

(C) Kanchipuram (D) Uttaramerur

Where is the Buddhist rock-cut cave which depicts eleven-headed Bodhisattva image?
(A) Ajanta (B) Ellora

(C) Kanheri (D) Karle

Which school of art used spotted sandstone as material for sculptures?

(A) Amaravati (B) Gandhara

(C) Mathura (D) Sarnath

Who was the ruler of Warangal when it was invaded by Sultanate forces?

(A) Pratap Rudra Deva | (B) Soma Rudra Deva

(C) Shakti Rudra Deva (D) Maharudradeva

Which one of the following Vijayanagar rulers was the author of ‘Amuktamalyada’?
(A) Bukka | (B) Bukka Il

(C) Krishnadevaraya (D) Harihara
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080.

081.

082.

083.

084.

suaed AU gL DA USL s (e itnaani 2ucal di ?

I. [QzaaHl +leR

1. gL AHRaAR |22

TR ENETP RN FE

IV. 3eiu-ug g2

(A) 854 | (B) 85 1 24 1
(C) $5a 11 24 111 (D)1, 1, 1124 1V

A2l WA 5y / sui (a7 [l 02 /i 6 ?

I. 262dglu el Youed ugumad GuR 2uaidld 8.

11, 289A814 wigdl vidlsiui suril Gualol s2di g

111, 38od gl dlst ulEm 21 12 1R dUIR Asitl 41adi .

(A) $5d 1 211 111 (B) $5d 11 241 111
(C) $5d 1 A 11 OIRIERRI

DA W4 3 / sui Qe / Qe il curd Gur ulEud 21243+ 2eel & ?
I. cusll (M- agxud

1. Agdpa Al awn il (Al

1. 2205 2™l GuR [RsHl ulasld

(A) $5d 1 211 11 (B) $5d 11 241 111

(C) 5 1 241 11 (D) 85 I

et s1n-lL WvAld 5(A cuadl DA U4 56 gld / gl el ?

I A13¢T 1. suaRa 1. ARy

(A) $5d 1 241 11 (B) $5d 11 241 111

(C) g5 1l (D) $5d 111

UMl Al aoll g)-2Ar-ciol g “uin Sl wilds” sell © FHi Al A A B,
1. siduu

I, 1y

TRET]

V. sifgn:

(A) $5d 1 241 11 (B) $5d 11 241 111

(C) 5 111 241 IV (D)1, 1, 1124 1V
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080.

081.

082.

083.

084.

Which of the following temples were built by Krishnadevaraya?

. Vithalaswami temple

Il. Hazara Ramaswami temple

I11. Ranganatha temple

IV. Kailasnath temple

(A) lonly (B) I'and 11 only
(©) Iland Il only O) L, 1, 1 and IV

Which of the following statements is/are correct?

I.  The Rig Vedic economy was predominantly based on pastoralism.
I1. The Rig Vedic farmers used ploughs in cultivation.

I11. The Rig Vedic people had good trade relations with West Asia.
(A) Iand 111 only (B) 11 and 111 only
(C) I'and 11 only (D) I, Iland 111

Which among the following statement/s refer/s to the Persian influence on ancient India?
. Introduction of Brahmi script

I1. Hair washing ceremony of Chandragupta Maurya.

I11. Introduction of lion replica on Ashoka pillars

(A) Iand Il only (B) 11 and 111 only

(C) Iand 111 only (D) 111 only

Which among the following is/are not the works of Bhasa, the famous poet of the Gupta period?

|. Charudatta I1. Balacharita I11. Ravanavadha
(A) I 'and 11 only (B) Il and 111 only
(C) ll only (D) 111 only

Hieun Tsang the Chinese traveller in India called Harsha as the “Master of the Five Indies”, which

includes

I. Bengal Il. Magadha I11. Sindh IV. Kashmir
(A) I 'and 11 only (B) Il and 111 only
(©) Hl and IV only D) I, 1, 1 and IV
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085.

086.

087.

088.

089.

D2 WA 53 / sui (e / Qa2 / i 9 ?

I |yl AHAOL R0, AUoRd HASSL AHgY L 2 S-sif vid [Asiaqu Yo oig: ddls
G2 2y 8.

1. eRudell wassidl you [sia doar sdl.

1. Sal@uq a=dl, aelay Bedw 53 9 3 €31 1000 Sl AU ASIRIL AL AA2L il vicdd-l
6ig3 NAL Sl Sl

(A) $5d 1 24 11 (B) $5a 11 A 111

(C) $5d 1 A7 111 (D) 85 111

auerat ouotd {1 Ul 5y / sai [Qad / [Qa-l g /i o ?

-

I, A2l 24 9ol Avis gell 3 FHA oA “SlE34L’ FUNEdR Y.
1. a2l Hleeus 1 ausidl gdi.

1. dxtiA 2igd Baysld ulawlzq <.

(A) $5d 1 241 11 (B) $5d 11 241 111

(C) &5 1 (D) 54 11

D2 WA 5y / sul (At / Qe 02 /i 8 ?

. 25 [l yeyd dd aslzuq qddl ©.

1. o Al wn-usl 2emd Awndl 3u asell vid naaRd 9.
1 ‘e, T’ 21 ‘587, 0 elnl 2uydeni qou ©.

(A) 1, 1124 ] (B) 85 1 24 1
(C) $5a 11 24 111 (D) 85 I

D2l WAL 5y / s uau odl-H1sL geag /A uRend / uReuHl 8q / sqai ?
I. 2{3AAA HHEIUE 504% 53,

1. w1812 [RlEa vz a3 :dlga 2.

1. w2181 AuHl Alld 2w d He B “ensil 407 53,

(A) $5d 1 241 11 (B) $5d 11 241 111

(C) 51 (D) 85 11

9 AAHL 1857 il 2l AL UUAH AH ouotd DAL WA 5y / sai (A / (el 00 /i © ?
1. andlondrmi Sr2ind-e vid 2023 210 [radl R e8id€s 2uucaimi 2icdl dl.

1. 281d€3r 2U31A “sill 84”7 1S AL 20 Sl

1. 52 53uoid viuglagul [Quaa sondl lul.

(A) $5d 1 241 11 (B) $5d 11 241 111

(C) $5d 11 (D) 554 111
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. During the medieval period, Gujarat emerged as a major port of exports to Malacca Straits
and Indonesia.

085. Which of the following statements is/are correct?

I1. The main exports from Gujarat to Malacca were spices.

III. Varthema, an Italian traveller mentions that more than 1000 ships from different countries
used to enter the port of Cambay every day.

(A) I'and 11 only (B) Il and 111 only
(C) I'and 111 only (D) Il only

086. Which of the following statements is/are correct regarding Bhalan?

I.  Hewas a Gujarati writer who translated Banabhatt’s ‘Kadambari’.
I1. He was a contemporary of Mirabai.

I11. He expounded the Advaita philosophy.

(A) Iand Il only (B) 11 and 111 only

(C) lonly (D) 1l only

087. Which of the following statements is/are correct?
I. Charak Samhita deals basically with surgery.
I1. The palm-leaf manuscript of Sushrut Sambhita is preserved at Kaiser library of Nepal.

I11. The three ‘doshas’ (humours) central to Ayurveda are ‘vata’ (wind), ‘pitta’ (bile) and ‘kapha/
shlesma’ (phlegm).

(A) L, 1Tand 1 (B) I'and 11 only
(C) L and 111 only (D) 111 only

088. Which among the following was/were the consequences of the First Anglo-Maratha War?
I.  The English captured Ahmedabad.
Il. Mahadaji Scindhia was recognized as the Peshwa.
I11. The Scindhia signed the ‘Treaty of Kharda’ to establish peace in the Maratha kingdom.
(A) I 'and 11 only (B) Il and 111 only
(C) 1 only (D) 1l only
089. Which of the following statements is/are correct with regard to events of the First Freedom
Struggle 1857 in Gujarat?
. Nearly 210 rebellious sepoys were executed at the cantonment in Shahibaug.
I1. The execution room was known as ‘Fansi Ghar’.
I11. Captain Campbell quelled the mutiny in Ahmedabad.
(A) I 'and 11 only (B) Il and 111 only
(C) 11 only (D) Il only
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090. Ansu SiH3a dloy suotd DA WA sui [Qau-il i ?
1. 228 curuHi Qe wio 530
1. Wldiri [0l HR18L, 513 2 oradlui uald sul.
1. sl el sl we Hioy 531,
(A) $5d 1 241 11 (B) $5c | 2 111
(C) s5a 11 244 111 (D) 1, 11244 111

091. 2l a2zt d- titia-l s1Hi isdl.
Lylu dlorl a1 Sl Ras 1. A2 2is2
(A) 1, 11, 11 (B) 11, 111, 1 ©) 1,1, 11

092. [y vlladl 2Azsld cuotd DAu W 5y / sui [Qaq / (@l 0 /00 6 ?
1. Ry vl sl a0 Ry A2l vila 3o qailza ).

1. Rag vile 2Aslan cusls ®dl-u el cid 6 g1 GuR udviq sluHi 1AM 20 6.

(A) $5d1 (B) $5d 11
(C) 1 A 11 6id (D) 1 41 11 84 516 <l

093. wodgHi A WS [Qruucui-l Geaw qdal ¢ ?

. ueL 1. ulla 1. [Agw
(A) $5d 1 241 11 (B) $5d 11 241 111
(C) $5d 1 241 111 O)IRIERR
094. GUEAALE AFAR YA *H-L HUL Hi8al ©.
(A) siun (Alacn) (B) chetRil (cmst)
(C) 2L (Bwgln) (D) dld-it (g:w)
095. cuRdui A @2l 2usunliql Al ve-sH 6.
(A) a8, s, AMs, usadli (B) AMs, us, usadlui, gl
(C) usadli, s, s, as (D) s, gounll, usadlil, Ay

N

096. A USL 518 25 o Uidni 215 W18 61 AR [AYsd sl wen A3 530 ¢dl ?

(A) AddLe (B) 2
(C) WY (D) g2t

097. N2« WS 518 1791 Hi t1-URA vid gd sIA%- 220U 531 ?
(A) dixA SRz (B) [luw sl
(C) Udld HeHigA madlan (D) osiuar $57

O) 1, 111, 11
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090.

091.

092.

093.

094.

095.

096.

097.

Which of the following statements regarding Tilak’s Home Rule League are correct?
I. It demanded education in vernacular language.

1. It propagated its ideas in Marathi, Kannada, and Gujarati.

I11. It also demanded the formation of linguistic states.

(A) Iand Il only (B) Iand 111 only

(C) Il and 111 only (D) I, Iland 111

Arrange the following events in sequence of its happening.

I. Muslim League Formation I1. Cripps Mission I11. Rowlatt Act
A) L1, (B) 11, 11, 1
@ D) 1, 1, n

Which of the following statements about the Indus Valley Civilization is/are correct?

I.  Sites of the Indus Valley Civilization are not confined to the valley of the Indus river.
1. Typical pottery of the Indus Valley Civilization is red, as designs painted on it in black.
(A) 1 only (B) 1l only

(C) Both I and 11 (D) Neither I nor 11

Which of the following assemblies are mentioned in the Rigveda?

I. Sabha Il. Samiti I11. Vidatha
(A) Iand Il only (B) 11 and 111 only
(C) I'and 111 only (D) I, Iland 111

According to Buddhism, origins of rebirth lie in
(A) Ignorance (Avijja) (B) Craving (Tanha)
(C) Attachment (Upadana) (D) Suffering (Dukkha)

The correct chronological order of the following foreign invasions in India is
(A) Shakas, Kushanas, Greeks, Parthians (B) Greeks, Shakas, Parthians, Kushanas
(C) Parthians, Greeks, Kushanas, Shakas (D) Shakas, Kushanas, Parthians, Greeks

Who among the following started the practice of appointing two Governors simultaneously in the
same province?

(A) Satavahana (B) Gupta
(C) Mauryan (D) Kushana

Who among the following founded the Sanskrit college at Banaras in 17917
(A) Warren Hastings (B) William Johns
(C) Pandit Madan Mohan Malviya (D) Jonathan Duncan
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098.

099.

100.

101.

102.

18 vivfle, 1951 it A% DA UL s 20 (Ao GudaA ¢git anam a3 531 ?
(A) Gguolld) (B) ds23l<l
(C) wiamuedl (D) AUYR

AL AHAA 20 AL $H UHE S2U.

1. Raiaislsa Auud

11, Gl&l A%

1L Axgw Mad

IV, Wl AH1%

(A) IV, 1111 (B) 11, 1V, 111, |
©) 1L IV, 1, 1 (D) IV, 11, 11, 1

D2l W siRL A% Yriolse AL, 1953 AL i ?

. UEIR Y&

11 4dla eeuua §-3

(1. dl vl e

IV. 5. 24, wrllsR

(A) $5d 1 241 11 (B) s 11 241 111
(C) $5d 11 24 IV (D) $5d 111 241 1V

1773 it [Rums 'L (Regulating Act of 1773) [Agl l2i-u U4l sui [Qtu-l 2020 €9 ?
1. 2 IRL gIRL AL UAH AR H22 S Sull-u adladl 214 aoslu sin dlgld vl

2. 11 HIRL Siddld, 61U AL Mgl iR 612U AR FHRAAL dloll 860 YEAHE HHiedl.

-

3. Vi QR MIRAHL S5l adlaz-l Wl Al
(A) 1,243 (B) HiA 2 ¢ 3
(C) WA 1 A 2 (D)W 1 4 3
IR AR AARUH, 1919 (A9l DA W4 s (Al w9 ?

1. 20 2A[ARUM 1919 Hi @Al el Sdl 41 1921 Ui ARdAHT 2l Sl
2. Al gL 575 2 il ueidl 2o aqaEl widl GuR swud [Ruaw sng 4y,

3. dH 9l 20 2AMAuH nidla YR (e srue asa sl neuq 89wl [ 5d 53 sdl.

4. 20 AEAAH nidl wel (Ao siel agar e widla paueA 24E85d 530 4 edl.
(A) 1,2, 3214 (B) Wi 2, 311 4
(C) " 1 244 2 (D) {12t 3 24 4
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098. From which of the following places did Vinoba Bhave start the Bhudan Movement on April 18,

1951?
(A) Udaygiri (B) Venkatgiri
(C) Pochampally (D) Raipur

099. Select the correct sequence of the establishment of the following societies.
I. Theosophical society
I1. Brahmo Samaj
I11. Ramkrishna Mission
IV. Prarthana Samaj
(A) IV, 1L, 1, 1 (B) I, 1V, 11, |
(C) 11,1V, 1, 111 (D) IV, 11, 11, |

100. Who among the following were the members of the Commission of Reorganisation of State, 19537
I. Sardar Patel
I1. Pandit Hridaynath Kunzru
111. V. P. Menon
IV. K. M. Panikkar
(A) Iand Il only (B) 11 and 111 only
(C) Il and IV only (D) 1l and IV only

101. Which of the following statements are correct regarding Regulating Act of 1773?

1. First time this Act recognized the administrative and political functions of the East India
Company.

2. It made the Governors of Bengal and Madras subordinates to the Governor General of
Bengal.

3. This Act laid the foundation for the central administration in India

(A)1,2and3 (B) 2 and 3 only

(C) 1and 2 only (D) 1 and 3 only

102. Which of the following statements are correct regarding Government of India Act 1919?
1. This Act was enacted in 1919 and came into existence in 1921.
2. Itrelaxed the central control over provinces by separating the central and provincial subjects.
3. The Act still authorized the central legislature to formulate laws on provincial list.
4. The Act did not authorize the provincial legislatures to make laws on provincial list.
(A)1,2,3and 4 (B) 2, 3and 4 only
(C) 1and 2 only (D) 3 and 4 only
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103. A% Yot (formula) [Aal A1 WS sui [Qan-l i o ?
1. 20 Yo AR YRaw ol siau e A [Bidla nannuidl @daid-l wiowll 52,
2. Y[R dlar 21 INC 24 Sl aouou-dl us1-4l 201 42,
3. 2il® 21 [yms12 AN Yot Bur AAL s ALl A,
4. 21 e (sl grL 2flsRaumi 2udl 21 2l g1 2441512 s 2udl.
(A) 1,2, 3414 (B)WA 1, 2 ¢4 3

(C) WA 2, 331 4 (D) WA 3 ¥4 4

104, oitnRel ueu-dl - 2401 Al U4 sui ([Qau-l i ¢ ?
1. ucds el Apu dv-dl axdli wmi st sinaadl adl sdl.
2. uds 239 Uidd s1naami 2uddl sisst YRuu da v v 2 WAL dlsl A adAAHi

AR &l

3. 2 suldzid (HRAH da dv)d sinaami 2uddl sissi-l sl widla pgAARD 1AL gI1RL
Y2 2R sl

4. GuRAsd WEuHl 2Us o dvield WA He usld gl W waREad sigaraml 2ue od.

(A) 1,2, 314 (B) Wi 2, 311 4

(C)HA 1, 294 3 (D) {12 3 241 4

105, oitnet ARUHE DA WAL 56 suld Non 53 Alefl ay ulafEa qadl edl ?
(A) YRaw (B) 234 oald
(C) Ry [Bidlxil (D) dln

106. A WA 56 A4l w2l Ad AAA € ?
1. Al 24y — ARAAHL s 51 s1naell
2. euHl AR — PRAACUBIHL ARALUL RS lal seid-l Aaudzil
3. Al A4YRA — S 2 A% A2 Al aguell
4. 892 A3y [A — s2ens Al 2ulzeald dAni adlaz 2150l Aol
(A) WA 1 14 3 (B) 1A 2 ¢4 4
(C) "L 2, 3911 4 (D) 1,2, 344

107, uRdly sl oigdil [Qena-u susid la-u Ul sui [l i o ?
1. tigeurll [Qenan 215 wnRscarAl uael wienl@d sami 2udl 9.
2. tRAL oitiReRdl Hed 50 uRL sigdidl [QAeua-id weuld 52 9.
3. oigirll tuanil alEadtd A dan -l 25l 244 2 il va<l 20 €.
4. 2l BUsal w7 210idlddl 554 we s uRal o yad 8.
(A)1,2 3914 (B) WA 2, 34 4
(C) A 1, 2 ¥ 4 (D)HAA 1, 294 3
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103.

104.

105.

106.

107.

1. According to this formula, Muslim League would join hands with Congress to demand the
independence from British.

Which of the following statements are correct regarding Rajaji Formula?

2. Muslim League and INC would form a provisional government at the Centre.
3. Gandhi and Jinnah held talks to discuss on Rajaji Formula.

4. This proposal was accepted by Jinnah and rejected by Gandhi.

(A)1,2,3and 4 (B) 1, 2 and 3 only

(C) 2,3 and 4 only (D) 3 and 4 only

Which of the following statements are correct regarding composition of the Constituent Assembly?
1. Each princely state was to be allotted seats in proportion to their population.

2. Seats allotted to each British province were divided between Muslims and Sikhs and other
general population.

3. Theseats allotted to other communities (Muslims and Sikhs) were to be elected by the members
of that community in Provincial legislative assembly.

4. Inthe above process, proportional representation by means of single transferrable vote system

was followed.
(A)1,2,3and 4 (B) 2, 3and 4 only
(C)1,2and 3 only (D) 3 and 4 only
Which of the following community had third highest representation in the constituent assembly?
(A) Muslims (B) Scheduled Castes
(C) Indian Christians (D) Sikhs

Which of the following pairs are correctly matched?

1. Fourth Schedule - Allocation of seats in the Rajya Sabha

2. Tenth Schedule - Provisions relating to the Disqualification of members in legislative bodies.
3. Seventh Schedule - Division of powers between Centre and State.

4. Sixth Schedule - Provisions relating to the administration of Tribal areas in some states.

(A) 1and 3 only (B) 2 and 4 only

(C)2,3and 4 only (D)1,2,3and 4

Which of the following statements are correct regarding the concept of fraternity in Indian
Constitution?

1. The concept of fraternity is promoted by the system of single citizenship

2. Fundamental duties of the Indian Constitution also promotes the concept of fraternity.
3. The fraternity assures the dignity of the individual and unity and integrity of the nation.
4. The unity and integrity of the nation denotes territorial dimension only.

(A)1,2,3and 4 (B) 2, 3and 4 only

(C)1,2and 4 only (D) 1, 2 and 3 only
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108. 274269 3 «Ul AUl Hia-dl AueAl Al cuord N2 U sui (sl i d ?
1. A AU Yole (A [QA8us wat eguld-l ydanldddl o erma 59 us.
2. [A8usn Hogdl 2uudl usal 0uld d [Q8usA % d Al A AL Yadt W2 Hisdl as.
3. eguld 21 Au-l Rl Heamel-l SR 2aal vrAsR s39 as.
4. 8 vl [(Brumi avzuld Ao ueuHl [y Hol Qal.
(A)1,2,324 (B)WA 1,2 %1 3
(C) 1= 2, 3 21 4 (D) 12 1 244 4

- 109. 3% ARSIR gIRL Audld AR sl s22uU1d uHE suotd -1 WA sui ([Qau-l i 9 ?
1. AWRS MRdrw sitnRR ul [Biasieldl saldl siu.
2. Y e ARIRS g2HA A1A JR$1ULE AUUIR 5 ALAAASIR $Ul €I,

3. wuRsA ddl Ayl saan wsldsw (naturalization)t wia avyi s sami ol ad we ¢
SAUHL LU 81U,

4. AWARS Add 6 ad W2 tuRd-l s11-1L AHI=A QAR i,

(A)1,2,3%14 (B) WA 2, 34 4

(C) 1A 1 244 2 (D) M1 1, 2 ¢4 3

110, ®URArL AEMUL AHIAAL AAUAEL (Exception to Equality) tuetd A W4 84/ sui [ / (el 22 /

1AL €9 ?

(A) ALl SIOUR ue SSURL sSall ALHHD SIOUR AEldAH S1OUR UsRDL siladld wa
2849 .

(B) S1SURL AdMLUARE ALHULSL A1 A UsURA s ouetd SSUBL alEd SISURL gL dHi el
3 sioreid] sidadla wist 89 A4l

(C) (A) 2 (B) tin

(D) (A) 21 (B) U4 518 1l

111, »uReMl Gid adl suotd A1 WA 53 / sui (A / Qa0 /i 8 ?

1. AUHL s1a v1aa ddfl Glal $lal dxy AL 2 Ay, A-uHE A qnsa lel quadl @ulsa OBC
2R&RH Al Hadl a5 Al

2. xguld, Guarguld 211 adl x1e1ad-u =naEla g sitella 8igl 41adl alsaztia Gid aoiuidl
Y5 2l 2udl 8 d2il OBC 2uR&RlHl die Hondl a3 .

3. clfavil 3 gu-l sa alls vuas 15 ar 3[Ran 3 €, dil OBC siRaRi-l e dadl a3 8.
(A) 1,243 (B) Mo 2 ¢4 3
(C) WA 1 (D) {2 1 244 2
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108.

109.

110.

111.

Which of the following statements are correct regarding the powers of Indian Parliament in the
context of Article 3?

1. Parliament can introduce a Bill regarding reorganization of the states only with the prior
permission of the President.

2. Before giving permission to the Bill, the President can refer the Bill to the state legislature
concerned.

3. The President can accept or reject the recommendations of the state legislature.

4. In case of Union Territory, President will take special permission of the Rajya Sabha.
(A)1,2,3and 4 (B) 1, 2 and 3 only

(C) 2,3 and 4 only (D) 1 and 4 only

Which of the following statements are correct regarding compulsory termination of Indian
Citizenship by the Central Government?

1. The citizen has shown disloyalty to the Constitution of India.
2. The citizen has unlawfully traded or communicated with the enemy during war.

3. The citizen has, within five years after registration or naturalization, been imprisoned in any
country for two years.

4. The citizen has been ordinarily resident out of India for two years continuously.
(A)1,2,3and 4 (B) 2, 3and 4 only
(C) 1and 2 only (D) 1, 2 and 3 only

Which of the following statements is/are correct regarding Exception to Equality under Indian
context?

(A) Nomember of Parliament shall be liable to any proceedings in any court in respect of anything
said.

(B) No person shall be liable to any civil or criminal proceedings in any court in respect of the
publication in any newspaper of substantially true report.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct regarding Creamy layer in reservations?

1. Personswho are in the rank of colonel and above in the army and equivalent rank in navy and
air force cannot avail the OBC reservations.

2. The persons holding constitutional positions like President, Vice-President and Judges of HC
are exempted from the Creamy layer, they can avail the OBC reservations.

3. Persons having gross annual income upto Rs. 15 lakhs are eligible to avail OBC reservations.
(A)1,2and3 (B) 2 and 3 only
(C) 1 only (D) 1 and 2 only
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112.

113.

114.

115.

116.

248 21 6ULoAd UALRRAL ANELAAL AL oietd DAL WS 54 / suil [ / (sl 00 / i o ?

(A) QAL S Al 2uE1ad WA 53 5 §04269¢ 21 So01 28R 3 HLzt SIRIGURL |l Ty
[Q2ta Guasy 89, tAdly sidad) W Adl.

(B) HrsL Ul SuML Al AE1Ad AUAAL SUHT YSIEL AU AU,
(C) (A) 21 (B) tinl
(D) (A) 211 (B) U4l 51 ]

A2 (Writs) A3 sa euotd QAW WS sy [0y 9 ? Z

(A) tRRAMIAL 2eR-l s1aadli [BRumi vigl ucuslsw (Habeas Corpus) A2l 531 asid Al

(B) R s11013) [Ad SRS lu 241 $39ULd A Sl R M 2u U (Mandamus) <) 53 asia AL,
(C) xS ArlEsR A ulddy il s3 asiu<€l.  CANCELLED

(D) BuRlisd U4 518 Al

[Rasaqu es ouotd DA WS sy (At w2 6 ?

(A) dn vitRella YRl [ R, w2l 5 yad asa 9.

(B) d vl Rasan siieudl (B [At 28 20l © udg wasly siaud) [ 2891 2uudl ).

(C) drut Geddar- [3uni 2»1u2 wHA (aggrieved person) A8l adl Aneidadaui oS a5 uig Ui
AEIAAHL HES Asel el

(D) BURAsd dxH

ol Hioleels [Reaidl 2im yeyd 5204 (el Dl W4 53 [Qun ) © ? CANCELLED

(A) 3L oil. 2UR. Aiti3s Had ¢ 5 Apu-Nd-u Hleals Riidl 2xuld yeaat 8 s12a 5 »u Rieaidl
QR AU LA - 205 dlsdl - 49 53 8.

(B) opurilla-u woleals Ritaidin tuqui AvllA e1ddR U512 YA 52U fURd U513 8Ru s1Ue1il
GROTRS

(C) 52415 YN 851 5 % did AWRLRSL 24 [Qgellztia 1Al 8 d-idl [Quild yaeid 590 Hi=L ¢l
AR5 ydl AlHla €9,

(D) BuRisd U4l 51 Al

AueHl vu oigHdl [RuMl (Special Majority Rules) [Agl 1A U4l 5y / sui Qi / [Qsnil a0 /

10 69 ?

(A) U~ g HA Uels sl A WU AvALAL IgHA B 2 EJ5 AL SI%R Sl HALLA 5cll 2/3 UG
oigHd 8.

(B) Gusd [Qauui g4 ue v 2124 vid) o1zl 217 918192 69 5 S d u- dlan [a-u ag-u ga
AR

(C) (A) 21 (B) tid

(D) (A) 241 (B) U4 518 Al
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112.

113.

114.

115.

116.

Which of the following statements is/are correct regarding Supreme Court’s interpretation
regarding Article 21?

(A) In Gopalan case Supreme Court held that the protection under Article 21 is available only
against arbitrary power of executive not of legislative action.

(B) In Menaka Gandhi case, Supreme Court upheld the judgment of Gopalan case.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is INCORRECT regarding issuing of Writs? CANCELLED
(A) Habeas Corpus cannot be issued in case of the proceeding for contempt of a legislature.

(B) Mandamus cannot be issued when the duty is discretionary and not mandatory.

(C) Prohibition cannot be issued against Quasi judicial authorities.

(D) None of the above.

Which of the following statements is correct regarding Right to property?
(A) It can be regulated, curtailed or modified without constitutional amendment.
(B) It protects private property against executive action but not against legislative action.

(C) In case of its violation, the aggrieved person can directly go to the High Court not to the
Supreme Court.

(D) All of the above.

Which of the following Statement is INCORRECT regarding Directive Principles of State Policy
and Fundamental Duties? CANCELLED

(A) Dr BR Ambedkar opined that Directive Principles of State Policy have great value because
these principles lay down the goal of Indian polity i.e Economic Democracy.

(B) Government of India formulated many laws to ensure better government in line to the Directive
Principles of State Policy.

(C) Unlike some fundamental rights which extends to all citizens and foreigners, Fundamental
duties are confined to Indian Citizen only.

(D) None of the above

Which of the following statements is/are correct regarding Special Majority rules in Parliament?

(A) Special majority is a majority of the total membership of each House and a majority of 2/3 of
the members of each House present and voting.

(B) In above statement Total Membership means the total members comprising the House
irrespective of fact whether there are vacancies and absentees.

(C) Both (A) and (B)
(D) Neither (A) nor (B)
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117.

118.

119.

120.

121.

MRl Al ANE1Ad N8R Ul Yarot AL UG sU1 YN drall (elements) MR- GIEIRRIAL YAMd
w8601 2Ud € ?

1. AHAY dA

2. AHDS AU

3. =AY HIT, A1 WAL

4. ASar 2eud>u 211 3N

(A) 1,2, 3214 (B) WA 2, 341 4
(C)HA L, 294 3 (D) WA 1

Sraell RS AT ouoid D2l WA 5y / sui (A / Qe 02 /i ?

(A) e ApaAAAA s1aEL 8l A5 5 % GURAA WRRSL 241 WHA [A2ui dul Aqult v ay udl as.
(B) % d AUHIA A4 &onl duel RMAuH ayugdl 8l dal (Rga 2l ad aeawan ©.
(C) (A) 21 (B) i

(D) (A) 21 (B) U4l 41 1l

Ay cuotanl Asuucul Al ouoid DA WS s Q109 ?  CANCELLED

(A) A APAAML 51 HEL AU HSTA HIS 214U 89 A N8R 53 A SAAUAIR 52 dl AuE AU YR
olttdirl AU s1uEl adl as 6.

(B) ABAAML GIRL YAIR $AUHL UL W3 81%R A A HASL $7UR 2/3 AGALAL 251 HONAl AS A,

=t

(C) 2udl 614 Hizt 30 [2au Y4l o »°Hani 26 8.
(D) BuRisd U4l 518 Al
Svg i AL Aoidl [Ae DaAu S sy [ g © ?

(A) naH adladl YHIRBI AUARL GIRL A28 356, 357 i1l 365 YLl {ld 2@ sl MAHRL saUHL
2ud) gl

(B) A5151UL 2100 HAHR 53] Sl 3 AU QAN ATUAL S1AUH] 204,

(C) ApH~UR AF[AA Heam 53 8dl 5 S x1[A512 &2t A&, [Aee buoidl, AL AUASIR 214 A4R
(Currency) Yd, Hullgd Sid AS .

(D) AL 2041 MRl 530 5 Srs WA Aol duld dlan [ waL w229 gl drid sa-l at
Sidl ASA.

A1 A4 su1 2oL/ AlRfda Al nanaR w15 08 42ell-l dean 530 edl ?

(A) L. A, A Al

(B) %. in. [Qagi-u a8 ug Ssn-ll cudri %2ell vl ald

(C) WRarwq uffd

(D) =L Asgt tuoy uag ARl
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117.

118.

119.

120.

121.

Which of the following elements come under basic structure of the Indian Constitution as declared
by the Supreme Court?

1. Federalism

2. Social Justice

3. Effective Access to justice

4. Freedom and Dignity of the individual

(A)1,2,3and 4 (B) 2, 3and 4 only
(C) 1,2and 3only (D) 1 only

Which of the following statements is/are correct regarding Legislative power of the Centre?

(A) The Parliament can make Extra Territorial legislation which is applicable to the Indian
Citizens and their property all over the world.

(B) The Governor is empowered to direct that an Act of Parliament does not apply to a scheduled
area in the respective state.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements is INCORRECT regarding powers of Rajya Sabha in matters
of State List? CANCELLED

(A) Parliamnent can make laws with respect to the matters in the state list if Rajya Sabha declares
that it is necessary for national importance and pass as a resolution.

(B) The resolution passed by the Rajya Sabha must be supported by the two-thirds of the members
present and voting.

(C) Such resolution remains in force for 30 days only.
(D) None of the above

Which of the following statements is correct regarding the Centre and State relations?

(A) The total omission of Articles 356, 357 and 365 was recommended by the First Administrative
Reforms Commission.

(B) Sarkaria Commission recommended that the residuary powers should be allocated to the
states

(C) Rajmannar Committee recommended that, the Centre’s jurisdiction should be restricted only
to defence, foreign affairs, communication and currency.

(D) Sarkaria Commission recommended that the Centre should have power to deploy its armed
forces even without the consent of the states.

Which of the following commissions/committees recommended for the simultaneous elections for
the first time?

(A) P A Sangma Committee

(B) Committee by Election Commission of India headed by JM Lingdo
(C) Nachiyappan Committee

(D) Nara Chandra Babu Naidu Committee
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122.

123.

124,

125.

126.

DA WAL 55 Al ) A A € ?

(A) §s WU — SAs1midl dani 2uda 69,

(B) it 2 — 323 [Sosuuisl dani »uda .

(C) weariusHl [Aeuanl — siunidl dami 2uda .

(D) $2152] e YN 511 AR s — il Aaumi 2uda O,

AU 521521 21020 uoid DA UEL 53 / sul [ / (-l 02 / i 6 ?

(A) 52158 g% A%AA S1SURL tlotdul s1RIGUS) (A2 AR s W2 5s 2Al8gd oA 69,

(B) 52152l €31 UL, AA ALY el dl UL AU uotdl U ruld azg sy il 530 a5 ©.

(C) A)A 52152l g%, Avuld S+ 24 AU a2 HS YA eianell [AaRini $2512 531 asdl -l
(D) BuURsd dxIH

AAEA AERAU Harll Y (gl DA WAL sy / sui Qe / [l e /i o ?

AHIH AU AHIH RANEAL Ul §8 Y
Aue Ul g4 Avul

(A) AR™E (MP) U Hdg YU =

cHIY, AL AU HIRIAGAAL Ul §4 44 (B)
A YRraal s4 uel-l vl

(B) AiUE (MP) -l Heldf Yed =

22Ul $8 HABIRI Ul §4 HeU
Aue ucAl-l g4 vuy

(C) MI™E (MP) ~l Ul 3yeu =

(D) Bu-1 U4l visumt )

BrRanafl sudlal (Non-Resident Indians) (NRIs) -t HallEsiR ouetd 2-u W4 sai [Qan-l i ¢ ?
1. NRIs L % Add wi avel af A HI2 UL AHL AAAL S dl AL H 20Ul HI2 Watdl 4R1ddl ).
2. NRIs g 28612 2l 2Udd 1A d HALIR AAHL HIA 361341 % H 20l A5 6.

3. NRIs Electronically Transmitted Postal Ballot System (ETPBS) gi2L ug2iuid] 1d 2udl as 6.
4

MRAr t81R [Augs wHaL Wt A goll, uidla 24 513 sH20 WS % 214 (Proxy)
Hagl-rl [Asey Guaoy .

(A) WA 1,2 94 3 (B) {1 2 244 4 (C) WA 3 ¥4 4 (D)1,2,3¥1 4

Aruiardl A ATl ouetd DA S sui (a2 o ?

1. ol [A8us aeu-dld-n weleels Risaididl [Qpeaui gl uR asuuia 21 [Q8as eguld-l [@auze
HLE 2UHA Al A5

2. AFAWA AU QRAAML oid AL (ul [gadl wRimen sl dar [BRuul) 4ysd siss
olleud) a5 €.

3. dvil Awu-l [Aaacunl 218 204l SedluqA unildd s3 as .
(A) {2t 1 244 2 (B) WA 1 ¥ 3 (C) "L 2 211 3 (D) 1,241 3
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122.

123.

124,

125.

126.

Which of the following pairs is correctly matched?

(A) Single Citizenship — taken from Canada

(B) Preamble of the Constitution — taken from United Kingdom

(C) Concept of Republic — taken from France

(D) Suspension of Fundamental Rights during Emergency — taken from Russia.

Which of the following statements is correct regarding effects of National Emergency?

(A) During emergency the Centre becomes entitled to give executive directions to state in any
matters

(B) During emergency the President can issue ordinances on state subjects even if Parliament is
in session.

(C) During the national emergency, the President cannot modify the constitutional distribution of
revenues between the Centre and states.

(D) All of the above

Which of the following statements is correct regarding vote value of a Member of Parliament?

Total value of votes of all Members of legislative assemblies of all states

(A) Vote value of MP = Total members of parliament

Total value of votes of all Members of legislative assemblies of all states

(REEEREElE Total number of elected members of parliament

Total value of votes of all voters of the country

(C) Vote Value of MP = -
Total members of parliament

(D) None of the above

Which of the following statements are correct regarding the voting right of the Non-resident
Indians (NRIs)?

1. NRIsare not eligible to vote if they are staying abroad continuously for more than 5 years.
2. NRIs can only vote in person in the constituency where their residence is located.

3. NRIs can vote from abroad through the Electronically Transmitted Postal Ballot System
(ETPBS).

4. The option of proxy voting is available only for armed forces, police and government officials
posted outside India.

(A) 1,2 and 3 only (B) 2 and 4 only
(C) 3and 4 only (D)1,2,3and 4

Which of the following statements are correct regarding legislative powers of the Governor?

1. Governor can reserve Bill for President's consideration when it opposes a Directive Principle
of State Policy.

2. Governor calls for joint sitting of both the Houses of state legislature (in case of bicameral

legislature).
3. He nominates one Anglo-Indian to the state legislative assembly.
(A) 1and 2 only (B) 1 and 3 only
(C) 2and 3 only (D)1,2and 3
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127.

128.

129.

130.

131.

132.

A0 WA sai [Qe-l i ?
1. ~uRl (Money) [A8us Hi=t 4l o 29 531 45 €9,

2. M Ul (Money) [Q8ast [Adla (Finance) [@8ust € uid W= s2eus [Adla (Finance) [@dust
Ul (Money) [A8usi €.

3. x1729¢ 117 st [Axdl (Finance) [A8us aigula-ll ydrioglell Hist dlsucumi o 29 53 asi.
(A) 1,243 (B) WA 1 ¥4 3 (C) | 2 211 3 (D) {1 244 2

(gl adladl Yan 2uaiol sul vi8aia yaadl 0 (Al ;e e 14oi8q & ?
(A) 39 Aeud (B) 42l A8 (C) 541 ASud (D) 62l AH8ud

weRARLS Al cuotd DA U4 sai [Qandl i e ?

1. AHRURAS Al na Bdl o Al 21 sriadlzil ¢iog 9.

2. WMty Ad dloyqal »udl [Qauail 4ud 8.

3. Sla WSl puuion 24 AR e 8,

4, dul Arul vior o [l gl ydl 0dla sia 9.

(A) 1,2, 3214 (B) WA 2, 3¢ 4 (C) A1, 234 3 (D) {1 1 214 4

Brir ydlu ulRue ouoid A1 U4 sui (sl i e ?

1. GriR-ydlu ol A%UEL duos YuadAlzil oid Gr-ydlu uRne- agil .

2. d Grir-ydlu &t a=llu puaior- e adls sl s2 8.

3. 6L a6 ol ay Gri-ydly AU AlMSAL SlA dal Mg s2 24 AU AAAL PUUAH] 20 8,
(A) WA 1 1A 2 (B) "ot 1 244, 3 (C) WA 2 ¥4 3 (D) 1,21 3

A2 WAL 56 cuotdi-l Aot A Yrols- 21ERUH 1956 S50 sUMT 204 8 ?

1. 2idR-A%u YRue

2. AHis 20101 gIRL HALR &l Aluis

3. Aau AL A% W2 Al AL1dd

(A) 1A 2 244 3 (B) Wist 1 211 2 (C) M1 1 244 3 (D)1,2x43
AR UL A AESR [Qd DA UA sai [Qan-l i 9 ?

~

1. e2uld glrl Ads-ya 2 Y91 saimi 2uddl siSul susid U Uldidl A0 20udl 142y
MELAd HI2 bifrASAl 69,

2. udl2a AW d-ll Al AsuAsR At 60 UMl 2ndd st suotd-l Yruael d- il
2691 i ~eflanl visdls 52 €.

3. A AufsR Ssn SISURL buoldul UdlA MEIA gIRL UMl 2ndd nldna euld-
oigrisdl .

(A) W2 3 (B) {1 1 ¥ 3 (C) " 2 211 3 (D) 1,241 3
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127.

128.

129.

130.

131.

132.

Which of the following statements are correct?
1. Only a Minister can present a Money Bill.
2. All Money Bills are Financial Bills but only some Financial Bills are Money Bills.

3. Finance Bills under Article 117 can only be introduced with prior permission of the President
in Lok Sabha only.

(A)1,2and3 (B) 1 and 3 only (C) 2 and 3 only (D) 1 and 2 only

Which report of the Second Administrative Reforms Commission is related with recommendations
on Panchayati Raj?

(A) 3rd Report (B) 4t Report (C) 5t Report (D) 6t Report

Which of the following statements are correct regarding Quasi Judicial Bodies?
1. Aquasi Judicial body enjoys Powers and Procedures as those of a court.

2. Normally Tribunals enjoy these features.

3. Central Information Commission is a quasi Judicial body.

4. Their powers are limited to a very specific area.

(A)1,2,3and 4 (B) 2, 3and 4 only

(C)1,2and 3only (D) 1 and 4 only

Which of the following statements are correct regarding North Eastern Council?

1. Both the Governors and the Chief Ministers of the North Eastern States are the members of
the North Eastern Council.

It functions as a regional planning body for the North-Eastern area.

Priority is given to projects and schemes which will benefit two or more states of the North-
Eastern area.

(A) 1and 2 only (B) 1 and 3 only
(C)2and 3 only (D)1,2and 3

Which of the following are provided under the States Reorganization Act, 1956?

1. Inter-State Council

2. Delimitation of constituencies by the Delimitation Commission

3. High Courts for the newly created states

(A) 2 and 3 only (B) 1 and 2 only (C) 1and 3 only (D)1,2and3

Which of the following statements are correct regarding Advisory Jurisdiction of the Supreme
Court?

1. It is binding on the Supreme Court to give its opinion on any matter referred to it by the
President.

2. At least Five Judge Bench of the Supreme Court hears any reference made to it under its
power of Advisory Jurisdiction.

3. The opinion given by the Supreme Court on a reference under Advisory Jurisdiction is not
binding on the President.

(A) 3 only (B) 1 and 3 only (C) 2and 3 only (D)1,2and 3
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133.

134.

135.

136.

137.

138.

A2l W) i) 2ol Hi2 2s ALEld WAL H 214 A HAUAAS 1AL HAgld ad unHRL WAlAlEea weald-
Gualor i 8 ?

1. eguld

2. Guarguld

3. APUAML

4. [Qn ulRue

5. ApUAUMIU Gl 2ell

(A) AL 1, 2, 321 4 (B)Wa 1, 2 ¢4 3
(C) A1, 2, 3945 (D)1,2,3,4¥15

A5 {2 A AlusLs (National Register for Citizens) [dgl 12w W4l sui [Qan-l i =) ?
(A) NRC 4 2uum 1% [Qenefl 208 211 tud U512 a3 1985 i 2dd sum duldui 9.
(B) ArZ1A ALNS AlHYAS UAHAL AHIH S1AELS1 AR i »2l €,

(C) NRC w2l 1971 YHlui Bu-l U s16URL HAER WLl 6 ddl lsavil s du-u daod-l
A 53 69,

(D) NRC 2 -aulRsld sla Aiuas 2«lRun, 1971 g Rl a6,

A1 U4 56 A8 ulou Ad Al Al ?

(A) 2 W) (Pardon) — WAL HISL o A2l AYRUSL i cidl a3 .
(B) a2 uRad+ (Commute) — [Qisuni a213i.

(C) Ani w213t (Remission) — si8 (Al s1200A42 AL w2131,
(D) si=fl HigS) (Reprieve) — esid €3+l AoAui s1MAAG Hi4S)

RURdrL (RS 2 Herdvn udas Rl drum usi-l dvn udlan (Aa18l2) $3 69,

(A) Wlaslg 2dle (Proprietary audit) (B) ¢isin-l qarcus i »udle

(C) s s1molldly »udle (D) BuRisd U4l 51 )

AL AL 6165 $AL HIS UL 2419 Q1R AU 4vL .

(A) $Q uERI-L 25 Adala F2dl (B) 4 U A5 s g2dl

(C) AWM AL 50% (D) 2ALIHL 241691 100 AGUL

§14YRA Ala2il 211 204 9Rd wAldi-n s weHdl aFld 5 2 du-u dlBs seua we sidl

8 d A6,

(A) 4 30 AR — dAlsUUHIE] 20 241 ApuAHIA 10
(B) 54 30 QUL — cllsucunidl 15 1 AsuA il 15
(C) 44 25 AL — dlsucuHid] 15 21 ApuuHHidl 10
(D) & 20 AL — AlsUUHIE] 10 21 ApuUHHIE 10
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133. System of proportional representation by means of the single transferable vote and voting by

134.

135.

136.

137.

138.

secret ballot is used for the election of which of the following?
President

Vice President

Rajya Sabha

Vidhan Parishat

Election of Vice Chairman of Rajya Sabha

(A)1,2,3and 4 only (B) 1, 2 and 3 only
(C©)1,2,3and 5 only (D)1,2,3,4and5

ok~ D e

Which of the following statements is INCORRECT regarding the national register for citizens?
(A) The NRC has its roots in the Assam Accord signed between the Assam State Students Union

and the Government of India in 1985.
(B) The National Register of Citizens is a list of all the legal citizens of Assam.

(C) The NRC includes person whose names appear in any of the electoral rolls up to March, 1971

and their descendants.
(D) The NRC is governed by the National Register for Citizens Act, 1971.

Which one of the following pairs is INCORRECTLY matched?

(A) Pardon — Forgiveness only ends the punishment completely.

(B) Commute — Reduction of penalty

(C) Remission — Reduction of punishment due to any specific reason.
(D) Reprieve — Temporary suspension of death penalty.

The Comptroller and Auditor General of India conducts all kinds of Audit except
(A) Proprietary Audit

(B) Audit against provision of funds

(C) Efficiency-cum-performance audit

(D) None of the above

The minimum number of members that must be present to hold the meeting of the Gram

Sabhais

(A) One-fourth of the total membership
(B) One-tenth of the total membership
(C) 50% of the Gram Sabha

(D) At least 100 members

The Committee on Welfare of Scheduled Castes and Scheduled Tribes which considers all matters

relating to their welfare consists of

(A) Total 30 members — 20 from Lok Sabha and 10 from Rajya Sabha
(B) Total 30 members — 15 from Lok Sabha and 15 from Rajya Sabha
(C) Total 25 members — 15 from Lok Sabha and 10 from Rajya Sabha
(D) Total 20 members — 10 from Lok Sabha and 10 from Rajya Sabha

[CSP-1]
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139.

140.

141.

142.

143.

144,

2l d oo QU (EWS) A 2028101 Y3 wisal W2 2019 Hi 53l 2429 BHcUHL 2l ?
(A) 214269¢ 15(1) 11 16(1) (B) ¥19269¢ 15(2) 241 16(2)
(C) 2xA4249¢ 15(4) 11l 16(4) (D) 2A4249¢ 15(6) 1l 16(6)

A1 WA sul 52/ 8ot 08 [Raxl 1al (Public Interest Litigation) (P1L) adl3 2wl asta <l ?
1. Wt Wl&s — eugtdA Qdldl st

2. Al ouotdl 2 Alsa- draqt dan A28 addl suotd.

3. 5+ [ A% AS1EL [Acol 24 2218 Al [Qedl s3uel.

4. adl E1dd 21 et Agiading U-Ela su-l sul Yruael weHl eie 2.

(A) 1,2, 3914 (B) WA 2, 344 (C) 1A 1, 2 A 4 (D) "1 2 244 3

A% AAWA] RS At (A2 DA WS 53/ sui (@t / Qe 0 /i 6 ?

(A) Au-l 160 Al At Yoot AU SSURL AlSa SIEURL L UoLeL 2AG UM HIS 53 A5 ©,
2L 530 A5 6 ARy WA susl uR 2udl a5 8.

(B) dxil Apudl adl xneidd W vamel A4 Lrean ~nandlaidl [uggs, an-Rugs da tedl
s as e,

(C) (A) 211 (B) tid
(D) (A) 21 (B) U4 518 1l

A0 U 5y / sui Qe / (sl 2 / i ¢ ?
1. adl vetad-i 2l uouR A H2AL WA HIRAAL A gd eisinmisd) sami 2ud 9.

2. adl Asidd- sHAW Q2L YRUR, @2l AUy U dal adladl wal Axu-l vsAd ¢sinuid
BUSIRAUHL 204 69,

3. adl verad-u Rga udlal uaiza 216144 Rl 20 515 sie1adni dse s390 as dl.
(A) 1,241 3 (B) {12 2 241, 3 (C) WA 2 (D) WA 1 ¥4 3

A1 Q4L 58 Al Skl adladl —nuvd (Tribunal) (CAT) «u &sulEis: Ssn umlae € ?

1. 3l Yehl Al

2. 575 860l Yedl Al i A8 Acuti-u WouRs sHl2il (Civilian employees)

3. Augly alRaiquHl {3l a3l (Secretarial staff of the Parliament)

4. QAR AHELAd- RS2 2147 sH2 24

(A) 1,2, 3214 (B) {AA 1 1A 2 (C) {1 3 241 4 (D)HA 1, 2 ¥4 3

AU il A aiso suotd A1 W4 sui [Qan-l i o ?

1. 20 a2 Aus i asami 2udd AlRRUH 2iddld saumi 2udl.

2. UclS ABAHL A% S17Al AL Aol UL s 2ud) 69,

3. GURA AR AL You =aY[d 241 ATl Hn s1R100E g a3 s 53 9.

(A) 1,243 (B) {A 2 ¥4 3 (C) | 1 244 2 (D) {1 244 3
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139.

140.

141.

142.

143.

144,

Which Articles have been inserted to provide reservations for Economically Weaker Sections
(EWS) in 2019?

(A) Articles 15(1) & 16(1) (B) Articles 15(2) & 16(2)

(C) Articles 15(4) & 16(4) (D) Articles 15(6) & 16(6)

Which of the following cases/areas will not be entertained as Public Interest Litigation (PIL)?
1. Landlord-Tenant Matters

2. Service Matter and those pertaining to pension and gratuity of an Individual

3. Complaints against central/state government departments and local bodies

4. Petition for early hearing of cases pending in High Courts and Subordinate courts
(A)1,2,3and 4 (B) 2, 3and 4 only

(C)1,2and 4 only (D) 2 and 3 only

Which of the following statements is/are correct regarding judicial powers of the Governor
of state?

(A) He can grant reprieves, respites, remissions of punishment of any person convicted of any
offence against law relating to a matter to which the executive power of the state extends.

(B) He makes appointments, posting and promotions of the district judges in consultation with
the state high court.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct?

1. The salaries and allowances of the judges of the high court are charged to the Consolidated
Fund of India.

2. The salaries, allowances and pensions of the staff as well as the administrative expenses of
High Court are charged to the Consolidated Fund of states.

3. The retired judges of a high court cannot practice in any court except Supreme Court
(A)1,2and 3 (B) 2 and 3 only (C) 2 only (D) 1 and 3 only

Which of the following services is covered under the jurisdiction of Central Administrative
Tribunal (CAT)?

1. Central Civil Services

2. Civil Posts under the Centre and civilian employees of defence services

3. Secretarial staff of the Parliament

4. Officers and servants of the Supreme Court

(A)1,2,3and 4 (B) 1 and 2 only (C)3and 4 only (D) 1, 2 and 3 only

Which of the following statements are correct regarding National Legal Services Authority?

1. This authority was established by the Act enacted by the Parliament.

2. Inevery state, a state legal services authority has been constituted.

3. The Chief Justice of Supreme Court of India acts as Executive Chairman of this authority.
(A)1,2and 3 (B) 2 and 3 only (C) 1and 2 only (D) 1 and 3 only

[CSP-1] [PT.0.
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145.

146.

147.

148.

149.

150.

151.

il 10 a1l 21218 Hedl AlRfd-Al aaen euoid - U4 sui (-l i ?
1. = AR Yaiadin (sl 210400 da s audl A .

2. Y-l el aHiH a2 BuR A 5U uai-l Ariar Bl sidl A4,

3. Al sld 4R1axiR =l gL Al siagdlL ad) A,

(A) 1,243 (B) {A 2 ¥ 3 (C) "L 1 241 3 (D) " 1 244 2

euRd-l 2ol v (Ao Al sl sy [ g o ?

(A) A2ull Yari Agu-l Arastd ouetd sitemi e Gedv, scumi 2144 6.

(B) d2ell vari ueu-l Hed tuoid siwRrui [Rea s3¢ Al

(C) vitnzel Ran adean A2ell 2uysdid sueui 217 515 1509 [(Angls We [Ny 52 8.

(D) BuRisd W4l 518 Adl.

QURAL Ui (A9l D2 Wl 53 / sul [dan / [Qanl 2 /i 6 ?

1. MRAG WA 15 AUH 2 5 210 LR o1y .

2. qunil ueurll crstd YARA sa1 W2 o{niel Aue wf5d 52 9.

3. Y24 e caaral-i [aui 0guld siSuR ouotd Al 2019 A yaq 12 Hisdl as o,

(A) 1,243 (B) {A 2 ¥ 3 (C) ™A 1244 3 (D) H=A 3
MR GiEIRELAL SqUHIAL 28 “GRls =ua’ ) sdras CIRTR
(A) UM, 2 YA 851

(B) H¥d 851 i A%u-llld-i Holeads Reaidl
(C) 2uymi 21 Apu-lld- Hioleels Rtaial
(D) BuRlSsd aHIM

A1 UL s [Qairl GuRdH tiRRIME B $AUHT HAA YN $2L (AU €9 ?

1. alRs, welis 219 cuudla Al aan e vigarl cuaqu-d gl s,

2. 6 audl 14 axl YAl au-u cunsia [QlEd s:ai.

3. [t uineRsaru Rieaidia G »uug.

(A) {2 1 244 2 (B) HAA 2 ¥ 3 (C)HAA 121 3 (D) 1,24 3

A2l W) sul 204269¢ Srei2-u Guaiadl Ao 52 69 ?

(A) x4249¢ 21 (B) »13269¢ 17 (C) x4249¢ 22 (D) x14249¢ 23

P 75% (32024141 19 60d © 214 Q 80% (32021 12 6UA ©. dl 25 % B2-itg Al 52l auid, S2a
251 [Zuiiui datl uRuR (G121 et 204 d-l qcua-u ¢ ?

(A) 5% (B) 15%

(C) 35% (D) BuRisd U4l i -l
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145.

146.

147.

148.

149.

150.

151.

Which of the following statements are correct regarding Ashok Mehta Committee recommendations
on panchayat raj system?

1. The nyaya panchayats should be kept as separate bodies from that of development of
panchayats.

2. There should be an official participation of political parties at all levels of panchayat elections.
3. The nyaya panchayats should be presided over by a qualified judge.
(A)1,2and3 (B) 2 and 3 only (C) 1and 3 only (D) 1 and 2 only

Which of the following statements is correct regarding Election Commission of India?
(A) The Constitution clearly mentioned the qualifications of the members of the Election Commission.
(B) The Constitution has not specified the term of the members of Election Commission.

(C) The Constitution has debarred the retiring election commissioners from any further
appointment by the government.

(D) None of the above

Which of the following statements is/are correct regarding Finance Commission of India?
1. The Finance Commission of India consists of a chairman and 5 other members.

2. The constitution authorizes the Parliament to determine the qualification of members of the
commission.

3. The President can refer any matter to the finance commission in the interest of sound
finance system.

(A)1,2and3 (B) 2 and 3 only
(C)1and 3 only (D) 3 only

‘Economic Justice’ as one of the objectives of the Indian Constitution has been provided in
(A) The Preamble and the Fundamental Rights

(B) The Fundamental Rights and the Directive Principles of State policy

(C) The Preamble and the Directive Principles of State Policy

(D) All of the above

Which of the following statements is part of fundamental duties enshrined in the Indian
Constitution?

1. To promote religious, regional and linguistic harmony and spirit of common brotherhood.
2. To educate children between the age of 6 and 14.

3. To promote secular principles.

(A) 1 and 2 only (B) 2 and 3 only

(C) 1and 3 only (D)1,2and 3

Which of the following Articles provides the right of access to the Internet?
(A) Article 21 (B) Article 17 (C) Article 22 (D) Article 23

P speaks truth in 75% cases and Q in 80% of cases. In what percentage of cases are they likely to
contradict each other, narrating the same incident?

(A) 5% (B) 15%
(C) 35% (D) None of the above

[CSP-1] rro. I
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152.

153.

154.

155.

156.

157.

s 8 AL deudi uuaqal aud- 2wl s s dlan, aiell 2104 i el 2l Ad 21aumi
2l 69 5 2l ucls AsHiAl €25 AW ML 01D Sl 8d d AHAAA S AL AL o 215 1Rull 2 4L
Aol AHEL oAl 2ud 9. dl %+ 2is el Audl a1l 2udl Sld dal S2al Al AHEA 87

(A)2 (B) 4

(C)8 (D) BuRisd U4l 51 )

BAUMIL: P,Q, R, S, T2 U o tig A2 Udl2l 4R1ad §301 215 aduusia 2614 U i Hi2 6§ 6. 3 U4
R, S2d T Y3ul 8 2R P, Q 21 U 1Al 8. 24 $26141 2 [Udl, 2 Hidl 1 ausS -8+l 215 A3 (pair
of siblings) €. guldaliui-l ucls ue visolloa-dl A clstL 6. A YUl WA 6lsL 89, % WA 12 uRL

A4 9. U TAyAaag & 2 d d-l siell dzg oflon 2euq 61dl ©. U L Yol delll siell dg oflan 2enq
A8l 9. dl U i ula-l 310ll azs oflog 2enq sia 6§ 97

(A)P (B) R»aaL S

(C) P2xaaL Q (D) BuRisd U4l 51 )

A ‘Q’ ued x’; R¥2d ‘—*; T¥2d “+” il W 224 ‘“+’; dl 20R12T4QB6W5 g yeu 324 uel ?
(A)-3 (B) 7

(C) 17 (D) BURisd U4l 41 1l

25 09153 6 AR, 1970 U [ A o=+l gdl. dl d-l o= [2au 3l AduR su1 Qi 2uasl ?
(A) 1981 (B) 1986

(C) 1988 (D) BuRisd U4l 51 1l

(M2l 156-160 W2 [Ag2l ) : DA ustsl s1yds 2ea1 530 ugli-u G 2uui:

w2l [Qo1d (31 armHi)
ay WML | udeL 2 ol Al Uy EEEE]]
uRasA, UL
1998 288 98 3.00 23.4 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98

241 aHRRUoUHL Sl uldan s2¢ AR oy ysy ?

(A) 3L 32.43 Ay (B) 31. 33.72 e

(C) 3L. 34.18 cwnt (D) 3L. 36.66 At

SUAl2A 24 AHAIUVUHE Y5AA SA GUAA DU AHAUVUHL Y5AA §A WU AUAR 52l 251 €9 ?
(A) 0.1% (B) 0.5%

(C) 1% (D) BuRisd U4l i -l
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152.

153.

154.

155.

156.

157.

The three pairs of opposite faces of a cube of edge 8 cm are painted with three different colors
namely green, blue and red, with both the faces in each pair printed with the same colour. Now the
cube is cut into smaller and identical cube of edge 2 cm each. What is the number of smaller cubes
that do not have any of the faces painted?

(A)2 (B) 4
(©) 8 (D) None of the above

Six members of a family of three generations, P, Q, R, S, T and U are sitting around a circular
table for dinner. R, S and T are males whereas P, Q and U are females. In the family, there are two
fathers, 2 mothers and a pair of siblings. The members of each of the couples are sitting opposite
to each other. All the three males are sitting together, the same is true for the females. U is the
daughter-in-law of T and is sitting second to his left. The daughter of U is sitting second to her left.
Who is sitting second to the left of the husband of U?

(A)P (B) Either Ror S
(C) Either Por Q (D) None of the above

If ‘Q’ denotes ‘x’ ; R denotes ‘-’; T denotes ‘=" and W denotes ‘+’, then what will be value of
20R12T4Q6WS5 ?

(A)-3 B)7
(C) 17 (D) None of the above

A girl was born on September 6, 1970 which happened to be a Sunday. Then in which year her
birthday would have fallen again on Sunday ?

(A) 1981 (B) 1986
(C) 1988 (D) None of the above

(Instructions for Questions 156-160) : Study the table carefully and answer the questions:

Details of Expenditure (In Rs. lakhs)
Year Salary Fuel and Bonus Interest on Taxes
Transport Loans
1998 288 98 3.00 234 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98

What is the average amount of interest per year which the company had to pay during this period?
(A) Rs. 32.43 lakhs (B) Rs. 33.72 lakhs
(C) Rs. 34.18 lakhs (D) Rs.36.66 lakhs

The total amount of bonus paid by the company during the given period is approximately what
percent of the total amount of salary paid during this period?

(A) 0.1% (B) 0.5%
(©) 1% (D) None of the above

[CSP-1] rro. 1
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158.

159.

160.

161.

162.

163.

199841 AHIH 6ULoLdL U+l WA 2002 Hi 2AA & WAL AR 5212506 ?

(A) 62% (B) 66% (C) 69% (D) 71%
ar] 2000 Hi SU-l-l 20 dHIM buotdl UR $Q w2 s2al € ?

(A) 3L 544.44 vy (B) 3L. 501.44

(C) 3L 446.44 crwt (D) 3L. 478.44 cwt

AHIH QN 542U UR 534 58 1 dAL AR 24 URAS UR 534 & WAL JRITR 2R 524l 6 ?

(A 4:7 (B) 10 : 13 (C)15: 18 (D) 13 : 20

Y Y

218l 215 WL 2 AR Al 2 8. diR B A58l s2a1d 8 5 54/ suL [t / [l d waidl gt

UYL YU .
UL x 4 jeu s2g 97
([Qennl :

l.2xyz+6y—-8z+5=0,2=2

1.y =+225-116

I.4xyz-6z+8y-7=0,2=3
(A) 1 2154 21aq 11 s vala 8
(B) 1 1A 11 24ac | 244 11 yaird 69,
(C) 11 254 yuld &

(D) BuRisd U4l 51 <l

NP

80 A -l 2is welldl vigid: MRid e ousiRul 30 AL Bl 248 aion Al welld 2q42 x A
g2d Al 8. dl x 4 yeu 524 sal?
(A) 22.5cm (B) 25.5cm

(C) 28.5cm (D) HURL 2192 €9,

215 WAHL 6 UL M 243 N 2 72 5 1L i 8. o dxidll 9 (@22 uadl siél ad dag o N v
2Ud, dl M 21 N AL RITR 7 : 9 61 69, dl A32AUAME d WAHI 52al (@22 uadl M el ?
(A) 15 (B) 21

(C) 25 (D) BuRisd U4l 51 1l
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158. Total expenditure on all these items in 1998 was approximately what percent of the total expenditure
in 20027

(A) 62% (B) 66% (C) 69% (D) 71%

159. The total expenditure of the company over these items during the year 2000 is?
(A) Rs. 544.44 lakhs (B) Rs. 501.44 lakhs
(C) Rs. 446.44 lakhs (D) Rs. 478.44 lakhs

160. The ratio between the total expenditure on taxes for all the years and the total expenditure on fuel

and transport for all the years respectively is approximately

(A)4:7 (B)10: 13

(C)15:18 (D) 13:20
161. Here, a question and 3 statements are given. You have to decide which statement/statements are

sufficient to answer the question:

Que : What is the value of x?

Statements :

l.2xyz+6y—-8z+5=0,2=2

1.y =+225-+116

. 4xyz-6z+8y-7=0,2=3

(A) Either I alone or III alone is sufficient.

(B) Either I and II or I and III are sufficient.

(C) III alone is sufficient.

(D) None of the above.

162. By dropping a sphere of 30 cm radius into a cylindrical vessel of 80 cm diameter which is partly

filled with water, its water level rises by x cm. Then what would be value of x?
(A)22.5cm (B) 25.5cm
(C)28.5cm (D) data inadequate

163. A container has a mixture of two liquids M and N in the ratio 7 : 5. When 9 litres of mixture are
drawn off and the container is filled with N, the ratio of M and N becomes 7 : 9. How many litres

of liquid M was there in the container initially?
(A) 15 (B) 21
(C) 25 (D) None of these

[CSP-1] rro. EH
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164.

165.

166.

167.

168.

169.

(164-166) Wluil, el 211 aud - AR €31, 1, 2 244 3 {612 20Ul 12 UAME (AL sHHE 81 d 33
Aofl) YsAHi 20AUR . A% Bl J, K 21 L U4 €35 20 olsasll (gl of [ 2ud 8, Buidd »1s 3
2§11 s Wil .

du- [QtuHl 2 Yoo 8

J:flonl €81 48l 2 Ml Al cue g3l Ul 1 Hi 69,

K : flowl €31 U2l 3 wi el. dlal e51udl 2 i 9.

L:cdlal esiudl 31 8. e €31 UEl 1 wi e,

a1 ui .

(A) Q4 €31 (B) luii g3l (C) dlai g3l (D) -155] 53] as Al
Yla €31 Ui o,

(A) 44l 1 (B) Wl 2 (C)udl 3 (D) Uél 2 ;aaL 4l 3

oA 2uu8l K gL 20 oflf [Qtun a0l 214 del 2udg usy [danq ) Wl dl susll ardid

WA sdi 524l ausanil aga il ?
(A) 3 (B) 4 (C)5 (D) BuRisd U4 518 <l

-

(R us 167-171) A1 ugiiui 2i5/61 [Qand 244 d-l 12 6L diRel i 2iean 8, dHHl -yds
weA 530 ariRl [Aseu 21 yaroL 2uul —

(A) A WA ARRL | (A A g2 8

(B) % Huot cieL 1 [t A gl 8

(C) A tirl AR | 24 iRl 1 (A8, 24342 ¢

(D) %A bid iR 1 5 iR 11 UL sty [ A1 2l

aa 0

[Qann : yausn FuA ol cuazandll e Adl Sid d2HE gHAL MO & 2R BFUA Al aazenell cum 2y
d2UHl 2L Grusau A5l Wi 8. (4)

QIELET

. 21 ol caazendll S1UEL WA €9 duill YIRS AR €.

11, B4 Adl aqend) S1UEL A 8 AVl Y151 AR L.

[Qeunt : e Aeel 0gulda itz s S2dws ol sl AU sla Y. (D)
dlRel :

1. u82uld A Hi2l ¢RI S1AL SR 6,

11 02ufd HisL AUE AeRUL o s1ul 52 69,

[t 2 32l arg il 248 e suHi 20d ©. AH-d WRAA d vlear W ugll aur Wi 8. (D)
SIETE

I A L WA ag il wiledl A,

1. el Y34 gl SHa Audl Siu 6.
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164.

165.

166.

167.

168.

169.

(164-166) 3 balls, colored Yellow, Green and Red each are to be put in one of the three boxes numbered
1, 2and 3 (not necessarily in the same order). Three friends J, K and L make 2 statements each about
the arrangement of the balls in the boxes, one of which is true and the other is false.

Their statements are as follows:

J : The Yellow Ball is not in Box 2. The Red ball is in Box 1

K : The Yellow Ball is not in Box 3. The Green ball is in Box 2
L : The Green ball is in Box 3. The Red ball is not in Box 1

Box 1 contains
(A) Red Ball (B) Yellow Ball

(C) Green Ball (D) Cannot be determined
The Yellow Ball is in

(A) Box 1 (B) Box 2

(C)Box 3 (D) Either Box 2 or Box 3

If we ignore the second statement made by K and consider the first statement made by him to be
true, then how many possible arrangements can we have following the remaining conditions?

(A)3 (B)4
(©)5 (D) None of the above

(Instructions for 167-171) The following questions have one/two statements followed by two
conclusions. Read and understand them carefully and then select your answer option as given
below.

(A) If only I alone follows the statement(s)
(B) If only 11 alone follows the statement(s)
(C) If both I and 11 follow the statement(s)

(D) If neither I nor 11 follows the statement(s)

Statement: The reformer has enemies in all those who profit by the old order and only lukewarm
defenders in all those who would profit from the new order. (A)

Conclusions:
I. Those benefited by old order are the foes of the reformer.
II. The ones who benefit from new order are not the enemies of the reformer.

Statement: There are certain other functions which the President is required to perform under the
Constitution in relation to the Parliament. (D)

Conclusions:
I. The President performs most of the functions of the Parliament.
I1. Itis only the Parliament in relation to which the President can function.

Statements: Antiques are displayed in an exhibition. It costs a common man too much for its
purchase. (D)

Conclusions:
I. Common man doesn’t purchase antiques.
I1. Exhibited products are always costly.
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sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight


170.

171.

172.

173.

174.

175.

176.

[t : drgaui [zl 4dl ur (332 du-u neel-ni Yl aul ©.
aiel:  (B)

I. 20uG-) 214l [Agani 21l avd gam 4 edl.

1. [Qe ol Ha adl Yesa Sl .

(At @ GURAHE AHIH o a8l 5[ Geauelni vigdidl sia 8.

diel: (D)

I. UL 80% vigel Wi 1 85232l 2Aledl ol €9,

11, Al Hlimg HEl AL sl AR Gewesal 8.

X 1 Y Al gra-ll Gur-l dgeuidR 2: 3 6. a5 ad uedl d 7 : 10 Al dl »udl 15 av ugdl d iR
sedlagl ?

(A)3:4 (B)3:5

(C)4:5 (D) Bulsd U4l i )

S S

‘s ofl A3 Addl Al AL 5 YRUSIAL UHIAR HEAS ‘@’ 8. dl s + 2 2l A3 Adi Add 2UAAL 9 YRS AHIdR
ey sedl w9l ?

(A)a+2 (B)a+3

(C)a+4 (D) BuRsd U4 518 1l

A Al su-dl-i uin Gu uypii-i MRS wouRd [Aedwa sy, el uouR-L 21531 Yaus Qrni 6. uouR-L

LSS HEAS A HEARY, 3L 5 AL E9 AL d-l V5HIA tigas 3. 8 a9, »uual [Aseul WA sul [aseu
HETH A QAN UAUR (3L QUMDY AR eld €9 ?

(A) 7 (B) 8 et

(C) 9 cumt (D) BuRisd U4l i 1l

(35t ABC i D, E %t F 24 21354 AB, AC 11l BC L HR[Gig il 8. P, Q 244 R % DE, DF %11 EF
W NG B, dl st PQR i uuidRouy Adrsial ADFE UL &A50-l Rl s2el ugl ?
(A)1:8 B)1:2

(C)1:3 (D) Gulsd U4 i ]

A2 2 2uglani, anlgensy Bisiat ABE o @iasn 72 Al A, BE =AB 11 AB=2AD, AE || DC 8,
dl uudeL Aqrsial ABCD o &Asn 524 82l ?

A D
]
B E C
(A) 136 L Al (B) 144 i a4l
(C) 154 Al A (D) BuRisd U4l i 1l
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170.

171.

172.

173.

174.

175.

176.

Statement: The Cricket team’s performance on foreign soil has improved recently.
Conclusions: (B)
I. The previous teams were not very proficient while playing overseas.

II. It’s difficult to win matches overseas.

Statement: Farmers throughout India have their hand in increased agricultural production.
Conclusions: (D)

I. 80% of the Indian Farmers has land less than one hectare.

I1. There is more productivity in smaller lands than larger lands.

The ratio of the ages of X and Y at present is 2 : 3. After 5 years the ratio will become 7 : 10.
Then what will be the ratio after 15 years from now?

(A)3:4 (B)3:5
(©4:5 (D) None of the above

The arithmetic mean of the 5 consecutive integers starting with ‘s’ is ‘a’. What is the arithmetic
mean of 9 consecutive integers that start with s + 2?

(A)a+2 (B)a+3
(Ca+4 (D) None of the above

Ramesh analyzed the monthly salary figures of five vice presidents of his company. All the salary
figures are in integer lakhs. The mean and the median salary figures are Rs. 5 lakhs, and the only
mode is Rs 8 lakhs. Which of the options below is the sum (in Rs. lakhs) of the highest and the
lowest salaries?

(A) 7 lakh (B) 8 lakh
(C) 9 lakh (D) None of the above

In triangle ABC, D, E and F are mid points of AB, AC and BC respectively. P, Q and R are mid
points of DE, DF and EF. What is the ratio of area of triangle PQR to that of parallelogram
ADFE?

(A)1:8 B)1:2
C©1:3 (D) None of the above

In the given figure, area of isosceles triangle ABE is 72 sq cm, BE =AB and AB =2 AD, AE || DC,
then what is the area of the trapezium ABCD?

A D
]
B E C
(A) 136 sq cm (B) 144 sg cm
(C) 154 sqcm (D) None of the above

[CSP-1] PTO. KUY
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* H

178.

179.

180.

181.

182.

(U8l : 177-180) %EL %EL UL Ald LAlsA- aud, «uoll, dlul, dlal, s, aeoll 244 Qlal — 245 Gur
Vg YsUHl UL, B d U sHUL Yia i d ¢33 el udls ellsu A 101, 121, 151, 191, 231, 221
21 225 VUH 1AL AQIL 1012 UL 9, B o o sHHL 81U d %33 el dlew T sllsU 2 221 Ho1R0
otlsArl 922 Wist 03 tllsA HSAL 69, Alal 1L ol i L0l o1 GllsU QA o sllsA AL 69, ol
301, ells 221 wioiR-L el 1A 515 354G 8. Ul ot el s 2 121 AR ellsA- 923 1zt 01
OLSA HSAL 9. 10U 331 GllsA 225 e+ ollsUAL dRd {1 241 221 A1 elisull drd GuR 434 6.
10U 32U GULSA 2GS 1612 101 A2 HIA L5 65 8. S101L F9U-L bl U -2 191 § 231 -l
151 it ol sA 21 g vl 1AL llsU QA HIAL oL ellsA 69, Aevfl Toim ollsA 21 d-ll dd 1A ysa
ollsA AU 1612 QAL dslad 80 sl il 69, dlou o elisu ALl Guz «efl, Ylou ot elisusl
612 121 <), dlou 2911 GlL5A A QLA 201 IS, AR HIAL 02 tlLsU YSAL 69,

A2 2udal wR [Aseul WA siS AR 2is AlssA Sd AwU 6 24 245 Ay oi-id 8. d WA sul [Aseu d
AHSHL Ul 9l ?

(A) U0 T vilsu 121 (B) Wlou 3o vilsu 191

(C) cia 2o ol 231 (D) swu o1 tilsA 101

U] olisul dusauilug dlan o olisu-Al Rald 59 €97

(A) Guadl uan (B) Al 6lof

(C) Guzdll g (D) BuRisd U4 518 1l

{12 U4 51 olisAA 412 231 2uua €9 ?

(A) anedll SREN (C) A (D) Nlel
S101L 2011 GlLS, AL 121 o1 il a2 Sed) ellsu ysaL e ?

(A) s (B) 4l

(C) ARl (D) AR Sl AR

A2 2uudl 2ugldni AB || CD || EF, PQ || RS, ZRQD = 25° 21 Z/CQP = 60°, di ZQRS 4 H&
524 ual ?

v

—— >
L

F
yP T
(A) 125° (B) 130°
(C) 135° (D) BuRisd U4l 51 )

-

oA 6L 4L YRS p 2l g HI2 p = g Sl dl 1A WS 53y [Atun ue 87

] ® 1> pg
©) pT-i-q <Jpa (D) dH1M A1 ¢
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177.

178.

179.

180.

181.

182.

(Que: 177-180) Seven boxes of different colours - Red, Orange, Yellow, Green, Black, Blue and
Indigo are kept one above the other, but not necessarily in the same order. Each box is given a
different number viz. 101,121,151,191,231,221 and 225, but not necessarily in the same order. Only
three boxes are kept between Indigo coloured box and box number 221. Only two boxes are kept
between Indigo coloured box and Orange coloured box. Orange coloured box is kept somewhere
below box number 221. Only one box is kept between Orange coloured box and the box number
121. Black coloured box is kept immediately below the box humber 225 and immediately above
box number 221. There is only one box between Black coloured box and the box number 101.
The number given to Black coloured box is neither 191 nor 231. Only two boxes are kept between
box number 151 and Blue coloured box. The difference between Blue coloured box and the box
immediately below it is less than 80. Yellow coloured box is not the topmost box. Yellow coloured
box number is not 121. Only two boxes are kept between Yellow coloured box and Red coloured box.

Three of the following four are alike in a certain way and hence form a group. Which of the
following does not belong to the group?

(A) Orange coloured box 121 (B) Yellow coloured box 191
(C) Red coloured box 231 (D) Black coloured box 101
What is the position of Green colour box in the given stack of boxes?

(A) First from Top (B) Second from bottom
(C) Fourth from Top (D) None of the above
Which of the following coloured boxes is numbered 2317

(A) Blue (B) Orange

(C) Red (D) Indigo

How many boxes are kept between Black colour box and Box number 1217?
(A) one (B) two

(C) three (D) more than three

In the figure, if AB || CD || EF, PQ || RS, ZRQD = 25° and ZCQP = 60°, then what is the value of
ZQRS?

S
A R B

&
< >

C  Q25° D

60° .
E F

r N

v

¥ P
(A) 125° (B) 130°
(C) 135° (D) None of the above
If for two positive integers p and g, p # g then which of the following statement is true?
+ +
A £ =pg ® ">
(© pT-I-q <.\/Pq (D) All are true

[CSP-1] rro. EJ
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183.

184.

185.

186.

187.

188.

189.

190.

191.

192.

8L YRITSL (X, y) M 4X — 17y = 1 311 x < 1000 Si dl y U 32¢1 Yails yeul 20l adl ulRyel 529 ?

(A) 56 (B) 57 (C)58 (D) 59
X+]y| =8, x| +y=6.dlx, y-l 52dl Adl2il 21 6l wllsql G5a el ?

(A0 B)1 (©)2 (D) 4

225 a3 [deuosy giu 2idl Wm0 214 1 visiell stell Avaini e 211690 Sec »isl sal ?
(A) 4 (B) 7 (C)9 (D) 11

oA 3243 - 244(3) = — 9 iU dll 12 WS 5y (A A1 6 ?

(A) X ¥ 8 {va 89 (B) x ¥4 8L vl €9,

(C) x 8t 2Aacu 8L US| sidur 8IS a5 (D) BuRisd U4 518 1l

25 oS5l 51 31 96,000 6. d-l [EHaHi udan adl 3006 F2¢ Haneu A B v ARSI €35
A+l a32ud-ll [BHa- 20% Beg Aaq@ A 8. dl eud sl e adl uedl-l (31 2l a9l ?

(A) 3L. 43,008 (B) 3L 48,000
(C) 3. 52,018 (D) BuRlisd U4 518 1l

‘ASSISTANT’ 26eHil 315 2182 241 ‘STATISTICS’ Ase il 6flofl 315 A& A9 d AALHi 2ud 69,
dl A2l AU % 218121 81 d-ll Henaq sedl ?

(A) 23/90 (B) 7/30
(C) 19/90 (D) BuRisd U4l 51 ]
) Al [3ud 2096 ataid A8 208 Al3d del QuAA 20% F2dl 8213 8. di AL WS d-il WM S2dl 251
g213l w9l ?
(A) 2% (B) 4%
(C) 6% (D) BuRisd U4l 51 1l
5 el 15 A2 alzun-u siel azd-l vl Sedl ¢ai?
1° 1o
(A) 58— (B) 62-
(C) 68%0 (D) BuRisd U4l 41 1l

25 argrll [3HAME 3006 B2el AHIRL SRANL B 8 2 AURGUE d-ll UR 1096 L 6] Add ANAR UK
204 69, dl 2id 1 gl [3Hd...

(A) 10% asl (B) 5% ansl

(C) 3.3% ausl (D) BuRisd U4l 51 )

s o siduRL A5t (G- w39 70 Bal/scausl 33U Alssu 2id S48 24 A0 A8 d AL idR
50 [33fl/scns-l 33U s14 8. di d uld ses Sedl any ALY ol ?

(A) 16.84 [A[72 (B) 17.14 [MlA2

(C) 18.64 [M[a2 (D) 19.14 [@[a2
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183.

184.

185.

186.

187.

188.

189.

190.

191.

192.

For the given pair (X, y) of positive integers, such that 4x — 17y = 1 and x < 1000, how many integer
values of y satisfy the given conditions?

(A) 56 (B) 57

(C) 58 (D) 59

X +|y| =8, [x| + y = 6. How many pairs of X, y satisfy these two equations?
(A)0 B)1

(€)2 (D) 4

What is the least number of digits in the number formed from only digits 0 and 1 such that the
number is divisible by 225?

(A) 4 (B) 7 ©)9 (D) 11

If 32x+3— 244(3%) = — 9, then which of the following statements is true?
(A) x is a positive number (B) x is a negative number
(C) x can be either positive or negative number (D) None of the above

A bike costs Rs. 96,000. Its value depreciates by 30% in the first year and in each subsequent
year the depreciation is 20% of the value at the beginning of that year. The value of the bike after
3 years will be

(A) Rs. 43,008 (B) Rs. 48,000
(C) Rs. 52,018 (D) None of the above

A letter is taken out at random from ‘ASSISTANT’ and another is taken out from ‘STATISTICS’.
The probability that they are the same letters is

(A) 23/90 (B) 7/30
(C) 19/90 (D) None of the above

The price of tea being increased by 20%, a man reduces his consumption by 20%. By how much
percent will his expenses for tea be decreased?

(A) 2% (B) 4%

(C) 6% (D) None of the above

At what angle the hands of a clock are inclined at 15 minutes past 5?
1° 10

A) 58— B) 62—

(A) 58 (B) 62

© 68% (D) None of the above

The price of an article is raised by 30% and then two successive discounts of 10% each are allowed.
Ultimately the price of the article is.....

(A) increased by 10% (B) increased by 5%
(C) increased by 3.3% (D) None of the above

A bus can travel certain distance without any stoppage at an average speed of 70 km/hr and with
stoppage it covers the same distance at 50 km/hr. What is the stoppage time per hour ?

(A) 16.84 minutes (B) 17.14 minutes
(C) 18.64 minutes (D) 19.14 minutes

[CSP-1] rro. 4
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193.

194.

195.

196.

197.

198.

199.

200.

Y

oA 112 24 33 ), i vl a x 43 x 62 x 1311 L HaUdl Sld dl, ‘@’ § 4YdH Y& 52¢ su'?
(A) 33 (B) 363
(C) 121 (D) 3267

Vs AHY AvAIL 9€ d-ll 19 5dl 3 F2dl AR 9. %A A 7 F2dl AWML 2Ud A, 98 1 B2dl
g213cMl 2d, dl Adl AvaL 3/2 61 €9, dl Yo AvAL 58 <A ?
(A) 8/11 (B) 10/13

(C) 14/17 (D) BuRisd U4 518 ]

215 LA deus-l [A2ta [Bauni Alssu 2idR studl 6 saus 30 MRz ol 8, aa del nasHl [Bauni d2g
of p{dR $1UAL 3 55 AL B, dl ugsH S 38U 24 Uil UL Rl Seel Al ?

(A)21:5 (B)19:7

(C)11:3 (D) BuRisd U4l 51 1l

Yol (Bud d-ll Bzt @l 8 auusemi ad 6. A 6 4 B Don-dl (51d 31 800 €iv, dl 11
S dlost-l [Bud 125l yails ivaini sedl 9l ?

(A) 3L. 1,467 (B) 3L 2,689

(C) 31. 3,287 (D) Buisd U4 518 ]

-\

215 dUVUSIR £31MiEl 6l AU AUAL trtaUHL 219 8, oA €35 (Ll as AWl A5 56.57 Al Al Sl
dl d dUousIR g3l ursn 524 A? [r = 3.14]

(A) 107.04 cm?3 (B) 109.04 cm3

(C) 113.04 cm3 (D) BuRlisd U4 518 1l

ABCD 15 A1, Agb51L 69, B AB || CD, AD L DC, AB = 20 cm, BC = 13 cm 11 DC = 25 cm 8.
dl 21 uuoL Agesiang AAsn 524 aa?

(A) 232 cm? (B) 270 cm?

(C) 354 cm? (D) BuRisd U4l 51 <l

s al3unHl saus sicl v ugdl 75° $3 69, di al3unnl qHy
(A) 14 seus (B) 14:30 seus
(C) 15 seus (D) BuRisd U4l i 1l

3300

[Qain : g sunst duqu enu-dl ggraran eRU 51129 A d 2 dH- steldl FUGELR st A ?
gdlal :

1. 2udl ouotdl $5d 1461 gIL Y G5l asiu,

1. 8L, Aot JoenuA 241 3d % 595 Asd HNEL.

(A) 55d edled | Hogtyd €. (B) $5d eclla 11 Mgty 8.

(C) ecla | 2Aaa 1 Hyoid 8. (D) el I 5 11 Q4L 515 nogoid -l
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193.

194.

195.

196.

197.

198.

199.

200.

If both 112 and 32 are factors of the number a x 43 x 62 x 1311, then what is the smallest possible
value of ‘a’?

(A) 33 (B) 363
(C)121 (D) 3267
The denominator of a rational number is greater than its numerator by 3. If the numerator is

increased by 7 and the denominator is decreased by 1, the new number becomes 3/2. What is the
original number?

(A) 8/11 (B) 10/13
(C) 14/17 (D) None of the above

A boat running upstream takes 6 hours 30 minutes to cover a certain distance, while it takes
3 hours to cover the same distance running downstream. What is the ratio between the speed of
the boat and speed of the water current, respectively?

(A)21:5 (B)19:7
(C©)11:3 (D) None of the above

The cost of a pizza varies directly as the square of its radius. If a pizza with a 6 inch radius costs
Rs. 800, how much should a pizza with an 11 inch radius cost in nearest round figure?

(A) Rs. 1,467 (B) Rs. 2,689
(C) Rs. 3,287 (D) None of the above

A spherical ball is divided into two equal halves. If the curved surface area of each half is
56.57 cm?, then what is the volume of the spherical ball? [r = 3.14]

(A) 107.04 cm3 (B) 109.04 cm3
(C) 113.04 cm? (D) None of the above

ABCD is a trapezium in which AB || CD, AD L DC, AB = 20 cm, BC = 13 cm and DC = 25 cm.
What is the area of the trapezium?

(A) 232 cm? (B) 270 cm?

(C) 354 cm? (D) None of the above

The hour-hand of a clock moved 75° just after midday. The time in the clock was :
(A) 14 hours (B) 14:30 hours

(C) 15 hours (D) None of the above

Statement: Should children be legally made responsible to take care of their parents during their
old age?

Arguments:

I. Such matter can only be solved by legal means.

I1. Yes. Only this will bring some relief to poor parents.

(A) Only argument | is strong (B) Only argument 11 is strong

(C) Either I or 11 is strong (D) Neither I nor 11 is strong

[CSP-1] rro. [H
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001.

002.

003.

004.

00s.

006.

007.

A WA 56 daaly o R MIRd A1 ARAUT Adld Vdll GAug, Weils 2 612R
(s 2 Axdlu vidl w2 andlu i se-l xua sul ?

(A) al uler-u (B) gl uios-it
(C) [ uior-u (D) Buisd U4 i ]

N8R &AL YR 21 [A[Rda (disinvestment) tuoid DA WS suu [Qai-il i 8 ?
1. ueoll s3eu e astiql AsHin AR daa [QRda-) uan el edl.

R Aol BisHl virRll &l Su-ld daa [ARgqadl olleo yeald sdl.

3. uan utsld 1991-92 ¢ 1998-99 -1l uHUULU £1A GuaiaMi dauHi 2udl gdl.
4. ol ytald 1999-2000 2l 2003-04 1 AMARNVU s34, GUALRLHE Al 2ud) dl.
(A)1,2,3 41 4 (B) WAt 2, 3 ¥ 4

(C) WA 1,2 ¢ 4 (D) WsL 1 244 3

N

2uAel ydei cud-dl Dl WS 5§ ol un usi usaldui ol wudya-dl ysanllui aua oum x1s
254 ddls oRH 2iad 8d ?

(A) @Il utald (B) ustacu] ueald

(C) 2udcus) usald (D) seistn-l yran ueald

NSSO L curvur Hagor A WS 56 eiioul-l [Aruan ol ?

(A) A1y, R4 siRiorousl (B) tiizulHl adui aalds Rala
(C) RN adm BAs Rala (D) RN admi Hlas Rl
CIRAME UM 2AQ A s YrRriwi Al 9.

1. YRasl wnasll cuaaun a3 A5 siqidlls Radlsa (Macroeconomic Stabilization as Supply-
side Management)

2. YRasl wluas caqauA agls Jmeiold YHRL (Structural Reforms as Supply-side Management)
3. uidtyindel adzan dds 2ulls auaio (Fiscal adjustment as demand-side adjustment)

(A) H1A 1 44 2 (B) WA 2 ¢4 3

(C) WA 121 3 (D) 1,2 ¢4 3

A2 WA s [l i 69 ?

1. GURAH] UiR2 2 Jad ui2 sl 2L 8.

2. URAHI G52 U2 2l ay 8.

3. GHIRAHI AS3 HUHA IYRITR (Cash Reserve Ratio) JUIR2 52l A9l 9.

(A) 1,223 (B) H1AA 1 244 3

(C) Wat 1 241 2 (D) WA 2 ¢4 3

a5 w4 of Sidl AL,

(A) [Rulaaus (Elastic) (B) BilRaldzanus (Inelastic)
(C) Y (Rigid) (D) 34U (Constant)
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001. During which of the following Five-Year Plans did the government of India implement the National
Project on organic farming for production, promotion, market development of organic farming in

India?
(A) Ninth Plan (B) Tenth Plan
(C) Eleventh Plan (D) None of the above

002. Which of the following statements are correct regarding the Public Sector reforms and
disinvestment?

1. The first method of disinvestment was selling of shares in select PSUs

2. The second method of disinvestment was sale of PSU to a private sector company
3. The first method was used over the period 1991-92 to 1998-99

4. The second method was used over the period 1999-2000 to 2003-04

(A)1,2,3 and 4 (B) 2,3 and 4 only

(C) 1,2 and 4 only (D) 1 and 3 only

003. In which of the following land tenure systems in pre-independent India the whole village was
treated as a unit for payment of land revenue?

(A) Zamindari System (B) Mahalwari System
(C) Ryotwari System (D) Security of Tenure System

004. Which of the following is not a concept of unemployment as per definition of NSSO?
(A) Usual Status Unemployment
(B) Current Weekly Status of Unemployment
(C) Current Daily Status of Unemployment
(D) Current Monthly Status of Unemployment

005. New Economic Reforms initiated in India consisted of
1. Macroeconomic stabilization as supply-side management
2. Structural Reforms as supply-side management
3. Fiscal adjustment as demand-side adjustment
(A) 1 and 2 only (B) 2 and 3 only
(C) 1 and 3 only (D)1,2and 3

006. Which of the following statements are correct?
1. Repo Rate is less than Reverse Repo Rate in India.
2. Bank Rate is more than Repo Rate in India
3. Cash Reserve Ratio is less than Repo Rate in India

(A)1,2and 3 (B) 1 and 3 only

(C) 1 and 2 only (D) 2 and 3 only
007. The expenditure policy of the government must be

(A) Elastic (B) Inelastic

(O) Rigid (D) Constant

[CSP-2] rro. JEX
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008.

009.

010.

011.

012.

013.

v AUE S50 (Sterilization) 206€ gI1RL RBI Al Ae e 53 69,

(A) 2dAHi Gl NPAs Al 2134 [R3jon s2a1 w2l sia0il)

(B) teddAui [Agell As1a- ay ugedl i 2igaHi aviar v siufld

©) g vt Widl vuy (high current account deficit) A4 [Ra-fld sl sl
(D) e dAHE weusly Hiél vusA (high fiscal deficit) R sl s1008)

al vigl 3 9 [As we [Qlay saunidl ciqami 2uadl A4 4AL8L 5+ (collection centres) dZl3

Guulami Al 2uadL Sid d Als vy 9.

(A) 215 (EXIM) tigRl (B) 2Nidui2 (Entrepot) g2l
(C) W2y Uis 514 (Ports of call) (D) BuRisd U4l 51 ]
ArASAHE QR 248 6.

(A) 130 215 suA 2 A+ et sl 22l i sudlii-u A+ Buaul aal

(B) AAA 2215 AsAHl U4l aqel dxiy su-dl- - cuani asll

(C) vl3sl 225 wsuAul sudaiiqi ol sudlail afls -lasd 2ddl dwn sudlaiqn -
RUAHL QHIRL

(D) BuRisd U4 518 Al

s YRl a32id 1991 i sami 2udl 244 Rs awRami 2udl. d-l e e 2uaaui
ugl Sqell Gerdlsm sani 20,

(A) 29 3R [Bua-l wari Geug (B) 8¢ 1ol uai Gell sau-u

(C) dsN4l YaRl craa-u (D) Hidti 8213id ugifl anai-it

cudla osd 6ls 2qAR, DA UL 53 / sui Y vidiql / -n 811 6 ?
1. ousl sl s8Rl (ECB)

2. Ay [aedll A5

3. [azel widsidlal s

4. xQlas Q%@%ﬁ (Invisible goods) i A 2uLd

(A) A 1, 2 ¥A 4 (B) WA 2
(©)HA 1,2 ¢4 3 (D) 1,2,3 21 4
AR URAA 5L $A 54U UAs A1 ARITR viol GlAl Slu AR d dRs eldl o .

1. G ML QR

2. YAl Alsl UR Glal 42 oy
3. Adlel disi uR Glal 5 oo
4

s 2asHl 18l
(A) H1A 1 241 2 (B) HlA 1 241 3
(C) 1A 1, 2 ¥ 4 (D) 1A 1, 3 1A 4
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008.

009.

010.

011.

012.

013.

The term Sterilization by RBI refers to

(A) Operation to neutralize effect of high NPAs in the economy.

(B) Operation to check excess inflow of foreign investment in the economy.
(C) Operation to control high current account deficit.

(D) Operation to control effect of high fiscal deficit in the economy.

Ports which are used as collection centres where the goods are brought from different countries
for export are known as

(A) EXIM ports (B) Entrepot ports

(C) Ports of call (D) None of the above

Arise in SENSEX means

(A) A rise in prices of shares of all companies registered with Bombay Stock Exchange and its
branches.

(B) Arrise in prices of shares of all companies registered with National Stock Exchange.

(C) Arise in prices of shares of all companies belonging to group of companies registered with
Bombay Stock Exchange.

(D) None of the above.

Economic reforms were initiated in 1991 and exports stepped up, at the same time, imports were
also liberalised to

(A) Provide lower cost output

(B) Generate competition in domestic market
(C) Bring about technological upgradation
(D) Meet shortfall in demand

According to Reserve Bank of India, which of the following is/are a part of Capital Account?
1. External commercial borrowings (ECB)

2. Foreign Direct Investment

3. Foreign portfolio investment

4. Importing Invisible goods and services.

(A) 1,2 and 4 only (B) 2 only

(C) 1,2 and 3 only D) 1,2,3 and 4

When the ratio of indirect taxes to total taxation revenue is very high it leads to
1. Rise in the price level

2. Higher taxation burden on the rich

3. Higher taxation burden on the poor

4. Fall in tax revenues.

(A) 1 and 2 only (B) 1 and 3 only

(O) 1,2 and 4 only (D) 1, 3 and 4 only

[CSP-2] rro. A
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014, .o 228 ucls eani Mogagi-l A4l 245 11 Hsuddl wlel w2 218 sad aaw ol 2a-u
A4RHI uiddld 529 ul.
(A) dugarrl qddl (Balance of Payments)
(B) vlgalsa-l QSQI{dl (Purchasing Power Parity)
(C) 4R Al (Currency Equalization)

(D) Buisd U4 51 ]
015. ARl A AU UAdHIA BUlg x NAdHIA M = 2§ ARgil 2 AU, UAdHIA
Bewgn x 2R [Zud =
(A) Adlds GDP 244 Aidl1a GDP (B) “UHlHd GDP i1 Qizdlds GDP
(C) Uelds GDP 21 A58 Y& atir (D) UHIHA GDP 21 24583 Y& At

016. uwadl [ (Inclusive growth) tuotd A1 WA 53 / sui [t / Q- 00 /i & ?
1. uriadl g 354 duqi 2uldls aoid 2uui dla R g wuda 53 9.
2. uHiadl a8 alaam 2soumm-i uRNeumi siu 6.
3. uHadl al® Gang flu Ao vied 2ias [Ade u Luir 5+dld 52 9.

(A) 1,241 3 (B) WA 2 ¢4 3
(C) HAA 1 211 2 (D) {1 1

017. -l 20Ul igl-T A WEl-11 018 Al
atel-1 Qlel-11
1. 514 gl (Slowdown) a. AU 2AS udl
2. Hel (Recession) b. 2Ad=-1 [ g2ui g21dl
3. A% (Boom) ¢. LA S5 B2l
4. 134 u3g, (Meltdown) d. Ad=tL [ el atRl
(A)1-b,2-¢,3-d,4-a (B)1-2a,2-b,3-¢,4-d
(©)1-¢,2-b,3-d,4-2 (D)1-d,2-b,3-¢,4-2

018. -l U4l 56 oAl wioy {d 2Asida -l ?
(A) 2001515 51 (Excise duty) — d S1SURL dgrl Bewle AHA AuMi uadl uia 52 8.
(B) 4 atld 52 (VAT) — tidR3124 A28 U A dddl A yeu aliid s 8.
(C) (A) ¥4 (B) ti
(D) (A) ¥ (B) U4l 518 )

019. HIRAH AR 2 A 52 tuotd DA UL s (Al i 8 ?
1. A YR Wsdi aail 2 Al s Rnsla auui 1562 as o 31 40 Al 2l siu dl
A2l GSTHI H[5adl eldl 530 a3 6.
ugLél u2al 241 Griydrt AL WA Y1 WA W GST L Aidl f5d nalen 31 20 a6,
usLél ug2ll 244 Grivydril AL RS 5 B Al Y3l wisardl uglt e Astuddl e du
H2 GST Y[5d HalelL 31 10 Qi 9L 8.

(A) 1,294 3 (B) {A 2 41 3 (C) WAL 1 241 2 (D) BuRisd U4 56 ]
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014.

015.

016.

017.

018.

019.

means the currency of one country would have to be converted into that of another
country to buy the same amount of goods and services in each country.

(A) Balance of Payments (B) Purchasing Power Parity

(C) Currency Equalization (D) None of the above

Current Production of Goods and Services X Current Prices = , and Current Production
of Goods and Services x Base year Prices = .

(A) Real GDP and Nominal GDP (B) Nominal GDP and Real GDP

(C) Real GDP and Gross Value Added (D) Nominal GDP and Gross Value Added

Which of the following statements is/are correct regarding Inclusive Growth?

1. Inclusive Growth includes everyone in growth regardless of their economic class

2. Inclusive growth approach takes on short term perspective

3. Inclusive growth focuses on income distribution rather than productive employment
(A)1,2and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 only

Match the following List-I with List-1I

List-I List-1T
1. Slowdown a. A sudden down in economy
2. Recession b. Reduction in growth rate of the economy
3. Boom c. Economy is reducing in size
4. Meltdown d. Increase in the growth rate of the economy
(A)1-b,2-¢,3-d,4-a B)1-a,2-b,3-c¢,4-d
©)1-¢,2-b,3-d,4-2a M)1-d,2-b,3-¢c,4-a

Which of the following pairs is INCORRECTLY matched?

(A) Excise Duty — is an indirect tax at the time of manufacture of any product
(B) VAT — Sales tax on inter-state sale is called value added tax

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding Goods and Services Tax in India?

1. Businesses and individuals supplying goods can claim GST exemption if their aggregate
turnover is less than INR 40 lakhs in a financial year.

2. For hilly and northeastern states, the new GST exemption limit for goods suppliers is
Rs. 20 lakhs.

3. The GST exemption for businesses engaged in supply of services has remained at Rs. 10 lakhs
for hilly and northeastern states

(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 2 only (D) None of the above

[CSP-2] [PT.0.
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020.

021.

022,

023.

024,

025S.

g2 WUl ouetd - W8 su Qe i © ?

1. H8ydl tigeui 2Adl daseas-l uuda wx 8 5 Pl A0 2is ad Yol siu 8.

2. ydloeni Adl daggas-l uuda A 9 5 Bl 21AR s Al sl ay unaHl Siu 6.

3. udydl o2 w Yl 2uas v HSYl WA vindl A 53 O wuR Y L2 B HeL wAHL
AHIA 52 69,

(A)1,2 243 (B) WiaL 1 1A 2 (C) A 2 M1 3 (D) WiaL 1 241 3

Ao [Afdy aotl-u sl Gu goua-dl Dl U8l 58 U 8 ?

1. £2Ucl £RUL SAUEIRUA SLUEL AL & 2 AREIRIA F5uI Asg U 6.

2. WaURER A9l sl wdlealsaui aail i 6.

3. goual R o) 2uasl AlSaatia s ded ud 9.

(A) 1,241 3 (B) Wio 1 244 2 (C) A 121 3 (D) {A 2 ¥ 3

iAley v Al lotd DA UL s [Qan-l i o ?

1. 2 51454 Q] 2000 Hi A3 SAUHL Sl Sdl.

2. Al HIUES LS HIRH 5201 €16 35 kg -l 8dl.

3. 0 Ayt aeudlimi oA [Qsion vid woRl, Auid vigdl, wdla 5190210 / srasasil
93] datal 6.

4. 0 A0 860 ariM Hul2Hoald 2uleanll uRaRiA wel 2ual dawui .

(A)1,2,3 21 4 (B) WAL 1, 3 ¢ 4 (C)WA 1,294 4 (D) WAL 1 41 3

8 yfls 2053728150 202188 215 S-flan (UIDAT) suetd 1A U sy (A 0 -l ?

(A) 20812 HAMRUH 2016+ AdrnS 2 0 24 WlBsa A A(Rs URSA LS A 20,
(B) a-ll 221 uddl UIDAT 1 20l Yl 533 861 8d.

(C) UIDAI 8 &i-llu $A3024 24 6 321 34l 41 69,

(D) BuRisd U4 18 )

AL Q4 565 Adl2 0l A AL © ?

1. 48yl vuy (Revenue deficit) — 20 %tdil 388 2 [AAde gL ¢igin Y3 wsaHi »ud 6
2. [adlu vuy (Fiscal deficit) — 519 AlssA AHA 51+ wAw gauseldl

3. -uRisla vuy (Monetised deficit) — vl sioauisdl A2512 glL Aani 2udd el

(A) 1,213 (B) {12 1 211 2 (C) WA 2 ¢ 3 (D) HioL 1 244 3
A2 2006l EL-T 4 wigl-11 208 Al

a1gl-1 a1gl-11

Aloguil [ AR Yo, MRl

1. Q2R A0 a. sRwidl 2Alendllse drs vieaa

2. 6364 YLl b. 6llasi-L Hi2l GellaLsl glRL WADd

3. audlun Alou c. a8 sau-l A 522 Gelou

4. 28 sidsu wla (1947) d. 201 Y-l He 53
(A)1-a,2-b,3-¢,4-d (B)1-2a,2-b,3-d,4-¢
(C)1-b,2-23,3-d,4-¢ (D)1-d,2-¢,3-b,4-a
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020.

021.

022,

023.

024.

02sS.

Which of the following statements are correct regarding Budget Procedure?
1. The revenue budget consists of transactions that have implications upto 1 year
2. The capital budget consists of transactions that have implications of more than 1 year

3. Revenue budget consists of revenue receipts as well as revenue expenditure, but Capital
budget consists of expenditure only.

(A)1,2and 3 (B) 1 and 2 only (C) 2 and 3 only (D) 1 and 3 only

Which of the following are the effects of Inflation on various classes of persons in the society?
1. Debtors gain and creditors will face loss during inflation

2. Purchasing power of the salaried persons will increase

3. Fixed income persons will face loss during inflation

(A)1,2and 3 (B) 1 and 2 only (C) 1 and 3 only (D) 2 and 3 only

Which of the following statements are correct regarding Antyodaya Anna Yojana?
1. This programme was launched in the year 2000
2. The scale of issue was 35 kg per family per month.

3. Landless agriculture labourers, marginal farmers, rural artisans/craftsmen are the
beneficiaries covered under this scheme

4. All primitive tribal households also covered under this scheme
(A)1,2,3 and 4 (B) 1, 3 and 4 only (O) 1,2 and 4 only (D) 1 and 3 only

Which of the following statements is INCORRECT regarding The Unique Identification Authority
of India (UIDAI)?

(A) This authority was created as statutory authority under the provisions of Aadhar Act 2016.
(B) Before its establishment UIDAI was under the office of Planning Commission.

(C) UIDALI is having 8 regional offices and two data centers.

(D) None of the above

Which of the following pairs are correctly matched?

1. Revenue Deficit — Funded either through borrowings from the public or disinvestments
2. Fiscal Deficit — Actual Liability of the Government at certain point of time

3. Monetised Deficit — Borrowings made by the government from the private market.
(A)1,2and 3 (B) 1 and 2 only (C) 2 and 3 only (D) 1 and 3 only

Match the following List-I with List-1I:

List-1 List-11
Plans/Committees Major Recommendations
1. Visvesvaraya Plan a. Shifting from agriculture to Industrialization
2. Bombay Plan b. Sponsored by top industries of Bombay
3. Gandhian Plan c. Small-scale and cottage industries
4. Economic Programme Committee (1947) d. Recommended for Planning Commission
(A)1-a,2-b,3-¢c,4-d B)l1-a,2-b,3-d,4-¢
(C)1-b,2-a,3-d,4-c¢ MD)1-d,2-¢,3-b,4-a

[CSP-2] rro. KA
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026.

027.

028.

029.

030.

031.

032.

ysagll 6ist (Payments banks) tioid 1A WS 53 [Aauq e € ?

(A) Al5dad A8 s €15 31. 10,00,000 - HeTH [Ras L HioL auil 252 8.

(B) ATM / 36dl2 518 2l 53] a3, ysanu dar HRBd 54 (remittance) Acuil 20l A3,
(C) RBI 012 21538 A-UHd ARUTR (cash reserve ratio) 2uadl o331 -l

(D) BuRsd dn

(B Bewrgs v15U4dl (Non-Performing Assets) 8213l HIZ HIRd AR 4R 48U ALl 8.
2L AR 4R galld 6.

(A) Recognition, Resolution, Recapitalisation and Reforms

(B) Refinancing, Reforms, Recapitalisation and Redefining

(C) Recognition, Reporting, Restrictions and Reforms

(D) Recognition, Repurchase, Reforms and Rendering

(2l [Biedl (Treasury Bills) (A2l N2l WA 53 / sai [t / (el 02 /i 6 ?

1. (a2l (el viot o dRa (liquid) .

2. 2 [B1dl 3vg ASIR A A% A1 611 AL scUHE 2ud 69,

3. oL RBI 24 cuuidl oisi i [doddl [Bral wdlel as 6.

(A) 1,241 3 (B) WA 2 ¢4 3 (C) A 1 (D) WAL 1 41 3

912 (A8l DA UA 534 / sui Qe / Qe 0 / 20 9 ?

(A) S5 2R dn-iL s Su-lui adl suel 244 As1Hi Al aa-d A2 20l 8.
(B) U821 212 duil 112514 1ot BlAs=s sHiaaul o 24R512 200 9 3 % [Rud $3¢ €la 9.
(C) (A) ¥1 (B) ti

(D) (A) ¥4 (B) U4l 516 )

naH Al sua ol dlo-i suotd N WA sy / sul [Qann / (el 0 /i ?

1. d el udandl a3 530 quell ugl uua Y gedl, 2esidl 1 a5 dal AvHlL 04 s
‘R YIud 9.

2. 0 dlHLsa Bl gHAL dal U 21adl dd Al

3. AL AU 20BN 2L §A W [Qrdir-u D saan 23% 4l andld 50% yHld 53 ©.

(A) 1,291 3 (B) HIA 1 211 3 (C) " 1 (D) H1oL 2 244 3

D2 WAL 56 S0l 2ield=14i -uew 3yRis (money multiplier) Hi A4IRL dRs €13 %9l ?
(A) Qdl-it GiEldL a@Rui QtuRl

(B) 2153 UM IRUITR (Cash Reserve Ratio) Hi a1

(C) el azxdlui atuzi

(D) A4l naldd dRITR (Statutory liqudity ratio) Hi A4IRl

ALEPLS S1MEIRA BUMLSAL He YAsis sHIs uedl DAL U4 51 53 69 ?
(A) (Rl Aod ols (B) -au Hmuau
(C) HIDS A HAEY (D) HAER 6YRL
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026.

027.

028.

029.

030.

031.

032.

(A) Accepts demand deposits up to maximum balance of Rs.10,00,000 per individual customer

Which of the following statements is correct regarding Payments banks?

(B) Can issue ATM/Debit cards, payment and remittance services
(C) No need to maintain Cash Reserve Ratio with RBI
(D) All of the above

To reduce the Non-Performing Assets, Government of India followed 4R strategy, the 4Rs
Indicate

(A) Recognition, Resolution, Recapitalisation and Reforms
(B) Refinancing, Reforms, Recapitalisation and Redefining
(C) Recognition, Reporting, Restrictions and Reforms

(D) Recognition, Repurchase, Reforms and Rendering

Which of the following statements is/are correct regarding Treasury Bills?

1. The treasury bills are highly liquid

2. These bills are issued by the Central government and State governments

3. Only RBI and Commercial banks can buy these treasury bills

(A)1,2and 3 (B) 2 and 3 only (C) 1 only (D) 1 and 3 only

Which of the following statements is/are correct regarding Shares?

(A) Equity shares give their holder the power to share the earning and profits in the company
(B) Preference shares earn their holders only dividends which are fixed

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements is/are correct regarding Pradhan Mantri Fasal Bima Yojana?

1. It provides comprehensive coverage of risks from pre-sowing to post-harvest losses against
natural non-preventable risks.

This insurance does not cover Pest Attacks and Diseases

This scheme has increased the insurance coverage from 23% to 50% of the gross cropped area
of our country

(A)1,2and 3 (B) 1 and 3 only (C) 1 only (D) 2 and 3 only

Which of the following actions will lead to increase of money multiplier in an economy?
(A) Increase in the banking habit of population

(B) Increase in the cash reserve ratio

(C) Increase in the population of the country

(D) Increase in the statutory liquidity ratio

Which of the following brings out the Consumer Price Index number for the industrial workers?
(A) Reserve Bank of India (B) The Ministry of Finance
(C) Ministry of Social Justice (D) The Labour Bureau

[CSP-2] rero. K
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033.

034.

03s.

036.

037.

038.

cuRd-l Yaala dior-uiin Agedni vaar[a aier-ud) AeaiiseHdl uealdui cud Galoud
2ieg HETA A WA YA AY HETA UYL HECAU 23 Al
(A) aidl (B) £94) (C) AaHl (D) 2usdl

azdl [UR1efls euotd A1 W4l sun (sl i ¢ ?

(A) azdl RRHlsHE yul siell ougg aan 2124 el sucgt eataumi 2ud 6.

(B) X-¥18 UR adly 5€ eaiacii 2Ud € i Y-218 UR auo@ elauHi 2ud 6.

(C) MRl adl Hadei 9Rid: (Population dependency ratio) (Al azdl 2nadeir deiir
Sl 91 69,

(D) BuRsd dH

2{ARAA URL ML (IMF) tuioid N2l WS 53 [ 2 ¢ ?

(A) 2019 utSl [Rua [R2u (quota) A4 Ha-Dl ASHBLAL (Vote share) -1 Agel Al Alell W2l e
aZls Gl 2uda 6.

(B) MURd 2.76% [Rud [8 1 (quota) 241 2.64% Ha AsHIBLAL (Vote share) HRud €9,

(C) IMF (61 1o gali ugl diq yl wdl as 6.

(D) BURLsd d¥uH

suglL Uil 8L (External Commercial Borrowings) (ECBs) glL atudl asiy ¢,
(A) FDI Haaiulat dxuis su-lail

(B) 6i€2 udRAUL H3u (Port Trusts)

(C) A$AU (EXIM) 615 25 S=flan

(D) BURLSd AxIH

Ala [agell istel (FDI) suetd A U4l sy / sui [ / (sl 0 / i 6 ?
(A) 53 weL ysaeil-l ae ueald €.

(B) 2130 (unlisted) SU-IHE siSURL A5 UL FDI a3 aell asia.

(C) (A) ¢ (B) tid

(D) (A) 21 (B) WAL 518 -l

A2 WA s [l uai 69 ?

1. Ardlu el 4 21 5 ¢ Yl s 2l .

2. W52 Gl GuRd-L Hua 12 vig 18 oi8d ©.

3. AR SRIsH S50 2035 YHlui s1lsuqu vucls e 500 W s2 YRR suni 2u ©.

4. [afay €l usus ALlHL (tributaries) AU gHR] [AsAiaal HIZ 2016 Hi Ad HIRAHAL
BUIH, AL U,

(A)1,2,3 %1 4 (B)HA 1,241 3

(C) {1 2 91 3 (D) H1AA 1 211 3
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033.

034.

03s.

036.

037.

038.

In the context of India’s Five Year Plans, a shift in the pattern of industrialization with lower

emphasis on heavy industries and more on infrastructure began in the Plan.
(A) Fourth (B) Sixth
(C) Seventh (D) Eighth

Which of the following statements are correct regarding Population pyramid?

(A) In a population pyramid males are represented in the left and females in the right.

(B) On the X axis, population size is shown and age group is represented on the Y axis

(C) India’s population dependency ratio is less than world’s population dependency ratio.

(D) All of the above -

Which of the following statements are correct regarding International Monetary Fund (IMF)?
(A) After 2019 China has emerged as largest member in terms of quota and vote share.

(B) India is having 2.76% of quota and 2.64% vote share

(C) IMF can provide loans to non-member countries also

(D) All of the above

External Commercial Borrowings (ECBs) can be raised by
(A) All entities eligible to receive FDI

(B) Port Trusts

(C) EXIM Bank of India

(D) All of the above

Which of the following statements is/are correct regarding Foreign Direct Investments (FDI)?
(A) Cash is also permissible mode of payment

(B) Any investment in an unlisted entity also can be treated as FDI

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct?
1. National Waterways 4 and 5 are not yet operational
2. Project Unnati is related to 12 major ports of India

3. Under Sagarmala programme 500 projects have been identified for implementation up to
203s.

4. Setu Bharatam was launched in 2016 to develop the national waterways in various river

tributaries.
(A)1,2,3 and 4 (B) 1, 2 and 3 only
(C) 2 and 3 only (D) 1 and 3 only
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039.

040.

041.

042.

043.
044.

045.

UM ugHl ol dlogeu suoid DA WS sa (Al i & ?

1. ol viadld ariler fx GRdla uRar-A asid dlH sa uetd saHi 2ud 6.
2. MM Svg i AU URHIR GIRL AHIMZU YSAUHT a8,

3. 54 % ALRAA UELL SAUHL 20A-UR €9 d+fl au 18 2l 59 Q-] 423 Sid) A,

4. gedl Yy [3Rumi 520 31. 30,000 1Al

(A)1,2,3 21 4 (B) WA 2, 3 21 4

(C) 1A 1, 3 1A 4 (D) {12 2 11 3

dan [t 2019 2[A[Au4 (Code on Wages 2019 Act) tueid 1A WS st (Al i ¢ ?

1. oflog vl HgR 2Ll HAHRI SRR 21 ARAUN QLY s 2ul.

2. HI5l MGNREGS $IHERL % 21 w[ARuH S0 2asl 4.

3. 2u%8ld Aol sIHERL B §M siMeiRl, REsRl, aloi, 22l SIHERL 4 ALSlEIRL 012
2L AL 60 puaF] danal .

4. s5d Bl o sHAILN2AL 3 B2l HURAS QI 514 5L S d2AA 24 Aiog-L Ss01 20a3] A 8.

(A)HA 1,2 24 3 (B) Wi 2, 3 211 4 (C) 1A 121 3 (D) 1,2,3 21 4
Avigail den s A1y vilg, AL AHd 52 8.

1. [Rs 2. vALd

3. GUEL ASIY 4. [a29ll :isx

(A) WA 1,2 ¢4 3 (B) {1AA 1 241 2

(C) 1A 2, 3 1A 4 (D) 1,2,3 21 4

cuRd-l Altu 2ol usma Al 60 aa1lad Wil (automatic route) «l 248 A1,

(A) [Bin [Rcud] 512512 21291 cudl Sudlal ud w512 wAd) Ho@l ddl usal.

(B) it [Acuzdl As11512 x12a1 (Rl Su-lla cud 1512 wAdl {ogdl dqi-dl 2uagasdi 9.

(C) Bt R As1a512 21291 tudld su-dlA 2a2(dd Wl (automatic route) S50 Hogzl Hurd) .
(D) Buisd U4 s 1l

pdul R sl [Axdiz & s [QraiR-u sual 8.

(A) 37% (B) 47% (C) 57% (D) BuRisd WA i )
ARG cuRd (G UHIR AL UR UL 5vld 83 69,

(A) AR (B) i ©)® (D) Ad

AU ARUL UENBLS SIHEIRL ML UL GUSHISAL FI Y¥Asis (Consumer Price Index for Industrial Workers)
(CPI-TW) Hi 2dal YRl ouoid D4 WSl sa (s i o ?

1 202 asl Yl 2017 saAUHE 2u 6.

2. R ay siga sl Higal Mey asRAmi Uy 9.

3. d-l 2u g2 uin ad gl yarad 9.

(A) H1A 1 94 2 (B) WA 2 ¢4 3 (C)HA 131 3 (D) 1,241 3
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039.

040.

041.

042.

043.

044.

045.

Which of the following statements are correct regarding Aam Aadmi Bima Yojana?
1. Under this scheme the head of the rural landless household is insured.

2. The premium will be paid by the Central and State governments equally

3. The member to be covered should be aged between 18 and 59 years

4. On the natural death the family will get INR 30,000

(A)1,2,3 and 4 (B) 2,3 and 4 only

(O) 1,3 and 4 only (D) 2 and 3 only

Which of the following statements are correct regarding the Code on Wages 2019 Act?
1. This Act was brought as per the recommendations of 21 National Commission on Labour.
2. Only MGNREGS workers will not come under it.

3. Unorganized sector workers like agricultural workers, painters, workers of Dhabhas,
restaurants and chowkidars etc are covered under this scheme.

4. Only employees working on monthly basis are covered under this scheme

(A) 1,2 and 3 only (B) 2,3 and 4 only
(C) 1 and 3 only D) 1,2,3 and 4
Current Account under Balance of Payments includes

1. Exports 2. Imports

3. External assistance 4. Foreign investment
(A) 1,2 and 3 only (B) 1 and 2 only

(C) 2,3 and 4 only D) 1,2,3 and 4

Under India’s direct foreign investment policy, automatic route means

(A) Non-resident investor or an Indian company has to seek approval from the Government of
India.

(B) Non-resident investor or an Indian company does not require approval from the Government
of India.

(C) Non-resident investor or an Indian company is not allowed under the automatic route.
(D) None of the above

The approximate percentage of irrigated area to the total agricultural area in Gujarat is

(A) 37% (B) 47% (©C)57% (D) None of the above
The Aatmanirbhar Bharat Abhiyan focuses on the number of pillars.
(A) Four (B) Five (O) Six (D) Seven

Which of the following statements are correct regarding recent revisions pertaining to Consumer
Price Index for Industrial Workers (CPI-IW)?

1. Base year has been revised to 2017

2. Dearness Allowance has been increased owing to base year change
3. Aim is to keep revising series every 5 years

(A) 1 and 2 only (B) 2 and 3 only

(O) 1 and 3 only (D)1,2and 3
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sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


046.

047.

048.

049.

050.

051.

SUINBRL Ysel Ao Al suotd DA WA 5y / sui Qe / (el 0 /i 9 ?
(A) 24 515 Bidold 20108 sHAR G121 uid adi-l aug) A sunsi-l dui scumi 2ud 6.

(B) SUlMaLrlL R “Uole sa 6 HI8-uell 6 an-l au oga-i sunsl, AAML A2 2 uin s1ad)
WAl 21 2[EHUA Ss0 2ua] deuni vucul 6.

(C) (A) %A (B) b
(D) (A) 211 (B) U4l 516 Al

i, [Adell uloru dsn A 60 (3200 241% 2 204 €9,
(A) alanza 2z [Qeneli

B) ulzonla 9isn [Qenelai

(C) »ulzoadl 9153\ [Qenefl-N2i-n cuclal

(D) BURAsd A

A 2 Al 52 ouoid DA U 53 (A 0 el ?
(A) d dldcaza 2utd 6.

(B) d GgMaraq 2uRd €.

(C) d uRia 4L .

(D) d QURL / GUiSL R €.

D21 WA 53 tau [Agell ghlaumat iHanl »ioied ¢uoL el ?
(A) [a2ell a1 Ault (Foreign currency assets)

(B) ALl 24 (Gold reserves)

(C) v Gus w[B521 (Special Drawing Rights)

(D) Buisd U4 56 <l

QURAH ... ARt Rt dmm uie 541 GST d60 Al as oy 6.

(A) Y alfid $2

(B) Yuiyfdt 52 (Luxury Tax)

(C) U515 o 51

(D) A Yes

2 2puel WEl-T 4 WweEl-11 e AL,

ael-1 a1el-11

1. R4l (Siddi) a. AarAdul Alell ay axdl qaadl (Primitive) 2uleH 2ulenld
2. slaal (Kolgha) b. 214 Al 28] Al 421ad)l (Primitive) 224 2uleonld
3.42I2 (Padhar) c. AUHELAUE U Y4141 [RUd 6.

4. w2dlu (Patelia) d. dAani Al 21189l azdl uiadl 2uleenld
(A)1-2a,2-b,3-¢,4-d (B)1-b,2-2a,3-¢,4-d
(©)1-¢,2-d,3-2a,4-b (D)1-d,2-¢,3-b,4-2
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046.

047.

048.

049.

050.

051.

o -

Which of the following statements is/are correct regarding ‘Kuposhan Mukt Gujarat Abhiyan’?
(A) Under this program screening of children less than 5 years is done by health workers.

(B) Children belonging to age group of 6 months to 6 years, pregnant and lactating mothers are
covered to eliminate malnutrition level.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Under Anna Triveni Scheme 60 kgs of foodgrains are given to

(A) Visually impaired students

(B) Tribal boy students -

(C) Parents of tribal girl students
(D) All of the above

Which of the following statements is wrong about Goods and Services Tax?
(A) It is destination-based

(B) It is origin-based

(C) It is an indirect tax

(D) It is consumption tax

Which of the following is not a component of India’s foreign exchange reserves?
(A) Foreign currency assets

(B) Gold reserves

(C) Special Drawing Rights

(D) None of the above

All the indirect taxes in India have been subsumed under GST except
(A) Value Added Tax

(B) Luxury Tax

(C) Excise Duty

(D) Customs Duty

Match the following List-I with List-1I

List-I List-1I

1. Siddi a. Highest populated primitive tribe in Gujarat
2. Kolgha b. Lowest populated primitive tribe in Gujarat
3. Padhar c. Located in Ahmedabad and Surendranagar

4. Patelia d. Smallest populated tribe in Gujarat
(A)1-a,2-b,3-¢c,4-d B)1-b,2-a,3-¢,4-d
©1-¢,2-d,3-2,4-b M)1-d,2-¢,3-b,4-a
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052.

053.

054.

055.

056.

dRdl eRan [(Bruxe [Qal DA VA sui [Qau-il i €9 ?
1. GuRd-l eRan Bzl 9 A%l 211 4 SwulAd ue e sl 9.

N

2. yd-i eRul [Bruami ydeue dan oioun-l vidl-l axida 2 © 21 d Grwi vdu-u yulasia
neaefl elani srugdl Yol [Aaal 8.

3. ulau-l eRulEul s29-n el elaani srugdl Yl [QedRal 8.
4. ulau-l sRulzRl ol cuoni [Aeumd 2dal 8. siseslRulERl 21 2x1ia eRulsRl.
(A)1,2,3 %1 4 (B) {12 2, 3 24 4 (C)WA 1,243 (D) {13t 2 ¢4 4

A2 U4 56 oAl =l d ARl € ?

1. el deRid — Yrd, M3, aqg, dw, sio

2. WA — UL, URIE, UAHSLY, ELSIE, YRudR

3. Gk JRUAd — AARS18L, LIl SI6L, HSAWU, WL

4. AR — AU, MUAIR, AHAIR, %HI0LE, URbIER

(A)1,2,3 41 4 (B) WA 1,3 21 4 (C) 1A 2, 3 A 4 (D) HA 2 A 4

oMl art [l A1 uddl AEl-T A4 WEl-TT e A3l

agl-I agl-11

1. 6w 5(20iflu 2ld W an a. Aldls 1200 3.3, ol ay 118 dAAAL AT 2 6.
2. 4yd Al b. A% 15 [Fearziui [z 8.

3. Gwa s[20ily Gy sicivu an c. 600 HLHL. ¢ 21ie91 aRAE HRAAAL AAML WA 69,

4. Gwa s[20ilu Y51 wvR an d. M3, ALEA 2 YAHSIAHL A 1AL 99,
(A)1-2,2-b,3-¢,4-d (B)1-b,2-¢,3-d,4-2a
(C)1-¢,2-d,3-2a,4-b (D)1-d,2-2a,3-b,4-c

D WA 53y / sul (At / Qe 02 /i 9 ?

(A) Hi2l ML 9%2Ad Mega Thermic 529131 - ¥l U212 diuHiA 28° C 9 ay Sl d 860 20 6.

(B) AH Ad WY uAHE S Al 10°C GuR W 8. H HR-UHL G 14 B ulw
YA HETH AlUHLA 40° C &l ay 8 €.

(C) (A) %1 (B) tid

(D) (A) 24 (B) U4l 1S -l

9l vi-{ley Gewet ouoid N WA sui (Al i e ?

1. dRud 2 eani ollog sHg Alefl WG euG- oUes Gaunes Awa ©.

2. 9RAAHE eAFH G151 2 tllsAG 2l UYL 1Ald O,

3. 9oruani Holllosll S8 vl uofl »ud) -l

4. ©912168YR viid el vl A 1A €9,

(A)1,2,3 %1 4 (B)HlA 1,3 21 4
(C) 1A 1, 2 ¥A 4 (D) 1A 2 1 3
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052. Which of the following statements are correct regarding Coastlines in India?
1. Indian coastline touches 9 states and 4 union territories

2. The Eastern coastline includes Eastern Ghats and the Bay of Bengal and extends from Ganga
Delta in the North to Kanyakumari in the South.

3. The Western coastline extends from Rann of Kutch to Kanyakumari in the South.
4. The Western coastline is divided into two parts, Konkan coastline, Andhra coastline
(A)1,2,3 and 4 (B) 2,3 and 4 only

(C) 1,2 and 3 only (D) 2 and 4 only

053. Which of the following pairs are correctly matched?
1. South Gujarat — Surat, Bharuch, Valsad, Tapi, Dangs

2. Central Gujarat — Kheda, Anand, Panchamahal, Dahod, Surendranagar
3. North Gujarat — Sabarkantha, Bansakantha, Mehsana, Patan

4. Saurashtra — Amreli, Bhavnagar, Jamnagar, Junagadh, Porbandar
(A)1,2,3 and 4 (B) 1, 3 and 4 only

(C) 2,3 and 4 only (D) 2 and 4 only

054. Match the following List-1 with List-II regarding forests in Gujarat

List-1 List-11

1. Tropical Most Deciduous Forests a. occur in the regions having an annual rainfall
of over 1200 mm

2. The Mangrove Forests b. distributed over 15 districts of the state
3. Northern Tropical Thorn Forests c. occur in the region with less than 600 mm rainfall.
4. Tropical Dry Deciduous Forests d. found in Bharuch, Vadodara, Panchamahal
(A)1-a,2-b,3-¢c,4-d B)1-b,2-¢,3-d,4-2a
©)1-¢,2-d,3-2,4-b MD)1-d,2-a,3-b,4-c¢

055. Which of the following statements is/are correct regarding Gujarat?

(A) Most of Gujarat falls under mega thermic category with mean soil temperature
exceeding 28°C.

(B) Air temperature in January normally remains over 10°C. Maximum temperature in May
goes over 40°C in North and North-west Gujarat.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

056. Which of the following statements are correct regarding Mineral Production in Gujarat?
1. Gujarat is the 21 Jargest Brown Gold producer state in the country.
2. Devbhumi Dwaraka is the rich source of Bauxite in Gujarat
3. No Manganese mines are found in Gujarat
4. Fluorspar mines can be found at Chhotaudepur
(A)1,2,3 and 4 (B) 1, 3 and 4 only
(O) 1,2 and 4 only (D) 2 and 3 only
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057.

058.

059.

060.

061.

062.

=

A2 20l €T A AEL-TT 018 A3

wel-1 el-11

1. vl el a. Yol 3

2. £HR(OL b. 161 YGHI HIL B

3. 6 c. VLAl AABUAHE HOL 8
4. 2w d. 52971 UL QAL HIL O
(A)1-2,2-b,3-c,4-d (B)1-b,2-2,3-d,4-¢
©)1-¢,2-d,3-b,4-2 M)1-d,2-b,3-¢c,4-a

Grr-yd euRd-l 2uleonldail [l - U4l sui [Qeu-l i e ?

1. Grr-yd cuRasll 2ulzonldzil A3Ruad ugaL, wud-s, uByr, Byl Moy, Haay, 2um s
[Rul554 opulni 28 8.

2. Grr-yd euRdrl 2ldiia Yrud S-ei-Hdiad s, [doiei-o14llo 2q uiel 2izdaiais s dally
g A1d Aisull As €.

3. ouRl, vl 21 g4l 2ulzonldil Griz-yd curd-dl weaid 2ul2oaldi 6.

4. duRL dlst HayRH ollon sl Al Hizl 2uleonld 1y L 6.

(A) WaL 1 244 3 (B) HIA 1,2 1 3 (C) WAt 2 ¢4 4 (D) 1,2,3 1 4

auRaL Alds aael suoid DA U4 sui (el i ¢ ?

1. yfeuor 1A yororl AR AL tiAdl ©. - [Qeuo udd &, olou 244 Ry Hetdl, @ 21 eaa
[Buseu,

2. obow 2 Ry Herdl 2 4ororl AR (M A2l daasi nai-imiel s 8. - [y, sidu 24 s1adl.

3. GURAML 5297 g 0L 5269+ e 931efl A3 530 BriR drs gull AEl wiR Fandd ©.

4. sl [guseudl 2s as ydaie 2 ollo ds ulauae u 2uda 8.

(A)1,2,3 21 4 (B) WA 1,3 2 4 (C)H1A 131 3 (D) HAA 1 %A 4

vigst (A2 A U4 5y / sui (s / (el 0 /i o ?
1. 20mgd vigst Houy -um-l Yol umalHigdl 155 o1 6.

2. 3uidRd vissl 2 8 5% addl well, uar, 1% viad 2 adi-l veedl yedll awél u: g iy
8 2 ueuHi S A 9.

3. 2RUUSIE 3uidRd Yl yar 8, sadonde 3uiddld 3d-l ueaz 9.

(A) 1AL 1 241 2 (B) Wit 1 ¢4 3 (C) {1 2 41 3 (D) 1,241 3
A3UAHE Yedll A0idRs ML Al €2 ... AGS 2 1°Cad .
(A) 32 Hlez (B) 65 Hl22 (€) 132 122 (D) 165 Hl2=

2E1eUR 1 [AsieuR 21y2il ouoid N2l WS sun (el i 8 ?

1. d[ayagdla 2uelisal 44 9.

2. GURAHL U A5 % AU AN 5 il syl 2udd ©.

3. GLIRAHE U 25 % g AN 9 5 %L U (Coral) avilui Hal €.

(A) H1A 1 94 2 (B) WA 2 ¢4 3 (C)HA 131 3 (D) 1,241 3
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059.

060.

061.

062.

Match the Following List-I with List-11

List-I List-1T
1. Khari River a. Madhuban Dam
2. Daman Ganga b. Meets in Arabian Sea
3. Banas ¢. Meets in Bay of Cambay
4. Shetrunji d. Meets Little Rann of Kutch
(A)1-a,2-b,3-¢c,4-d B)1-b,2-a,3-d,4-c¢
©1-¢,2-d,3-b,4-2 M1-d,2-b,3-c,4-a

Which of the following statements are correct regarding tribes of North East India?

1. North East Indian tribes reside in the states of Arunachal Pradesh, Nagaland, Manipur,
Tripura, Mizoram, Meghalaya, Assam and Sikkim

2. North East Indian tribes can be largely associated with the ethnic groups of Indo Mongoloids,
Tibeto-Burmese and proto Austrioloids

3. Garos, Khasis and Kuki tribes are the popular group of North East Indian tribes
4. The Garo people are tagged as the second largest tribal community of Manipur
(A) 1 and 3 only (B) 1, 2 and 3 only (C) 2 and 4 only (D)1,2,3 and 4

Which of the following statements are correct regarding Physical features of India?

1. The mainland comprises four regions, namely, the great mountain zone, plains of the Ganga
and Indus, the desert and the Southern Peninsula

2. The plains of the Ganga and the Indus are formed by basins of three distinct river system —
the Indus, the Ganga and the Cauvery

3. The little desert in India extends from the edge of the Rann of Kutch beyond the Luni River
Northwards

4. The Southern Peninsula is flanked on the one side by the Eastern Ghats and on the other by
the Western Ghats

(A)1,2,3 and 4 (B) 1, 3 and 4 only (O) 1 and 3 only (D) 1 and 4 only

Which of the following statements are correct regarding rocks?
1. Igneous rocks are solidified from molten material called magma

2. Metamorphic rocks are those that are deposited and lithified at the Earth’s surface, with the
assistance of running water, wind, ice, or living organisms

3. Marble is metamorphosed limestone, quartzite is metamorphosed sandstone
(A) 1 and 2 only (B) 1 and 3 only (C) 2 and 3 only (D) 1,2and 3

The temperature of the Earth’s interior in the beginning increases at the rate of 1°C with
every of depth

(A) 32 meters (B) 65 meters (C) 132 meters (D) 165 meters

Which statements are correct regarding Andaman & Nikobar islands?

1. It enjoys equatorial climate.

2. This is the only place in India where volcano is located.

3. This is the only place in India where coral bed is found.

(A) 1 and 2 only (B) 2 and 3 only (O) 1 and 3 only (D)1,2and 3

[CSP-2] rro. B
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063.

064.

065.

066.

067.

068.

AHAldivel sadHi sal g5 69,
(A) 8l 3+ ds (B) 5+sel dual drs
(C) bin buogaal (D) BuRisd U4 s 1l

A2 WA 56 A 0l Ad AL S ?

1. Hi2rwsemi 6w sRoidla an — G 2uum, yd [RAuiau- Aladl sl 814 sal 1ol 6.
2. Y81 Bwa s[2oidlu an — Grdlu uddl (a1l dan e[ER cud S2as Aol a1 69,
3. uddly auglldiv ad —ulBm ez, 200, Nd-s 24 [RoRHuI Al v 6,

4. Gu-GuaslRoidlu uddla an — 2l [RHuauui A wa 8.

(A) H1A 1 94 2 (B) WA 3 ¢4 4

(C)HA 1,2 ¢4 3 (D) 1,2,3 21 4

MIRAHL AARL buotd DAL WA 54 / sui [ / (el 0 /a0 o ?

1.

AASULL AEHHUL UREIR URAAR” HIRAHL Al 51 Alel HIZ AR .

2. MRAHE 4ER URAAR i Wl Alell Hig AR ©.

3. SHlRAUR doua aRndul gedl AlaRy Ul 25 ©.

4. 3017 A1y (Vembanad) AAAR M1dHi Al Gl uAar 8.

(A)1,2,3 31 4 (B) WA 2 (C) WA 1, 3 1A 4 (D) HIA 2 ¥ 3

ARd-l 2uoisasla WRRald susd DA S sui [Qau-l i o ?

1.

ey 2R dal aselldlan asmidl 2uadl 2dau 31 2 st vanl e [Buan vaiy 43
SIH 53 89,

2. [RBuan curdla Guvis dan vt iR 23 2uolisar-i [Aeusys adls sid 53 ©.
3. udrl gAst E6URUNL AARIL IR EoURIAO SARL S5 6.

4. Gruou €% S5 £6URIAL UZl BT RURAAL HElHL BuR g[8l s 210 69,
(A)1,2,3 %1 4 (B) HIA 1 241 2

(C) 1A 3 1A 4 (D) HA 1,2 24 3

QA1 Q4L 59 ALl =l Ad Azl 4l ?

AR U2 (Bd ouL, UM 90

(A) W - ud RBuian

(B) Yeoirt - dpou-l yut [Asia

(C) Ay - gvuRidl [gusey

(D) 2lld W - ulZdl [Ruan

ulH d2s addl gl dond - aedl suui N W sy 2 © ?
(A) HEL - Al - eRHAl - 1l
(B) Al - 1L - 1l - Rudl
(C) HRHUAL - gL - dd] - uel
(D) ARHUA - 1l - awd] - el
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063. In the temperate cyclones the wind blows
(A) From the periphery towards the centre.
(B) From the centre towards the periphery.
(C) From both sides
(D) None of the above

064. Which of the following pairs are correctly matched?
1. Most Tropical Forests - Found in Upper Assam, Lower slopes of the Eastern Himalayas
2. Dry Tropical Forests - Found in Northern Hilly regions and some states of South India

3. Montane Temporate Forest - Found in Western Ghats, Assam, Nagaland and Mizoram

4. Montane Sub tropical Forest - Found in Trans Himalayas
(A) 1 and 2 only (B) 3 and 4 only
(C) 1,2 and 3 only D) 1,2,3 and 4

065. Which of the following statements is/are correct regarding lakes in India?
1. In terms of area Sardar Sarovar lake is the third largest lake in India
2. Waular lake is the biggest fresh water lake in India
3. Hamirsar lake is the one of the natural lakes in Gujarat
4. Vembanad lake of Kerala is the highest lake in India
(A)1,2,3 and 4 (B) 2 only (O) 1,3 and 4 only (D) 2 and 3 only

066. Which of the following statements are correct regarding climate conditions of India?

1. Himalayas act as a barrier for bitterly cold and dry winds coming from Central Asia and the
Siberian region

2. Himalayas act as a climatic division between Indian subcontinent and Central Asia

3. Winds blow from low pressure to high pressure areas

4. During summers the low pressure belt shifts Southwards over the North Indian Plains
(A)1,2,3 and 4 (B) 1 and 2 only (C) 3 and 4 only (D) 1, 2 and 3 only

067. Which of the following pairs is INCORRECTLY matched?

Name of the Biosphere Reserve Type

(A) Manas - East Himalayas

(B) Sundarbans - Gangetic Delta

(C) Simlipal - Deccan Peninsula
(D) Cold Desert - Western Himalayas

068. Which of the following is in the correct order of West flowing rivers in terms of increasing length?
(A) Narmada - Tapi - Sabarmati - Mahi
(B) Tapi - Narmada - Mahi - Sabarmati
(C) Sabarmati - Narmada - Tapi - Mahi
(D) Sabarmati - Mabhi - Tapi - Narmada
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069.

070.

071.

072.

073.

074.

A U4 55 A8 Al Ad Al el ?

3 gl

A) Baugs —  ugel
(B) dig3l - cwllkdl
(C) ueud (Salal) —  A-us
(D) WRUGA AR — U

RURAHL 2l us12 (A9l A WA 54 / sul (A / Qe ) /a0 9 ?
(A) D4l (Peaty) ¥+l MUR AU1E 27 ay Mg [ARaiRini slal vl €.

(B) GUIRL (Usara) - [Qya Houni ALlus, wideuH 24 dodellum 41d 8.
(C) (A) ¥1 (B) tin

(D) (A) ¥4 (B) U4l 518 1l

A1 U4 £y ot Alefl ay, udlsu Adenslla [QraiR ¢ ?
(A) [Ruy-oiou- om &l (Indo Gangetic Basin)

(B) [druan &

(C) Grir-ud &t

(D) Buisd U4 51 ]

A2 VA 54 art yedl A S5 awua & ?
(A) [Ayagrlu a- (B) dou (Taiga) arl
(C) WAvR ar (D) 23 axt

RAHL an [Agl DA WAL sul [l i 6 ?

1. AR AMARRY ALs5U UAlAL A28 1 ol as.

2. Al Genrt Aldls nonlail W2 o S ug Ayel [Raut dotril 2428181 U Luq 5-dld 52 8.
3. UR(EA aui M8R oidl 1 SHIRAL ars§ AAs[d s UR 241 6l ARna uR Uldein 8.
4. YA AHL AR N8R Yl ANAR B s d2 aIR AN Hoydl 20U 8.
(AW 1,2 ¢4 3 (B) H1A 2 211 3

(C) WA 1,2 ¢4 4 (D)1,2,3 %1 4

wis (gl Al WAL sai [l i o ?

1 oug - us We 30-50 Al arAue ¥3A 6 21 d- Yarud-l 2uslieal 21450 20d 8.

2. SWRAL WS HE 50-75 AL ARAUE d2 21-30° C AruHit %39 8 241 d asld-l ueisa-l uRRal
A8 20 8.

3. dHig AR UHEHE YA 2 Al gl w3l 8 i d ua depRidHl 2usisadll wRRAA
AL AN 6.

(A) 1,241 3 (B) WA 2 ¢4 3

(C) 1A 1 A 2 (D) {1 1 211 3
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069.

070.

071.

072.

073.

074.

Which of the following pairs is INCORRECTLY matched?

Dam River

(A) Hirakud —  Mahanadi
(B) Tehri —  Bahghirathi
(C) Salal —  Chenab

(D) Nagarjuna Sagar —  Nagarjuna

Which of the following statements is/are correct regarding Soil types in India?
(A) Peaty soils are found in the areas of heavy rainfall and high humidity

(B) Usara soils contain a larger proportion of sodium, potassium and magnesium
(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following regions is most vulnerable to earthquakes?
(A) Indo Gangetic Basin

(B) Vindhyan Region

(C) North Eastern Region

(D) None of the above

Which of the following forests is known as the Lungs of the Planet Earth?
(A) Equatorial Forests

(B) Taiga Forests

(C) Deciduous Forests

(D) Tundra Forests

Which of the following statements are correct regarding forest in India?
1. A wildlife sanctuary can be treated for the conservation of a particular species
2. National park is focused on the conservation of whole ecosystem and not just a few species

3. There is no entry for public into the reserved forests for collection of timber and grazing
the cattle

4. The government allows the people into the protected forests to collect the fuel and graze
the cattle.

(A) 1,2 and 3 only (B) 2 and 3 only
(C) 1,2 and 4 only D) 1,2,3 and 4

Which of the following statements are correct regarding the Crops?
1. Bajra requires 30-50 cm of rainfall and it suits the weather conditions of Gujarat

2. Cotton requires 50-75 cm of rainfall and 21-30° C of temperature and this suits to the weather
of Gujarat.

3. Tobacco needs well-drained sandy loam and this also suits weather conditions of Gujarat
(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 2 only (D) 1 and 3 only
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07s.

076.

077.

078.

079.

080.

081.

el ouotd DA WS 53 [Qauq e 6 ?

(A) AR {3 oyy oflog sH-L Alell Hi2l A €.

(B) 45 yedlall ollon su-l Alefl @5l A B,

(C) 516U (Phobos) 1 341 (Deimos) 3+ 6l Guausl 6.

(D) A acian AL dZls uvAld € $18 5 d d-l 2UAUA Ald QAU 8R4 69,

yed) [agl Dal-u W4 sy [Aanq ) © ?

(A) Guat sloiHlx (212 5591 211 221225 usarll A [Rud ©.
(B) uHlldim [A2a1R $591 21 [Ayaga-d ad Raa .

(C) 2N (A1 21525 usQ 21 Grivya a3 [Ruq 8.

(D) Buisd U4 516 <l

D2l WAL 53y oliez wigsui Alell ay grogsl v 8 ?

(A) AyM[Aan (B) Rdlst

(C) dis (D) Buisd U4 s <l

ARlaR- adfls2et suoid 21 UL sul (-l i o ?
1. welld ARAAR — d 215 AR MUSL 5 ML 2L 2R+ sl Hial 4ad 6.

2. 65l (Brackish) A4 — d 25 ¢oR @uol 5 sl ay udg s ¢ @udl 35 Al 29 -l
Rl-dl Hiol qR1d 6.

3. BURLAUAAR — d 25 AN ML 35 MIOL 5 dell ay el Hsl 4R1d 9.
(A)1,2 2413 (B) WiaL 2 1A 3 (C) WA 121 3 (D) WIsL 1 241 2

A2 W 5y [Atin 2i5 diarRiq sie [Qel ) dl ?

(A) Bl 2 23S [Ayadd Gu: HeaH slu 8.

(B) AMAY UM FH GlALS a8 dH dlui-ui aul 2y 69,
(C) WMl ZH GALS A8 dH dtu-mi ARl i 69,

(D) BuRisd U4 518 .

DA UL 54 244 =1 52 Ay, Yl usad west ualdd 53 6 ?
(A) 3dl @1

(B) 31212+l Ul

(C) dion 6159l 2026912 w1

(D) Bua-u WAL siSual =i usiaA west ulaldd sl <.

A VA 56 A8 02l Ad AL 9 ?

(A2e12 YsAd UH

(A) [&g ugrzuaR Guas2oidla asaid

(B) Al i3l

(C) 2izg[&a 8R31

(D) elaa 2ulzs dlell-Qlell (Willy-Willy)
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075. Which of the following statements is correct regarding Planets?
(A) Mercury is the second largest planet in the solar system
(B) Venus is the second closest planet to the Earth
(C) Phobos and Deimos are the two satellites of Jupiter

(D) Saturn is famous as ringed planet as it possesses seven rings around it

076. Which of the following statements is/are correct regarding Earth?
(A) The torrid zone is located between the tropic of Cancer and Antarctic circle
(B) Temperate zone is located between the tropic of Cancer and Equator
(C) The Frigid zone is located between the Arctic circle and the North Pole
(D) None of the above

077. Which of the following has the highest presence in Basalt rock?
(A) Aluminum (B) Silica
(C) Iron (D) None of the above

078. Which of the following statements are correct regarding classification of lakes?
1. Fresh water lake consists of Salinity level upto 5 parts per thousand parts

2. Brackish Lake consists of salinity level more than 5 parts per thousand parts but less than
35 parts per thousand.

3. Saline Lakes — Salinity level of 35 parts per thousand or more
(A)1,2and 3 (B) 2 and 3 only
(O) 1 and 3 only (D) 1 and 2 only

079. Which of the following statements is INCORRECT regarding the structure of Atmosphere?
(A) The thickness of the troposphere is maximum over the Equator
(B) Temperature increases as the height increase in the Stratosphere
(C) Temperature increases as the height increase in the Mesosphere
(D) None of the above

080. Which of the following reflects back more sunlight compared to the other three?
(A) Sand Desert
(B) Paddy Crop
(C) Land covered with fresh snow
(D) None of the above reflects the sunlight back

081. Which of the following pairs is correctly matched?

Region Name of the Cyclones
(A) Indian Ocean Tropical Cyclone

(B) China Tornado

(C) Australia Hurricanes

(D) West Africa Willy-Willy
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082.

083.

084.

08s.

086.

087.

D2l WAL 5y [Qtun ey 9 ?

(A) arel-l [&o1 ol uals 1,000 y3uia 1l dvan gl YRMd wa 8.
(B) %~H € : 3is ANHL UcdS 10,000 Aisl 2 g-Hel sunsi-l Aval,

(C) ey €2 & 5 AUUL URLS 10,000 ALSIA DAL dlsi-l v,

(D) BuRsd dn

sl (Aol DA U4 sy [Qenq g © ?
(A) G s[20iflu Asald uyg Gu [AsRa wu 8.
(B) unelldiva Asad A4s 2q ol oid Gu [AsRid wa 8.

(C) Gway s[2eitla asatd G-uvu v [AsiRia w89, Analldiva Asatd Do e [QsRia w6,

(D) Gurl AxH

A1 Q4L 5 A8l 2wl N AsEAL €9 ?

(A) G algul — neie, velsay, Nwiludey
(B) HeuH algull — A1, A2y, Alswyau

(C) N2u LUl — SRYAA, 2, SR

(D) GURisd dHIH

A0 U 5y / sui Qe / (sl 2 / i 6 ?

(A) d32U HgIRARIRl AU drs WMNIdR 53 O,

(B) &l el [Qaum orean-l AHALAR A3 2 BdR1a €9,
(C) (A) ¢ (B) tid

(D) (A) ¥4 (B) U4l 518 1l

QA1 44 58 ynuRas (Drainage Patterns) 2l dld il € ?
(A) gausiR gnulRas — oligiasl, [wau

(B) uMidR nulRais — Heingl, s1d:l

(C) [Prosur ruRane, — 0w 244 dl 2uva A€l

(D) GURisd dAHIH

A= 200el €T A wEL-TT 0 AL,

el Alel-11

1. HRIA 6l a. U 21 culda

2. Ur2aliHlun 201 b. 2u% -1

3. A8 [guseu c. Sou

4. il gyl d. 3oL, 2 SR 2140 52 9,
(A)1-2,2-b,3-¢,4-d (B)1-b,2-¢,3-d,4-2
(C)1-¢,2-d,3-2a,4-b (D)1-d,2-2a,3-b,4-c
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082. Which of the following statements is correct?
(A) The sex ratio of population is determined by the number of females for every 1,000 males
(B) Birth Rate : the number of children born per 10,000 people in a year
(C) Death Rate : the number of people living per 10,000 people in a year
(D) All of the above

083. Which of the following statements is correct regarding cyclones?
(A) Tropical Cyclones develop over a sea
(B) Temperate cyclones develop over both sea and land
(C) Tropical cyclones develop during summer, temperate cyclones develop during winter
(D) All of the above

084. Which of the following pairs is correctly matched?
(A) High Clouds — Altostratus, Altocumulus, Nimbostratus
(B) Mid-Clouds — Cirrus, Cirrostratus, Cirrocumulus
(C) Low Clouds — Cumulus, Stratus, Cumulonimbus
(D) All of the above

085. Which of the following statements is/are correct?
(A) Waves move across the ocean surface
(B) Tides are periodic rise and fall of large bodies of water
(C) Both (A) and (B)
(D) Neither (A) nor (B)

086. Which of the following drainage patterns are correctly matched?
(A) Dendritic Drainage pattern — Godavari, Krishna
(B) Parallel Drainage pattern — Mahanadi, Cauvery
(C) Radial Drainage pattern — Ganga and its tributaries
(D) All of the above

087. Match the following List-I with List-I1

List-I List-I1
1. Amazon River a. Peru and Brazil
2. Patagonia Desert b. Argentina
3. Senai Peninsula c. Egypt
4. Strait of Hormuz d. Separates UAE and Iran
(A)1-a,2-b,3-¢c,4-d B)1-b,2-¢,3-d,4-a
©1-¢,2-d,3-2,4-b M)1-d,2-a,3-b,4-c¢
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088.

089.

090.

091.

092.

093.

094.

09s.

096.

097.

A1 U4 56 R wendll / utald 2sa R a3 ua 2invna e ?
(A) 61 R (B) 2us [Rud
(€) sl R (D) A$5A R

@R [ Sean uldad cuami aldls 750 ) )l 24191 arae ud © ?
(A) 20% (B) 30% (C) 50% (D) 70%

e WAL 56 el s59nrll HURUWR G Avid AR U S ?
(A) *1MEL (B) udl (C) WL (D) E1MIER

-

A2 2t @l Ha ue i dH- [QaRAL 28R Azdl sHUL s,
1. SLERA 2 IR vadl

2. ygadl

3. aadly

4. TURL A gld

(A)1-2-3-4 (B)3-4-2-1 (©)3-2-1-4 D)3-2-4-1

adl aRidl 2011 (a8l A1 U sui [Qeu-l i o ?

1. QUM ulam sidun 21 Ald) 21ieg addlse ada A% 8.

2. 2001 9l 2011 423 GIRAi [AUa 289 adl 9l [Rua wr adl QA 5241 ay sdl.
3. [RusAln Al 216 adl ANt wriag e .

(A)1,2 243 (B) WiaL 2 A 3 (C) WA 1 241 2 (D) WAL 1 241 3
A2 WS s st el disani weudl g Astudal Al ?

(A) AFHH (B) A& (C) uelloiy (D) A5
[guseurll Heradl qglutuisdl Do W4 5 €l ulaneaenidl Gemadl -l ?

(A) u8InEl (B) (3w (C) 2glasl (D) $1a<l
AL UL 5ul W3S 2URAU M3SHT JUldRad w8 ?

(A) 3l veuz (B) Sl (C) sial (D) 9idt (Shale)
64 Y-l (Blue Moon) -l &2+l 8.

(A) A 9 % 5A-33 HR-uni 6o yld svua.

(B) A 61l Y[ 215 3A-32 avui Add 6 W+ Suu,
(C) Ayl 3A-32 Ui AR AR SunA,

(D) Buisd U4 s ]

A2t U 5 cAleliaRRiqL @l 2UARRL (Troposphere) Hi Sl AARRLY, 5122 69 ?
(A) Al uar (Solar Wind)

(B) YuR1dld yasi (Convectional Current)

(C) uadlg 93cusrivl

(D) Salrl ECURHI dSlad
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088.

089.

090.

091.

092.

093.

094.

095.

096.

097.

Which of the following irrigation systems/methods is also called as Trickle irrigation?
(A) Basin irrigation (B) Drip irrigation
(C) Sprinkler irrigation (D) Surface Irrigation

What is the percentage proportion of area of India which receives annual rainfall less than
750 mm?

(A) 20% B) 30% (C) 50% D) 70%

Which of the following rivers of India crosses the Topic of Cancer twice?
(A) Narmada (B) Mahi (C) Sone (D) Damodar

Arrange the following Union Territories on the basis of ascending order of their area?
1. Dadar and Nagar Haveli

2. Puduchery

3. Lakshadweep

4. Daman and Diu

(A)1-2-3-4 B)3-4-2-1 ©)3-2-1-4 D)3-2-4-1

Which of the following statements are correct regarding census 2011?
1. West Bengal is the least urbanized state in India

2. The growth of absolute urban population was more than the absolute rural population in
India between 2001-2011

3. Sikkim is the lowest population density state
(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 2 only (D) 1 and 3 only

Which of the following Coalfields is not related with Gondwana system?
(A) Rajmahal (B) Talcher (C) Raniganj (D) Riasi

Which one of the following important peninsular rivers does not originate from Western Ghats?
(A) Mahanadi (B) Krishna (C) Godavari (D) Cauvery

Which one of the following rocks gets metamorphosed into marble rock?
(A) Sandstone (B) Dolomite (C) Coal (D) Shale

The phenomenon of Blue Moon is

(A) If a second full moon appears in a calendar month

(B) If the second full moon appears in two consecutive months in a calendar year
(C) If full moon appears thrice in a calendar month

(D) None of the above

Which one of the following is the cause of air movement in the troposphere of the atmosphere?
(A) Solar wind

(B) Convectional current

(C) Gravitational force of Earth

(D) Difference in air pressure
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098. HSRUARL (A9l DA WA sui (Al i ?
1. HSRUARIAL [Auas A2b med Ad wi Joa HSIRAPRIRIAL ARacn dlsR 6. Naid, 2 ea-dls,
[Re, 2u88ls 24 e[2ell ngu2Rl.
2. (€ usnerR (G- usizuaR- [Qdir 202 1/5 F2dl [ axlaw s3 6.
3. vl H8RURLR Al qudl-l o eudtL 4 9 2 d (R dat ozl Al Hi2l HSIRRIR 8.
4. [dg werRuorR Aldl Al HeRURR ¢,
(A)1,2,3 %1 4 (B) {12 2, 3 24 4 (C)WaA 1,2 ¢4 3 (D) Hiat 1, 2 ¢ 4

099. a6 ouoid -1 WS sui [l i & ?
1. a6 v [Qaul n-a quaaul Al ay Aami vidadl 4wy 200 Wl 248 ©.
2. 30¢l 90 Al Hl @Al aue qAAdL AHAldivL [GeuR a6 Aldl ay sugsn 2ud ©.
3. aGl e (kernel) 12 uldaid well, 70 uldgia sieilgid32e 214 12 uldgid Widl a1 9.
4. Rd [Qaui aGd Aldll ay Gawe sdl e 8.

(A) H1A 1 94 2 B)WA 1,241 3 (C)HA 11 3 (D) 1A 2, 3 ¥ 4

100. SR 21 Al R D121 WAL su1 ealg o2 RAHIR 08 UeE 4R 6 ?
(A) sidaB Y, WSAS 21 [Qde-un
(B) $oudlun, ciutin 244 wald
(C) WS A3, [Adzun 24 wal
(D) WSA-S, AU A {PAIZI

101, $3 SA2An (Food irradiation) 2 ciotd A1 WSl sui [Qan-l i o ?
1. 2oL R (Tonizing radiation) @Ry sl 24 ds-ls vier uelai-ll Yau (Safety) Hi
YHUIRL 52 8, 21 d AUes ASS (Shelf life) Hi AR 53 6.
2. 53 SAAa sl ulsau 21 ol (a3t vidl 8 ulsw ©.
3. 53 SA0uAAA a1l Bl siene2-60 YA dra a3 quia 9.
4. uulEa viiusHi udddl o 8 e H drell 2 Fgruasi-l ua 530 wsdl el
(A)1,2,3 21 4 (B) WA 2, 3 211 4 (C) 1A 1, 3 1A 4 (D) {1A 2 ¥4 3

102. DA U4 58S A / A2l =l A ARl 9 ?
1. 1024 2Ddusude — 1 2ueusde
2. 1024 Y2wuse — 1 vispnense
3. 1024 visneuse — 1 Jarense
4. 1024 Bawuse — 1 @3S

(A)1,2,3 21 4 B)WA 1,241 3
(C)WA 1,2 w4 4 (D) WA 1
103. I Ad SIA2AA R 8 AoiBd sl 69,
(A) au-lail $601 v (B) R11l 5601 tircl
(C) yalis-l vl (D) 4 AReURARA (Cirrhosis)
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1. Oceanic research generally recognizes the existence of five major oceans: the Pacific, Atlantic,
Indian, Arctic and Southern oceans

098. Which of the following statements about oceans are correct?

2. Indian Ocean covers approximately one-fifth of the total ocean area of the world

Pacific ocean occupies about a third of the surface of the globe and it is the largest ocean in
both surface area and volume

4. Indian Ocean is the smallest ocean
(A)1,2,3 and 4 (B) 2, 3 and 4 only (C) 1,2 and 3 only (D) 1, 2 and 4 only

099. Which of the following statements are correct regarding wheat?

1. Wheat is one of the world’s most commonly consumed cereal grains

2. Wheat is best adapted to temperate regions with rainfall between 30 and 90 cm

3. The wheat kernel contains 12 percent water, 70 percent carbohydrates and 12 percent protein
4. India is the largest wheat producing country in the world

(A) 1 and 2 only (B) 1, 2 and 3 only (C) 1 and 3 only (D) 2, 3 and 4 only

100. Apart from India and China, which of the following groups of countries has borders with
Myanmar?

(A) Bangladesh, Thailand and Vietnam
(B) Cambodia, Laos and Malaysia

(C) Thailand, Vietnam and Malaysia
(D) Thailand, Laos and Bangladesh

101. Which of the following statements are correct regarding Food Irradiation?

1. This technology of applying ionizing radiation improves the safety of food items and extends
its shelf life.

2. Food irradiation is a cold process unlike heating

3. Cobalt-60 is the key element used in food Irradiation

4. This process cannot destroy the already present toxins and pesticides in foods.
(A)1,2,3 and 4 (B) 2, 3 and 4 only

(O) 1,3 and 4 only (D) 2 and 3 only

102. Which of the following pairs is/are correctly matched?
1. 1024 Gigabyte — 1 Terabyte
2. 1024 Petabyte — 1 Exabyte
3. 1024 Exabyte — 1 Zettabyte
4. 1024 Zettabyte — 1Geopbyte

(A)1,2,3 and 4 (B) 1, 2 and 3 only
(C) 1,2 and 4 only (D) 1 only
103. Generally, Cholesterol levels are related with
(A) Arteries becoming hardened (B) Veins becoming hardened
(C) Kidney stones (D) Liver cirrhosis
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104.

105.

106.

107.

108.

109.

110.

dlogoll usanll g2t 24 gad wa ouofl 95 8 512 5 d Yesn nHRHE q1d 6.
(A) AR Gl (B) 2u%dl% (Thunder) Glost
(C) [Agya BlA (D) BuRisd U4 518 )

Guast [l N AN 53 / sui [ / (Al 2 /i e ?

(A) ol (Geostationary) Guas ulEnll yd ds aHwl 53 6.
(B) ng%lllﬂ (Geostationary) BuASHL UREHRL UMY 24 scUsHlL 6.
(C) (A) ¥4 (B) tid

(D) (A) ¥ (B) U4l 518 )

il S3aSeui vidon w3l aupA €9 51289 5

(A) d t1eruid] A2 5L ALl U USIA Sl $3 €9,

(B) uuidR [3e1 uisd .

(C) dscaue-l 2usRul aaxud dd sit sAdl 2udl 2 6.
(D) Buisd U4 s ]

QA1 Q4L 5 ALl 0=l A AEAL 9 ?

1. a-3:al (X-rays) — sauiSHasi Gur olar-ll Mutazyds dwin saL 2 Gualami Ay 6.
2. ouHL [3010 — 343 4 Aisil Seuarni A Hi Guaiomi Ay .

3. A3ul o — A 9 $Hy (Night Vision Cameras)Hi GULRHL A €9,

4. 229 d?ol — d-l ueedl Buunl 2uawg [ AS adlxi €l

(A)1,2,3 41 4 (B) H1AA 1 244 3
(©) AT, 224 3 (D) {1 1, 2 1A 4
Agair-T Mand @i 8d, / el

(A) Al 1205+ 1, g2 bl 3D Hedr tiladl.
(B) s3{lsa Wdlor giai [Alas eaau-ly 2suid 2inmaL
(C) A~ UIUSL (Crust) g 23U 155 s2cuni Hee3u Ad,.
(D) Gu~l dAHIH.

o1Rs 4 [Qaun el 5 % vilaidl DA ds 241 uddivl sloudl ds 6128 vl (Snow line) UAIR Sl GUE

Yot Al i Yo lHefl ald 52 €9 dA sa 8.
A) RBulaan (B) [8u-€l
(C) [Ruuuia (D) W3 Al

BuASIAL USIRIA d¥-lL S1A4ALRL (applications) L 2812 @dlsd sa-1L Aeeiul A2lA2 (Astrosat)
Guas SR GUAL 9.

(A) AgAUASIR (B) AsulAs

(C) &R dert (Remote sensing) (D) s wAlA
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104. Lightning can even burn a tree because it contains tremendous amount of
(A) Solar Energy (B) Thunder Energy
(C) Electric Energy (D) None of the above

105. Which of the following statements is/are correct regarding satellites?
(A) Geostationary satellites move from West to East
(B) Geostationary satellites’ period of revolution is 24 hours
(C) Both (A) and (B)
(D) Neither (A) nor (B)

106. Concave mirror is used in headlights of vehicles because
(A) Focuses light from the bulb onto nearby vehicles
(B) Sends parallel rays
(C) Fits well into the shape of the headlight
(D) None of the above

107. Which of the following pairs are correctly matched?
1. X-rays — Used to scan bags in airports
2. Gamma rays — Used in radiotherapy for treatment of cancer and Tumor
3. Radio waves — Used in Night vision cameras
4. Visible Waves — We can see around the world
(A)1,2,3 and 4 (B) 1 and 3 only
(C) 1,2 and 3 only (D) 1, 2 and 4 only

108. The goals of Chandrayaan-1 mission was/were
(A) To make a 3D atlas of near and far side of the moon.
(B) To identify different geological units by chemical mapping
(C) Help in determining the nature of the lunar crust.

(D) All of the above

109. As huge mass of snow moving slowly down the valley and slopes of mountains till it melts after
passing the snow line is called

(A) Iceberg (B) Glacier
(C) Avalanche (D) Typhoon

110. In terms of categories of satellites defined on the basis of their applications, Astrosat satellite can
be categorised as

(A) Communications (B) Scientific

(C) Remote sensing (D) Meteorological
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111.

112.

113.

114.

115.

116.

117.

118.

@R URHLY, YU UISURL %4 (Nuclear Suppliers Group) (NSG) d25l WAl Y[5d-{ Heta g &9 ?
(A) MR dril Uldiril UM g2 o 531 us.

(B) M1 AARABI|U URHIY, AR 53] A3,

(C) ®uRd oilon ganiA Saelyg wdl as.

(D) AU YRHIR, wrrigl dlogell yl widl as.

2014 Hi M1Rd 12U A%GIEL $A (Nagoya Protocol) Hi siacu-l aimer s<1. -ouu uiisid - 44
si-ll 018 AeifBa © ?

(A) 2ueiiga uRad- (B) Za Alasdl

(C) urmgy M (D) 2A16ll -uogl

D2 WA s W Pad A naHaR g Gu well gl suotda-dl yle 536 ?
(A) AWAL-11, AL (B) Agr-T, Su=L

(C) AdUR-1, -1 (D) QlPUIRL-I, CNSA

“dlata 222"’ (Widal Test) <0 WS st 2l 2000 s WIS $UHE 209 9 ?

(A) 5161 1R (Kala Azar) (B) 51431

(C) 255153 (D) A-AsA

gl W] § o ugEUHI S & d Asg+l viid [A2dd i 6.

(A) Buz ga (B) el&ia ya

(C) 34l [aeuR (D) Buisd U4 51 )
ylRaa Hogdl ulsan wieHl 2is % »idAd (Single Window) -l 245[&d weudl (Intergrated
System) 6.

(A) wulaRBL

(B) at

() slRalzun-u [Ruunsd OF] (Coastal Regulatory Zone - CRZ)

(D) GURisd dHIH

2518 50 2 Al M (Rana [Rad 512 o 2005602) Ssniu WA Sea HAgH-2 B251,
AR ..., IR WINS A1 Ul s €.

(A) M5 viaiql [@asyel Guaia

(B) Al viLdR

(C) (A) ¥1 (B) ti

(D) (A) ¥4 (B) U4l 516 )

naH-ll (B Go Yau wid Geurt vl (PM-KUSUM) i+l 8¢ 8.
(A) M & 323e Y5 (De-dieselise) 529,

(B) G2 Buay 2iudl [Branet y1 wisan

(C) “ldR YL wi3al

(D) Buisd U4 56 ]
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111. What is the significance of India having got a waiver from Nuclear Suppliers Group (NSG)?
(A) India can design its own nuclear reactors
(B) India can engage in international nuclear trade
(C) India can supply fuel to other countries

(D) India can supply electricity from nuclear plants

112. India announced to join Nagoya Protocol in 2014. Nagoya Protocol is related to which of the
following?

(A) Climate Change (B) Biodiversity

(C) Nuclear treaty (D) Elimination of Poverty -
113. Which of the following space missions confirmed the presence of water on the Moon for the

first time?

(A) Apollo-11, NASA (B) Chandrayaan-1, ISRO
(C) Surveyor 1, NASA (D) Longjiang-1, CNSA
114. “Widal test’ is conducted to identify which of the following disease?
(A) Kala Azar (B) Cholera
(C) Typhoid (D) Anthrax
115. The lunar surface area that remains in shadow is larger at of the Moon.
(A) North Pole (B) South Pole
(C) Central Region (D) None of the above

116. Parivesh is a single window integrated system for undertaking clearance process of
(A) Environment
(B) Forest
(C) Coastal Regulatory Zone (CRZ)
(D) All of the above

117. The Soil Health Management component under the National Mission for Sustainable Agriculture,
aims at promoting nutrient management through

(A) Judicious use of chemical fertilizers
(B) Organic manures
(C) Both (A) and (B)
(D) Neither (A) nor (B)
118. The objective of Pradhan Mantri Kisan Urja Suraksha evam Utthaan Mahabhiyan (PM-KUSUM)
Scheme is to
(A) De-dieselise the farm sector
(B) Supply of high yielding seeds
(C) Supply of fertilizers
(D) None of the above
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119.

120.

121.

122.

123.

124.

AP ARHL M1 U512 vilaudd HisuSd 1A Al e SERNELERTEATEICIEO R2
(A) https://ceir.gov.in (@a’@ﬁl Ssdlui-z 2053418 Q@D%&Q)

(B) https://cair.gov.in (21"3\(-1 =il 2537314 W23

(C) https://cser.gov.in (%\l*';\él i3 222 Ssdlud-e Q@RQ)

(D) https://cpir.gov.in (%\l"g\ét uicla 2083141 W2

HizR Al xlRRUH 8su, Si--iL sl Halel 3l YRlad s34 9.
(A) 20-30 dB (B) 100-120 dB
(C) 80-110 dB (D) 93-112 dB

Yl (Muntra) (A2l Q2 WS s [Qan-il i ¢ ?

1. d DRDO g2l [Asaaui 2uddl (-l Al U HiarlBd 25 .

2. BUHIZA AR USR-L AL HRAA €9 - 8uRu [Ro19L (Surveillance), Y22L Y (Mine detection) i1
oyl ‘gﬁ&i'&l (Reconnaissance)

3. 21l 2+5 DRDO &1L dfl Yt [Raa §s28lui [Asanqami 2udl €.

(A)1,2 413 (B) H1AA 2 244 3

(C) HiaL 1 244 2 (D) HsL 1 244 3

A2 WL 53 2neisal, wRadq-l ardla s dlo (Rada xsa et 2 sasHeA-r) Ssud
(Bt el ?

(A) A Baq 512 a2l [Ruaun Ssiflen

(B) Rand Main 512 1 Al S-flau

(C) A R 12 uA0a ol Ssilleen

(D) AaAa [Ran 12 u2od 205

Y )

[Q2art Al [Rald (4 222 248 8 acdy s1322) [Agi-l vSua g1 MU scumi 21dd 6.
(A) AYsed AL vAlARR 51054

(B) [a21 an e

(C) Y23 ol 3HAS sad-art i seudH2 Ay

(D) AYse AL vl w7 5[ daq

A 22 sl yasis [Qa DA A sui [l i ® ?
1. 2 YAsis 029 MuRd @A 2iddld 20141 Qi A3 sUHL 20A4E)L Sl

2. d“ad [t — an sa —ant Sl4len’ ol salda 6,

3. uddHI HIUS YASES 12 UGHSIHL UHIR .

4. 401-500 -0l 422 il 212 sNAE) 3% YaAsis el 21 B du ARUU] 204 B,
(A)1,2,3 %1 4 (B) HA 1,2 21 4

(C)HA 1,2 ¢4 3 (D) {1 2, 3 1A 4
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119.

120.

121.

122.

123.

124.

Recently, Indian Government launched  , a web portal to trace lost mobile phones.
(A) https://ceir.gov.in (Central Equipment Identity Register)

(B) https://cair.gov.in (Central Agency Identity Register)

(C) https://cser.gov.in (Central and State Equipment Register)

(D) https://cpir.gov.in (Central Police Identity Register)

Under the Motor Vehicles Act, the noise range of horns has been fixed at decibels.
(A) 20-30 dB (B) 100-120 dB
(C) 80-110 dB (D) 93-112 dB

Which of the following statements is/are correct regarding Muntra?

1. This is India’s first unmanned tank developed by DRDO

2. There are three variants in this model, Surveillance, Mine detection and Reconnaissance
3. This tank is developed by DRDO at its Pune factory

(A)1,2and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

Which one of the following is not a Mission under National Action Plan on Climate Change?
(A) National Mission for Sustaining Himalayan Ecosystem

(B) National Mission for a Green India

(C) National Mission for Sustainable Urban Ecosystem

(D) National Mission for Sustainable Agriculture

The State of the World’s Forests report is published by

(A) United Nations Environment Programme

(B) World Forest Organization

(C) United Nations Framework Convention on Climate Change

(D) Food and Agriculture Organization of the United Nations

Which of the following statements are correct regarding National Air Quality Index?
1. This Index was launched in the year 2014 under Swatchh Bharat Abhiyan

2. Itis outlined as One Number- One Colour- One Description.

3. The current measurement index is based on 12 pollutants

4. Air Quality Range index ranging between 401-500 is considered as severe impact
(A)1,2,3 and 4 (B) 1, 2 and 4 only

(O) 1,2 and 3 only (D) 2, 3 and 4 only
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125.

126.

127.

128.

129.

Aand SAsdls Hielldldl Ran wun 2020 (A9l 1A U4 sui (G-l i e ?

1 20 dior-unl 84 1dedls / Sasdls awsHl [Asua- 8.

2. AL AR &L UR U Svdld 52 69, - 25l [Asi, Hidlg uoH, wddle Ugse x4 0eg0
H2q HidRHY,

3. au 2030 Yl SA5S 512 Al 12U A0l 40% [S2R4) il

(A)1,2 243 (B) H1AA 2 244 3

(C) A 131 3 (D) 1A 1 244 2

A1 Y4 s S-dze (E-Waste) U Us1R -l ?

1. dl3, 33flun 2. WRl, silRuu

3. 6idlun 4. lR[Aun
(A)1,2,3 %1 4 (B) H1AA 2, 3 211 4
(C)WA 1,294 3 (D) WA 1,2 w4 4

saii-lon [Qal 1A W4 sui [Qan-l i o ?

1. Ha el A1AS SN gIRL scumi 2ud 69,

2. AHAS sin 2128 Y51yl x4 G531 Rl a1 sidua sin

3. uorirt sl AU d (A 232 2UGHE YsUHT 1Al

4. sal-lo- BrRuui cuns 3 215 o wayRdaEl g0 € 214 d-y/dell-t DNAG asg- 52 6.
(A)1,2,3 4 4 (B)HA 1,243

(C) A 1, 2 A 4 (D) 1A 2 1 3

DNA 23]l (a2l {121 W4 sui [l i e ?
1. 2021 6529u4 DNA U il aduusiz viadl oiddl siu .

2. U RAAUHL 221, asnL 5 eis2NUA DNA -l {2t A4l o HiAd 2UAHE 204 6.

3. d Ao [Aysd (release) 52 € % 2uugw AAU[ASIRS dAd uldu vi-ud 8.
(A)1,2 413 (B) H1AA 2 244 3
(C) 1A 131 3 (D) 1A 1 244 2

arRsaul [l 2A-u U4 sui [Qandl i e ?
1. weadl aguusik auasaunl Guast adll 4a drs yedldl 524 52 ©.
2. AHR5EL UL Sl 20AR 99 [RlA2-l AHY QL 6.

3. GIHRLSELAL AU AILOL 3141 GUAS YAl [Baedl AHA 217 il AHUAL HIOL g2 69,

(A) 1,223 (B) H1AA 2 244 3
(C)HA 131 3 (D) {1 1 244 2
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125. Which of the following statements are correct regarding National Electric Mobility Mission
Plan 2020?

1. This scheme is aimed at development of hybrid/ electric vehicles

2. The scheme has 4 focus areas i.e technology development, demand creation, pilot projects and
charging infrastructure

3. By the year 2030, electric cars shall make 40% of the new car sales
(A)1,2and 3 (B) 2 and 3 only
(O) 1 and 3 only (D) 1 and 2 only

126. Which of the following are not a type of E-waste?

1. Lead, Cadmium

2. Mercury, Chromium

3. Barium

4. Beryllium

(A)1,2,3 and 4 (B) 2,3 and 4 only
(C) 1,2 and 3 only (D) 1,2 and 4 only

127. Which of the following statements are correct regarding Cloning?
1. Human Cloning is performed by the Somatic cell
2. A somatic cell means, any cell of the body except sperm and egg
3. In reproductive cloning, the newly created embryo will be placed in a test tube
4. In case of cloning the child is born of a single parent and carries his/her DNA
(A)1,2,3 and 4 (B) 1,2 and 3 only
(C) 1,2 and 4 only (D) 2 and 3 only

128. Which of the following statements are correct regarding DNA Vaccines?
1. These vaccines are made up of a small, circular piece of bacterial DNA
2. In these vaccines a piece of bacterial DNA carrying antigen is directly given to human beings.
3. Itreleases antigen which activates our immune system.
(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 3 only (D) 1 and 2 only

129. Which of the following statements are correct regarding orbits?
1. In Intermediate Circular Orbit, the satellites move around Earth from pole to pole
2. It takes approximately 99 minutes to complete an Orbit
3. During one half of the Orbit, the satellite views the daytime and night time side of the Earth.
(A)1,2and 3 (B) 2 and 3 only
(O) 1 and 3 only (D) 1 and 2 only
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130. N2 U4 56 ol / A2l w2l Nd AsAAL €9 ?
1. PSLV — d-ll AR dcis51ll Sid 6 3 BHi sl 8t 211 Uadl s1ndel qula 69,
2. GSLV — dril 50l doissl Sid 69 4 A8 dsiss1A HIAL B 6ldRL-l o Guaidl 53 €9,
3. ydeia di-a «flsd (RLV) - ISRO 2 dg AR dvid WAL AsnAyds 53 6.
(A) 1,213 (B) Wt 1
(C) HA 2 91 3 (D) 1A 1 244 2

131, DA U4 56 dlai =l Sld sl 9 ?
1. 6lR15-8 — d Yt 81y A Ay wHlell sag aion viarg Fuda 9.
2. 5-4—duisoldds Ruda 9 3 % wRed g §l2 scumi a8l
3. U2 — d 3R WA HAH QB el i AR Frudag o 8.
4. WL —d Gual Adella RRuda 9 d AHAA 0 GuAdIHE A Asa 9.
(A)1,2,3 21 4 B)WA 1,241 3
(C) 1A 1 4 2 (D) H1AA 3 1A 4

132, DA U4 sui (Qau- i ?
1. o529 HiaadlR-l i 5 GuR AUlBd-ll @AM €35 YR UUIARR (conceivable environment)
il uas o,
2. A UAUL 8 2ald d2il Al waa 12 @dd sin 5 Ul 2uagusdl v1d 9.
3. bl ag AsHQA (Viral infection) AUl Sl € uR eisea A ad A2RisHA (bacterial

infection) 2l é\lg_i, .
(A) 1,241 3 (B) WA 2 244 3
(C) 1A 1 A 2 (D) {1 1 11 3

133, DA U4 55 A 2 Bawgl Wi S51s (Ecomark) -l Al sinanll 53 9 ?
(A) wulaReL, At 24 suetisal uRdd Hnay
(B) MURAl Wins &gé\l (Bureau of Indian Standards)
(C) @385 S50 51639 viis Sdlan
(D) 3-8 siilo 0148 s Sl

134, ior=31 21 [l D= WA s [l i € ?
1 281 21 AYsd w2 2518 [Asi Aoifd Hsa v ©.
2. 023l 21 A [RUL &l oA AYsd i valaey 14 (s uRuenidl Gemeul 6.
3. il avan 21 24 20 wRugui cud dlfen 2ol ivar-u g eiui .
(A) 1,241 3 (B) WA 2 ¢4 3
(C) 1A 1 A 2 (D) {1 1 241 3
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130. Which of the following pairs is/are correctly matched?
1. PSLV- this has four stages that alternate between solid and liquid fuels
2. GSLV- this has three stages, all the three stages use only solid fuels
3. Reusable Launch Vehicle (RLV) - ISRO successfully launched it for three times.
(A)1,2and 3 (B) 1 only
(C) 2 and 3 only (D) 1 and 2 only

131. Which of the following pairs are correctly matched?
1. Barak-8 — It is long range surface to air missile attached to frigates -
2. K-4 -Itis a Ballistic missile which will be fitted to Arihant
3. Akash — It is a group of four medium range surface to air missile along with a radar
4. Nag — It is thermo sensitive missile, it can be used against submarines
(A)1,2,3 and 4 (B) 1,2 and 3 only
(C) 1 and 2 only (D) 3 and 4 only

132. Which of the following statements are correct?
1. Bacteria can live in almost every conceivable environment, including in or on the human body
2. Viruses are parasitic. That means they require living cells or tissue to grow.
3. Viral infections are contagious, whereas bacterial infections are not contagious.
(A)1,2and 3 (B) 2 and 3 only
(O) 1 and 2 only (D) 1 and 3 only

133. Which of the following organizations allocates the Ecomark label for products?
(A) Ministry of Environment, Forests and Climate Change
(B) Bureau of Indian Standards
(C) Geographical Indication Foundation of India
(D) Organic Farming Society of India

134. Which of the following statements are correct regarding Agenda 21?
1. Agenda 21 is an action plan of the United Nations related to sustainable development

2. This Agenda 21 was emerged from Rio de Janeiro conference of United Nations Conference

on Environment and Development.
3. The number 21 refers to the number of countries participated in the above conference.
(A)1,2and 3 (B) 2 and 3 only
(O) 1 and 2 only (D) 1 and 3 only
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13S.

136.

137.

138.

139.

140.

141.

RDX [dgi-l 4121 U4 53 / sui [Qeun / [Qeunl 202 / i ¢ ?

1. RDX Royal Demolition eXplosive and Research Department eXplosive IS QU ¢

2. dAUSAIS2 AL S5ALA dZlS UL v 8,

3. RDX 1 22485 -um 1,3,5-215 121 - 1,3,5-2 AR5 8. d UFE WA 8 i d e [A5125 €9,
(A)1,2 213 (B) H1AA 2 244 3

(C) WA 1 241 2 (D) WA 2

BARAA A1a519 HAS tlold D12 UL sui [Qan-l i ¢ ?

1. ISS i s A RAAUAL A<y 8 5 % American Freedom, Russian Mir-2, European
Columbus A J apanese Kibo Al quda 53 9,

2. 2278 (33 241 460 (3l adl apusauni anami 2ud 69,

3. ISS ¥ 2ld 291 Y3custR (microgravity) UAUlARRIML AAHA NAUNUL A3 S14 53 .
(A) 1A 1 241 2 (B) Wt 1 ¢4 3

(C) WA 2 A 3 (D) 1,241 3

ISRO 11 d-u Guasi [l l2-u U4l sui [Qan-l i ?

1. ISRO ®IRd-l Al U4 BGuAS 2AME dAIR sul.

2. APPLE ®Rd¥i [RRd ugius A14-1 g1 s1ueisaiul iucuui 2ud el uay Guas .
3. ISRO i 4o+l axRisenil Yl usia-i: Al uam wius stasie A ©.

(A) H1A 2 94 3 (B) Wit 1 244 3

(C) WaL 1 244 2 (D) 1,21 3

MR g2 WAl ‘Sikorsky Romeo’ Seflsiwexl vileard »ualorm 531 84 €.
A) S35 (B) A2

(C) yruds w2 (D) 5ix

A2 2020 i ISRO 6121 §[ 244 art d2 2nult adzauqHL s1audloL (applications)
HEEZU AL AU 5T 2udal yedl (Rla Guas ©.
(A) EOS-01 Guag (B) DMS-01 Guas
(C) AFDM-01 Gug (D) BuRisd U4 518 )
21 U4 56 Adl2 il Ad AR B ?
1§34 — dleR =Anadéls duiser
2. Bou—daASRs 8dl dler {user
3. AR — eiddlo dler fuiseR v Had s 8dl dier fuiser

(A)1,2¥1 3 (B) {1A 2 211 3

(C) A 11 3 (D) 1A 1 241 2

MRAA AAvH L gl 2 25t 00l Yo N8R sRAUNL U,
(A) WS (B) 59

(C) g2 (D) BuRisd U4 s ]
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13S.

136.

137.

138.

139.

140.

141.

Which of the following statements is/are correct regarding RDX?
1. RDX stands for Royal Demolition eXplosive and Research Department eXplosive
2. Itis also known as cyclonite or hexogen.

3. The chemical name for RDX is 1, 3, 5-trinitro-1, 3, S5-triazine. It is a white powder and is
very explosive.

(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 2 only (D) 2 only

Which of the following are correct about International Space Station?

1. ISS is a synthesis of several space station projects that includes the American Freedom,
Russian Mir-2, European Columbus and Japanese Kibo.

2. Station is maintained at an orbit between 278km and 460km.

3. ISS serves as a research laboratory with microgravity environment.
(A) 1 and 2 only (B) 1 and 3 only

(C) 2 and 3 only (D)1,2and 3

Which of the following statements are correct regarding ISRO and its Satellites?

1. ISRO built India’s first satellite, Aryabhata.

2. APPLE became the first satellite to be placed in orbit by an Indian-made launch vehicle
3. ISROis the first Asian space agency to reach Mars orbit.

(A) 2 and 3 only (B) 1 and 3 only

(C) 1 and 2 only D)1,2and3

India is set to buy the ‘Sikorsky Romeo’ helicopters from country.
(A) Israel (B) Russia

(C) United States (D) France

is an Earth observation satellite launched by ISRO in November 2020 to support
applications in agriculture and forestry and disaster management.

(A) EOS-01 Satellite (B) DMS-01 Satellite
(C) AFDM-01 Satellite (D) None of the above

Which of the following pairs are correctly matched?
1. Kudankulam - Water Energetic Reactor
2. Kaiga - Pressurized Heavy Water Reactor

3. Tarapur - Boiling water reactor and Pressurized heavy water reactor

(A)1,2and 3 (B) 2 and 3 only

(C) 1 and 3 only (D) 1 and 2 only

India is declared free from trachoma which takes place due to infection of in the eye.
(A) Virus (B) Fungi

(C) Bacteria (D) None of the above
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142.

143.

144.

145.

14e.

147.

148.

AMAUR ARAA URUAY gL CEPA 51154 81 4aHi 204 9 3 HRG qu 8.
(A) Communication, Environment, Participation and Awareness

(B) Communication, Education, Participation and Awareness

(C) Communication, Education, Pollution and Awareness

(D) Communication, Environment, Protection and Awareness

sA12l Welsiaql daH Uldorsadi-l AHuu-UL asuist You A 16U Ayl Beuof -l
AW 52 8.

(A) ol (B) A5

Oy (D) AR

AL 2129 11 (AU S AHIHL 25 8 210U ElHl gy uR[RRAA [Auas warsH (Ecological flows)
2y, 018 andl Amal 8.

(A) well-l yaniy YAlad sa-u
(B) waiazelly 2518 [asiu-u

(C) (A) ¥4 (B) ti

(D) (A) ¥4 (B) U4l 518 )

D21 WSl Y Internet of Things (TIoT) -l cla@saiil ¢ ?

1. Sr2xqe s1sdldlé)

2. [ afasle uRad-Hi (Undynamic Changes)

3. [dya s

4. ¥is3udl

(A) {1 1 244 2 (B) HlAA 1 241 3
(©)HA 1,2 ¢4 3 (D) 1,2,3 21 4
2l Ul sul / surueiel [ ueial 209 HdRl dds GualaHi daldl / daidi el ?
1. y2(Ruw 2.0y

3. didlun 4. sillun

(A) WA 3 (B) H1AA 2 ¢4 4
(C) WA 2 (D) {1 1, 2 A 4

e WAL 8 el B ugani-u Sasui Gualomi dadl ¢dl d ama ez xARumi ANaq adl uds-
51201 18 Asnddl © ?

(A) Acigllsi (B) 2u8eis

(C) 315 5cil3s (D) $1RMS

2 WAL s A8 BUR 5101 SLRASAGS (CO,) YU Aldraelly 825 € ?
1. Han 2.5 3.9 4. al

(A) H1A 1 A 2 (B) H1AA 2 211 3

(C) {1 1 A 4 (D) H1AA 3 1A 4
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142. The Ramsar Convention Secretariat undertakes a programme, CEPA, which stands for
(A) Communication, Environment, Participation and Awareness
(B) Communication, Education, Participation and Awareness
(C) Communication, Education, Pollution and Awareness

(D) Communication, Environment, Protection and Awareness

143. The targets for the first commitment period of the Kyoto Protocol covered emissions of the
main greenhouse gases.

(A) Two (B) One

(C) Six (D) Four -

144. One of the objectives of the National Mission for Clean Ganga is to maintain minimum ecological
flows in the river Ganga with the aim to

(A) Ensure water quality

(B) Environmentally sustainable development
(C) Both (A) and (B)

(D) Neither (A) nor (B)

145. Which of the following are the characteristics of the Internet of Things (IoT)?

1. Inter connectivity 2. Undynamic Changes
3. Enormous Scale 4. Homogeneity
(A) 1 and 2 only (B) 1 and 3 only
(C) 1,2 and 3 only D)1,2,3 and 4

146. Which of the following materials is/are not used as Atomic fuel?

1. Uranium 2. Lead

3. Thorium 4. Chromium

(A) 3 only (B) 2 and 4 only
(C) 2 only (D) 1, 2 and 4 only

147. Which of the following drugs used in the treatment of livestock, has been linked to the cause of the
collapse of vultures population throughout South Asia?

(A) Meloxicam (B) Ibuprofen
(C) Diclofenac (D) Carprofen

148. On which of the following planets Carbon dioxide (CQO,) is the main atmospheric component?

1. Mars 2. Venus

3. Jupiter 4. Saturn

(A) 1 and 2 only (B) 2 and 3 only
(O) 1 and 4 only (D) 3 and 4 only
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149.

150.

151.

152.

153.

154.

155.

o A

D2l WA suL A SR A0, 1@ 69 ?
(A) SARS — CoV-1
(C) SARS — CoV-2

-

2UESISIA HRLAdL &+ ANt A

1. SAla

3. n-iuHlA

(A) WA 1,2 94 3

(C) 1A 1, 2 ¥ 4

MIRAT AR AR Al udlawl sas
(A) 529, A%RUd

(C) sllaR, i3

(B) SARS — CoV-19
(D) SARS — CoV-C2

Sl u3 9.

2. 208 WA

4. Hla-ia

(B) H1AA 2, 3 A4 4

(D) 1,2,3 21 4
ApUUL AW,

(B) [Agad, H8R

(D) [Rnuens, dedousu

aed Ssi-ils s s Acu-l 513 2ugl sl vid “4 glaia 20-31-20217" A8 A $dl. u

=3t [Anuarg .

A) Qg yr:[Ruie s wed Radus ad

(B) 9l yrt:[Amiel 520 iR+ st al
(C) 22U A4 U517, (AU 521 WS+ ad
(D) Buisd U4 56 .

304l oy 2udlA €2 adl
(A) &Ll
(C) viglRIH 61l

A yeuldfazi adle [Bax Hruaami »ud 8.

(B) AR HURLE
(D) Buisd U4 518 ]

A dRHL s al 2u5120-NG Frruda suotd 12 WS sa Qe i 6 ?

L 2l sami Rauda 6.
IL 20 Buda wsiz »al@ 300 (3.4, 9.

11 20 [Rda cudla Aisien w2 [Rsuaani 2uy 9.
IV. 2u [RRuda 202 96% el 2l e [Asuaani 2ue ©.

(A) L I1, TII 24 IV
(C) $5d 11 ¢4 111

(B) $5d I A4 IV
(D) 85 1, 11 241 IV

AR [ U 2021 €341 Y 2Ad-lL 26¢ tiotd DA WS 54 / sui (At / [Qandl 2 / i ¢ ?

I 2oand [Anuard ya-HlER, Hidl sd.
L U2sHi AorRldnil 2oaun olof S uew,

IIL 201l 18 $ASIRL IR ARG 9 SAUML ALl

(A) L, IT 244 11T
(C) 85 11 241 111

(B) $5d I ¥4 111
(D) $5d 1
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149.

150.

151.

152.

153.

154.

155.

Which of the following Viruses causes the Corona disease?
(A) SARS-CoV-1 (B) SARS-CoV-19
(C) SARS-CoV-2 (D) SARS-CoV-C2

Alcohol-based hand sanitizers can contain

1. Ethanol 2. Isopropanol

3. n-propanol 4. methanol

(A) 1,2 and 3 only (B) 2, 3 and 4 only

(C) 1,2 and 4 only D) 1,2,3 and 4

India’s first thunderstorm research testbed will be established in State.
(A) Kutch, Gujarat (B) Vidharbha, Maharashtra
(C) Balasore, Odisha (D) Nizamabad, Telangana

The 515t edition of World Economic Forum annual meeting was held at Davos with The Davos
Agenda 2021, the theme of the agenda was

(A) A crucial year to rebuild trust

(B) An important year to rebuild growth

(C) A year for building cooperation among nations
(D) None of the above

Shaheed Diwas is observed on 30t January of every year, on the death anniversary of
(A) Bhagat Singh (B) Chandra Shekhar Azad
(C) Khudiram Bose (D) None of the above

Which of the following statements are correct regarding recently testfired Akash-NG missile?
1. This is a Surface to Air missile

2. The missile is having the strike range of 300KMs

3. The missile is developed for the Indian Navy

4. The missile is developed with approximately 96% of indigenous content

(A)1,2,3 and 4 (B) 1 and 4 only

(C) 2 and 3 only (D) 1,2 and 4 only

Which of the following statements is/are correct regarding the tableau of Gujarat during Republic
Day parade 2021?

1. Sun Temple — Modhera was the theme of the tableau

2. Gujarat tableau bagged the second prize in the parade

3. Garba was performed by the artists along with the tableau
(A)1,2and 3 (B) 1 and 3 only
(C) 2 and 3 only (D) 1 only
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156.

157.

158.

159.

160.

161.

“[Qrani 2ul a8 3ai 6itl” GuaTlL 2iYsd AL YRR A ASUA 2412 FURAH v
Hi2L o{dl ayl Yl 50 anlg Rime yul 529l

(A) 1115, 2025 (B) 105, 2030

(C) 14, 2025 (D) GURisd WA 51 )

g2 ANl 2ysd A g1l Qe w2 xiau [Ban AL A% Hrlami 2ud €9, (CANCELLED)
(A) 14 Ay2u3l (B) 23 A=y>u<l

(C) 22 A-y2udl (D) Buisd U4 s 1l

RuRdrL Al Hizl wedlHisa digndls wis ouoid DA WA sun Q- i o ?
L doRd u2512 Aau-y didlsy S-lun dlHls a8 52 sul o,

IL 20 ke Higl A5y uls ARAARIR, AIRIE vild AYAUHL 24148l
II1. ay 2023 YHui 50,000 503+ 51 A1 SAUML 2198,

(A) L, IT 241 11T (B) $5d 11 241 111

(C) $5d 11 11 (D) $5d 1 241 111

AYSel A2 GIRL AUNAUHT 21 “E1EL 2w Uil ola 2is Y 56U du-d” (TPNW) tiieid {121 U5l
suL [l e ?
L 24 Aysd gl A1HIRL ACHHE UMl 20dd 29 d 223 2my2usl, 20218 AHaRE 20,

L uuogdl GuR Ul s-uR1 uHig, ARt [Asi, ulal, Gaug, AAS, SALABL § d-iL Guadld scul
ldoitld ¢9.

TIL Y238, A2, (B2, A 241 5178 auogdl Gu udl 590 6.

IV. ®URd, Ull32dl, SAAUA 244 BriR siluA A1l Bu AL 530 ).
(A) L IL, TII 24 IV (B) $5d L I1 ¥ IV
(C) $5d IL, 11T A1 IV (D) $5d I, 1T A+ 111

S-400 (@ A2 5 %3 ¢ud A0 wAd vleand © d suotd A W4 sui Qa9 ?
L ®IRd 4 5 S-400 [Ruda dleu wdlear s12 Gur udl 590 .

IL 21 S-400 P A2 21 ol Gurdl sar Puda uRar-d $-300 Rudadl yadl 2ual
(Upgraded version) 6.

1. Puda freudl 2a100l (delivery) 2022 i yel aa-ll »iiau €.
(A) L, IT 244 1T (B) $5d I1 241 111
(C) $5d 1 uA 1T (D) $5d 1 A 111

AUl o udan add gl d [Qsaiaddl @ 2= 1281¢s dun ? (SAAW) suotd NlA-u U4 su
(el 9 ?

L dgudlaw ¢is-2u8 (Hawk-i) s osiordl 2y sd.

IL. SAAW 1000 [3al3uH adid, 5118 USIR A (precision strike weapon) € 2+ 1000 (3.3l
248 8q1d €9,

II1. SAAW il GUAAL §2HAAL 3IR, 6i53 241 21-d [A012 Bl HRsUHAL BUR gHAL s AT A5 6.

(A) L, IT 241 1T (B) $ 5 11 241 111 (C) $5d 1 A 11 (D) $5d 1 ¥4 11
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156.

157.

158.

159.

160.

161.

According to the report of United Nations University on ‘Ageing Dams in the world’

number of large dams in India would complete 50-year-mark year.

(A) 1115, 2025 (B) 105, 2030

(C) 14, 2025 (D) None of the above

International day of Education by United Nations is observed on of every year. (CANCELLED)
(A) 24" January (B) 23 January

(C) 22" January (D) None of the above

Which of the following statements are correct regarding India’s largest multi-modal logistic park?
1. Gujarat government signed an agreement with Reliance Logistics India Limited.

2. This largest logistics park will be established at Virochan Nagar, Sanand

3.  An amount of Rs. 50,000 crores will be invested by 2023

(A)1,2and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

Pertaining to the Treaty and Prohibition of Nuclear Weapons (TPNW) adopted by the United
Nations, which of the following statements are correct?

1. This was adopted by United Nations General Assembly and came into force from
22nd January 2021.

2. The signatories of the agreement are prohibited from Development, Testing, Production,
stocking, transferring, using of nuclear weapons

3. USA, Russia, Britain, China and France have signed the agreement

4. India, Pakistan, Israel and North Korea have not signed the agreement
(A)1,2,3 and 4 (B) 1, 2 and 4 only

(C) 2,3 and 4 only (D) 1,2 and 3 only

Which of the following statements are correct regarding S-400 missile system which India is going
to purchase from Russia?

1. India signed an agreement to purchase 5 number of S-400 missile systems

2. This S-400 system is an upgraded version of S-300 family of Surface to Air Missile systems
3. Missile systems delivery is expected to be completed by 2022

(A)1,2and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

Which of the following statements are correct regarding recently testfired indigenously developed
Smart Anti Airfield Weapon (SAAW)?

1. It was testfired from the Hawk-i aircraft

2. SAAW is precision strike weapon of 1000 kg category and has a range of 1000 kms
3. SAAW can be used to attack enemy assets like radars, bunkers and runways etc
(A)1,2and 3 (B) 2 and 3 only

(O) 1 and 3 only (D) 1 and 2 only
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162. NITI 2ni0t4l §-fludt Seidan S+3a - 2020 -l 6l 2uala ouoid DA WL sui [Qan-l i @ ?
L Hva (major) A%l ARHL 0125 YRAMT uam 2211 8.
IL 3% Rid [Qcuiq adiui [Bedl 3Rl nan a4 9.
II1. Hu4 (major) A% QML a2 6llon s34 6.

(A) L, IT ¢4 11 (B) $5c 11 241 111
(C) $5d 1A 11 (D) $5d 1 241 11
163. AlRdHL AMARIML 5AR [Baidle 243 (Square Kilometer Array) 9. 21 .

(A) [Qaun Avami Aflarl 4riad 2dlsiu
(B) ¥is Al Baifleui silas sl 2ivan
(C) 2alRui [Buynuidif 1y

(D) Buisd U4 s ]

164. A 5[R Ylsq [Ban (National Deworming Day) tuotd -l W4 sul [Qeu-l 2wl €9 ?
L 40 Aul (Worm infections) tuieid %2)a Glofl sa1 W2 HuRAMRAHE Hrtudl [Baulls uwiol 8,
IL dAada 2-adl2s sal-a’ adls wel xAimnvua €.
ML (@2 202000 A2 A1RAIR 12 Weoi=31d 26d2-L Gualad Hi=d sui 6.
(A) L, IT %A1 1T (B) $5d 11 241 111
(C) $5d 101 111 (D) $5d I 241 1T

165. SR ARSI Ll S1A5H “1000 W3 GAUles A6l 26 i Uiedle” (Formation and Promotion
of 10,000 Farmer Producer Organizations - FPOs) oold A1 WS sui [Qan-l i o ?

L 20 Ui%iL 10,000 Al Wgd Geuies dos-inl [Ast s2al.

IL 240 diogei e, AlHiad 2 gl [Agion vigdin 4s(Qq s28l.

II1L >0 A9 2020 YU vl [Rsia snell s2ami vee sl

IV. vigd Gewgs 0216l saeR vidld o »uusl.

(A) L 1L, TII 244 IV (B) $5d 12 11
(C) $5d I, 1T A1 111 (D) $5d I A4 IV

166. ®udlu Ad) svecuL sl (Indian Navy Frontline Ships)d u2 Ul o #1824 (Super Rapid Gun
Mounts) Y21 Wldcliril 2182 A1 U4 56 Az Wi © ?
(A) [Egraint luandy Q1123
(B) *ud 8dl Sasdlseu Qlfl2s
(C) AR 23 28l (L&T)
(D) Wsiduia $is oflesd dafl2s
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162.

163.

164.

16S.

166.

Which of the following statements are correct regarding NITI Aayog’s 2" edition of Indian

Innovation Index 2020?

1. Karnataka topped the index in major states category

2. Delhi topped the index in Union Territories category

3. Gujarat is placed at second rank in major states category
(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 3 only (D) 1 and 2 only

Square Kilometer Array is in news recently, this is a

(A) Telescope which consists of vast number of radio receivers
(B) Number of Covid Patients in a square kilometer

(C) Measurement of snow avalanches in the glacier

(D) None of the above

Which of the following statements are correct regarding National Deworming Day?

1. This is a Biannual event celebrated across India to create awareness about worm infections.

2. This is also known as Soil Transmitted Helminths

3. The World Health Organization has approved the use of Albendazole Tablet for the treatment.

(A)1,2and 3 (B) 2 and 3 only
(O) 1 and 3 only (D) 1 and 2 only

Which of the following statements is/are correct regarding Government of India’s new programme

“Formation and Promotion of 10,000 Farmer Producer Organizations (FPQOs)”?
1. This scheme will develop 10,000 new Farmer Producer Organizations

2. This scheme will integrate Small, Marginal and Landless farmers

3. This scheme will help in doubling the farming exports by 2020

4. The Farmer Producer Organizations will promote Cluster Farming
(A)1,2,3 and 4 (B) 1 and 2 only

(C) 1,2 and 3 only (D) 3 and 4 only

Which of the following organization bagged the orders to supply Super Rapid Gun Mounts for

Indian Navy Frontline Ships?

(A) Hindustan Shipyards Limited

(B) Bharat Heavy Electricals Limited
(C) Larsen and Toubro (L&T)

(D) Mazagaon Dock Builders Limited

[CSP-2] rro. EH
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167.

168.

169.

170.

171.

172.

[Asun oraild 1454 cuord A U sui (Al i ¢ ?

Lo 20 silsy RAR 201940 [Qsun 244 NieiBDis) [Qeudt g1t a3 scaumi el sdl.
IL 20 51054 81 50 P8R Adigd [denaal (JNV) 1i asndayds 2iell 28l 6.

TIL 20 51054 s Adied [denaal gt 2ot Au [Qenedlaiiq qgais si-uqdl.

IV. 20 stdsH-l You 8 STEM [Rizra YRl sail 6.

(A) L 1L, III 244 IV (B) $5d L, I 2 IV

(C) $5d 1A 1T (D) $5d 111 A1 IV

Dl WA 53y / sul (At / Qa2 /i 8 ?
(A) 5% U512 URaAR Ura W+l 21y Halemi Uld 31 45,000 €l 31. 1,25,000 -l ARl HogR sul €.

(B) Auld 2 uedl bid 2509 sHANA S1A 247 A-El Al [RUHL S50 Slu AR, dutinl Yoy avid SUld
suns ol YRR U-aHl 12 aas Q9.

(C) (A) %A (B) b
(D) (A) 211 (B) U4l 516 Al

ArgdlM 35 (Mandarin duck) 3 3 ydlu 2 0161300 olas 8, d N2A-u W4 curdly
ABUHL ALB AL A WY 8.

(A) 0N (B) isme

(C) 21d (D) sQU25

Al HIRA AR SwdH2 s HsAU-EAR gl AR sudal s addl A YrRwl
(Urban Local Bodies reforms) &l $2-U2 9§ A% Y 6. 21w i AUl sul O ?

(A) 2AUUULL, SRU2S, 501, AU A HSIR

(B) 30, ulZn sionm, 23R4, [B1812 24 BRViS

(C) t9rll213, 2321, [BHAd U, Uonet i AIeUAA U2

(D) UL, deduRl, HAUL, AAAA 21 Ay

Q- Ul s 29l ol ammsauML “SW” (Hope) ddls 2nvig “Uet” (Probe) o, ML 53 244
Hornd{l GueLsauml Lo’ d UAURL 57UR iUl 82 b1l ?

(A) 3131 (B) 5L

(C) 2wn (D) yAS

(e 381l [Ba suotd - U4 sui [t 2wl ¢ ?

L (a2 38 Bau 13 §y2udl-u iy Hrawi 2ud .

L[4 290 [Bau-l [Quaarg, =y aed =y 381 84,

III. UNESCO 8l [2a 2021 «u =@ veu [uuazg [(Rud 52 © — Gesila (evolution), -dldl
(innovation) 2 A3 (connection)

Iv. [ 38 RBaudl Goasll 1948 €l a3 as.

(A) L 1L, I 4, TV (B) $5d I, IT A 111

(C) $5d 11, 11T 241 IV (D) $5d 1 ¥ IV
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167.

168.

169.

170.

171.

172.

1. This programme was launched by the Department of Science & Technology (DST) in
December 2019

This programme is currently running successfully in 50 Jawahar Navodaya Vidyalayas (JNV).

Which of the following statements are correct regarding Vigyan Jyoti Programme?

This scheme/programme will target all the students of the country through Jawahar Navodaya
Vidyalayas

4. The main aim of this progrmamme is to ensure STEM education.

(A)1,2,3 and 4 (B) 1, 2 and 4 only

(C) 1 and 2 only (D) 3 and 4 only

Which of the following statements is/are correct?

(A) Central Government approved the increase in the upper ceiling for family pension from
Rs. 45,000 to Rs 1,25,000 per month.

(B) If both wife and husband are Government servants and are governed by the civil service
rules, then, on their death the surviving child will be eligible for two family pensions.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

The Mandarin duck which is a colourful duck from Eastern Asia was recently spotted in
of the following Indian States.

(A) Assam (B) Andhra Pradesh

(C) Gujarat (D) Karnataka

Goa has become the sixth state to complete the Urban Local Bodies Reforms which were set
up by Department of Expenditure, Government of India. Which are the other five states?

(A) Andhra Pradesh, Karnataka, Kerala, Gujarat and Maharashtra

(B) Kerala, West Bengal, Odisha, Bihar and Jharkhand

(C) Chhattisgarh, Odisha, Himachal Pradesh, Punjab and Arunachal Pradesh
(D) Andhra Pradesh, Telangana, Madhya Pradesh, Rajasthan and Tripura

Which of the following countries launched the Probe called Hope into Mars orbit and became the
fifth country to launch the Probe into Mars Orbit?

(A) Canada (B) France
(C) Japan (D) UAE

Which of the following statements are correct regarding World Radio Day?
1. The World Radio Day is celebrated on 13t February
2. New World New Radio was the theme of the World Radio Day

3. UNESCO marks world Radio Day 2021 with 3 sub themes Evolution, Innovation and
Connection.

4. The celebration of World Radio Day was started from 1948 onwards
(A)1,2,3 and 4 (B) 1, 2 and 3 only
(C) 2,3 and 4 only (D) 1 and 4 only
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173.

174.

175.

176.

177.

178.

ay 2019-2020 2 Gi[52 diswa diy-iL (Banking Ombudsman Scheme) -1l s Bdcud ouoid N+

USL 5y / sul (e / [Qanl 2] /i 6 ?

(A) RBI ~8 @lsWd (Ombudsmen) — 61419 diswld (banking ombudsman), -ii-l 614121 -uudla
susl diswa (non-banking finance company ombudsman) A ofled agiRl Wi diswa
(ombudsman for digital transactions) q1d 9,

(B) Aldui A 513 A2 W2 Aal dlswiasdl - saumi sudl 6.

(C) (A) ¢4 (B) tid

(D) (A) 241 (B) U4l 16 -l

Asqd (AareR) oitl AR W2 eud 2 2 AUl 5212 Bur A 53,
(A) slidaiel (B) leist
(C) 2usalAzdn (D) BuRisd U4 518 )

cuRdl vig A8 24 Wwns WlESWL (The Food Safety and Standards Authority of India) W&l

Gewrg i Alailis 21§21 2013 (TFA) 0L ucu-oluisy |sn Yl [RiBid 54 8.
(A)2 B)3

©4 D)5

51 — SAlAU AP ARUL AHARUL S, A2l Al A3l 6L

(A) idAIU uLudla ¢isin
(B) idA|A QIR Ad16+
(C) YL 8%

(D) Buisd U4 s ]

ﬁguﬂ%élg 81 b‘{c-élags zgs\t A2ade (Futuristic High Altitude Pseudo Satellite) spoid A= Y4

53 [ sul Qe / [Qaunl e /i o ?

Lo %208 2l UsRel WaH W s2 6 ol Hind Al [AHiA AlHiil-) 2ie: 5110050 5280 214 a8
[Axin g2 &aml nda 524l

IL d 700 [3eile-u »{dR aauis u A4l U8R 530 a3 € 2xa1 350 [saidle: Yl oS urd 2udl as 8.

TI1. 20 25NAD HS 530US+3 A2 Aol f|z2H (CATS) saUHi 20y .

IV. 21 25Ul [Asaaa [-gat AR5 dlHIZS @ollerR €.

(A) L IL, III 24 IV (B) $5d II, IT1 2 IV

(C) $5d 1, 11 241 111 (D) 554 1

3,@[1“!{'1 SIRUEET! alsaudl yAsis (Democracy Index) 2020 Hi MIRd 5469,
(A) 6341 (B) 6041

(©) 5581 (D) 5311
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173.

174.

175.

176.

177.

178.

Which of the following statements is/are correct regarding Annual Report of the Banking
Ombudsman Schemes for the year 2019-2020?

(A) RBI has three Ombudsmen i.e Banking Ombudsman, Non Banking Finance Company

Ombudsman and Ombudsman for Digital Transactions
(B) A new Ombudsman for Cooperative Societies was established recently
(C) Both (A) and (B)
(D) Neither (A) nor (B)

India and signed a Memorandum of Understanding for the construction of Shahtoot
(Lalander) Dam.

(A) Bangladesh (B) Sri Lanka

(C) Afghanistan (D) None of the above

The Food Safety and Standards Authority of India has restricted the permissible amount of

industrial Trans Fatty Acid (TFA) in food products to percent.
(A)2 (B)3
©4 D)5

Okonjo—Iweala has been in news recently, she became the chief of the
(A) International Monetary Fund

(B) World Trade Organization

(C) Euro Bank

(D) None of the above

Which of the following statements is/are correct regarding Futuristic High Altitude Pseudo
Satellite?

1. [Itis a first of its kind project, where a manned aircraft will operate within the boundary and

the unmanned aircraft will enter the enemy zone

2. Itcanstraightway hit the target ata distance of 700 kilometres or can go upto 350 kilometres and

come back
3. This technology has been named Combined Air Teaming System (CATS).

4. Hindustan Aeronautics Limited is a partner in developing this technology

(A)1,2,3 and 4 (B) 2, 3 and 4 only

(C) 1,2 and 3 only (D) 1 only

India ranked at position in European Union’s Democracy Index 2020.
(A) 63 (B) 60

(C) 55* (D) 53

[CSP-2] [PT.0.
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179. RuUAHIR Q253 trncl ouoid, DA WL s (s i 8 ?
L RUAHRY ad aioL 8.
L 2o e Afgi 9.
II1. 4953 eanall yd RuAHIRA UYL (A Fird gl
IV. Aand dlon $12 3uisAla Rl drgd - m-a 42l 2odl.

(A) L 1L, I 24, TV (B) $4d 11, IIT A IV
(C) $5d I, 1T A1 111 (D) $5d 1 21 IV
180. cuRrdly Aised wdl MQ-9B s Ysdlud-e (Sea Guardian equipment) A dad
Emd $Y, U 8.
(A) 4.5., A52 al-dlo Alzeu (B) 4. 2.3, $ir
(C) 51, 3R lren (D) SRRAUA, Y 1A
181, AlBdHl 852l AN sA Q{123 ISRO 1 €32 - LH2 20w, 2u 8.

-\

(A) 2R YA Al | sri-ls wdare 25

(B) iR Yl Alell Wig GSLV weg dia us

(C) -l 3R AleH % GuaAsi-ll eruasend wig 4 8.
(D) BuRisd WA 51 «dl.

182. $ae (Igla) RRuda suotd A1 WA 5y / sai [ / Q- 0 /i 8 ?
(A) 4 28 walfd A2 yod Rusa 8.
(B) S21a (Igla) +lell s 220U A wir2eid $-5133 iHlol R a 8.
(C) (A) ¢4 (B) bid
(D) (A) ¥ (B) U4 518 )

183. AUHL AHL-L ALY Genrt, (8 an, 951 AU Beurt dals (Ad 1y .
(A) dlRa-ug (B) U4
(C) x38U44 ULl (D) [l3su
184. way, vl audly sudl © P9 usnayds And Aldls wuann Ase
-2t udlaw s,
(A) 351432 HA/WY, SQUH-5 (B) 251020 1 2wy, [Aoru-1
(C) SSRY, [asu-5 (D) BuRisd U4 518 )
185. Al dRHI HIRdlL APUHL Y23 222U [Rud SAsE)s 5121 [Aula 22en -5 2iyel vl f-)
yel sudl ey s2l.
(A) AxUd (B) HSIRN
(C) 30 (D) BuRisd U4 s ]
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179.

180.

181.

182.

183.

184.

18S.

Which of the following statements are correct regarding the Myanmar military Coup?
1. Yangoo is the currency of Myanmar

2. Naypyitaw is the capital city of Myanmar

3.  Win Myint was the President of Myanmar before the military coup

4

National League for Democracy won the recent general elections in Myanmar

(A)1,2,3 and 4 (B) 2,3 and 4 only
(C) 1,2 and 3 only (D) 1 and 4 only
Indian Navy inducted MQ-9B Sea Guardian equipment on lease from country, these are

(A) UK, Rocket Launching systems
(B) USA, Drones

(C) France, Radar Systems

(D) Israel, Frigates

Hindustan Aeronautics Limited delivered C32-LH2 to ISRO recently, this is
(A) Biggest Ever Cryogenic Propellant Tank

(B) Biggest Ever Launch pad for GSLVs

(C) Nano Radar System which tracks the orbit of Satellites

(D) None of the above

Which of the following statements is/are correct regarding Igla Missile?

(A) It is a Russian Origin Short Range Missile

(B) The Igla Missile is a Russian Man Portable infrared homing Surface to Air Missile

(C) Both (A) and (B)

(D) Neither (A) nor (B)

The Rimona National Park, the reserved forest, is proposed to be set up as the 6t National Park
in the state of

(A) Tamil Nadu (B) Assam

(C) Arunachal Pradesh (D) Sikkim

is the first private Indian company which successfully testfired a solid propulsion rocket

engine named

(A) Skyroot Aerospace, Kalam-5 (B) Skyspace Aero systems, Vijay-1
(C) SSRY, Vikaram-5 (D) None of the above

Tesla Inc, United States based electric car maker has incorporated a fully-owned subsidiary in
state of India recently.

(A) Gujarat (B) Maharashtra

(C) Kerala (D) None of the above

[CSP-2] rro. EJ
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186.

187.

188.

189.

190.

191.

192.

193.

194.

Srglu UgNRL (AR GISHL ALB AR L AS A AZAIR HIRA 2018-19 Hi §-d22 (E-Waste) -l
25t x1sAd sul.

A1 (B)5 (C) 10 (D) 52

AL AR5 Higl AU H[ER 222 ARUA bi=uL. dil 6llg AU 5 [Rysd a-uR oila
aspHA 8.

(A) FUSAUA 183 (B) S+ElL i)

(O VL dl. [ pa (D) HIRRY A1

AYSA AU VAU AFAR HSIHIAAL 1281 AT vieL YR8 (food insecurity) L AHAL 530
234l dlsi-l Ava sl a4 [Rlauq aq o 24 6.

(A) 225 (B) 265 (C) 305 (D) 325

MR ARSI [ Sty 3.0 cuotd A1 WA sui [Qeunl i e ?

L 20 s1dsH oL dotssiziu, 2130 56208l 2021 9 244 224 Wi, 2021 9l 23 su4i >uq9.

IL 2L S1ASH AHA GURAHE 812 4AUHE 2193l.

1L A2 S 3.0 AiRdni [ 3 adadl Jigail 244 sunsid x50 43 wsardl uda .
IV. 20 stisuql woteslls unnd 250 LBrecuil 24601 Avimani [Byeaiil als asllgd scuni 2uei 6.
(A) L IL, TII 244 IV (B) $5 11, 111 1 IV

(C) $5d 1, 11 241 11T (D) $5d 1 A1 IV

Y2512 oltotd N WA 5y / sui (A / (a0 /i 6 ?

(A) Al vl 0o Y512 HISAL 2 tUNSRURL HALQY GIRL HUUAHE 2Ud €9,
(B) oLl Y51l (ust YesRl) Agld Haaau g1 8 saHi 2ud 9.

(C) (A) ¥4 (B) tin

(D) (A) ¥ (B) U4l 518 )

AP AU MRl (3522 AU Ud ICC 1L UAH “UQUR 215 HA Y512 DIl garl vicndl
241 Y512 H[SAL AdlHi el

(A) dze -l (B) 212 [aa

(C) elaa 2ulzs (D) YMé~3

Alflu Ba S22 vMUA ABd-L ASUA A4AIR VAL A¥ PM 2.5 sl UgNRI-iL 51281 [Bedlni
202 ALSIH 2 JHIL.

(A) 24,000 (B) 34,000 (C) 44,000 (D) 54,000

N2 WL 56 el SIRAL S 2UYN HAAU A5l WHRLA Wi 24 8 ?

(A) SIRI-ISAR (B) siRi-udl2

(C) SRR (D) Buisd U4 518 <l

SHAUA Al ASURL WA ARI-4 (Arrow-4) uHdl oicdléls [Ruda dles [Asuaqdl
Ndd 431 €.

(A) Yo, (B) H1Rd (C) 51 (D) (A
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186.

187.

188.

189.

190.

191.

192.

193.

194.

According to the recent report of the Central Pollution Control Board, India collected
percent of E-waste generated in 2018-19.

Ay B)5 O)10 (D) 52

Prime Minister Narendra Modi became the chairman of the Somnath Temple Trust, he is the
second Prime Minister who has been appointed as chairman after

(A) Jawaharlal Nehru (B) Indira Gandhi

(C) PV Narasimha Rao (D) Morarji Desai

According to United Nations Report, number of people facing food insecurity is set to double to
million in Asia due to pandemic.

(A) 225 (B) 265 (C) 305 (D) 325
Which of the following statements are correct regarding Mission Indradhanush 3.0 of Government
of India?

1. This programme will be launched in two rounds starting from 215t February 2021, and
22nd March 2021.

2. This programme will be conducted all over India

3. The mission Indradhanush 3.0 initiative was to provide immunization to the pregnant women
and children free of cost in India

4. As per the guidelines of this schemes the districts have been classified to 250 as Low risk

districts
(A)1,2,3 and 4 (B) 2,3 and 4 only
(O) 1,2 and 3 only (D) 1 and 4 only

Which of the following pairs is/are correct regarding awards?

(A) Pradhan Mantri Rashtriya Bal Puraskar awards are instituted by the Ministry of Women and
Child Welfare

(B) Ministry of Culture declares the Civilian awards (Padma Awards)
(C) Both (A) and (B)
(D) Neither (A) nor (B)

Indian Cricketer Rishab Pant won the ICC’s first Player of the Month award recently,
country’s player won this award in women category.

(A) West Indies (B) Australia (C) South Africa (D) New Zealand
Around people lost lives in Delhi last year due to PM 2.5 air pollution according to a
recent report of Greenpeace Southeast Asia?

(A) 24,000 (B) 34,000 (C) 44,000 (D) 54,000

Which of the following medicines received the certification from Ayush ministry for Corona?

(A) Coronacure (B) Coronaveer

(C) Coronazene (D) None of the above

Israel has announced development of a new Ballistic Missile shield named Arrow-4 in
collaboration with

(A) USA (B) India (C) France (D) Russia

[CSP-2] rro. 4



sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


195.

196.

197.

198.

199.

200.

AYsd AL VL A 40 20221 (The United Nations Food and Agriculture Organization - FAQ) A

612 3 $16-3UA AP dARHI A 2020 &) A8 245 aed (Tree City of World) d¥l5 [Ragq 53 .
(A) HHELNE (B) Sgl6ug

(C) Slast (D) 61243

Al i Asu[AsiA 2ul85d Ad (On record) Alell ot Sl 2., A siauidl Hoeui €9,

(A) 2ul3s [as

(B) S eNANuA WA 12l (Mammoth)

(C) Ml e

(D) u2dlun sioug

AR ARHL 5% U2 AU A (32 v W25 215 Alegr) w82, 2015 Wi HIRL $341 YR
ouetd A1 WA su [Qeu-l i € ?

L 20 YHRL sue [Feauti-u sun yRan 2»s4 (Child Protection Unit) [¥eal Hoee (DM) 850
514 524,

IL DM ada Ad cunseurt ARldg (Child Welfare Committee) 241 w1 gd-uSa widlu HsH
(Specialised Juvenile Police Unit) o Heuis 534l.

IIL. dil sUo AU AL (Child Care Institute) <l BHAL 24 W2NER[ASL ASIUA AIReUE d-l agll
HI2 MeHRL A A,

(A) L, IT ¢4 11T (B) $5d I1 24 111
(C) $5d T AA 1T (D) $5d 1 A 111

-

A3 (Sandes) UH-L AU A3 53 6. 21 Al Aew WesiH AlzuGu B 9.
(A) S8lunt §-2éleye wiis 251D, Ul
(B) S-8lun $-dleye 2is 25, AidloR
(C) S-8lunt S2éleye s 251D, WIdYR
(D) GuRisd WA i )

Sdlut i+ d=doy Raqdll Ao 2ugla ouotd NA-u Wl 53 / sui [Qa / (@l g /i o ?
L G2 [Qua sonau 20 -l 2uglt e sl

1L <dl 2ugfa A25eL auna-l 10,000 A6€l] siAg sal.

ML d &, seisla, Wisa, 250sd, adladl x4 5 qdtdl aoei-il L d-l 2ig2 ada s2al.
(A) L, IT %A1 11T (B) $5c 11 241 111

(C) $5a 11 (D) $5d 1 24 111

AR A=Al G5l euoid - WA 53 / sul [t / (el 02 /i o ?

(A) G50 sudloy (sl i3 21-usR s 2132 59) 252, 1970 Hi YHIRA sAUHI 2048l
(B) 614101 $urllos (RAscloflart 2ivs 21musR 28 2is2510%) 2452, 1980 Hi YHUIRL s 2ual.
(C) (A) #1 (B) bid

(D) (A) ¥ (B) U4 518 1l
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195.

196.

197.

198.

199.

200.

The United Nations Food and Agriculture Organization (FAO) and the Arbor Day Foundation

have recently recognized as 2020 Tree City of World.

(A) Ahmedabad (B) Hyderabad

(C) Kolkata (D) Bengaluru

The scientists have recently recovered the oldest DNA on record from the teeth of
(A) African Lions (B) Siberian Mammoths

(C) Indian Tigers (D) Australian Kangaroos

Recently the Union Cabinet approved the amendments to the Juvenile Justice, Care and Protection
and Children Act 2015. In this regard which of the following statements is/are correct?

1. After this amendment, the Child Protection Unit of districts will function under the District
Magistrate (DMs).

2. DMs can independently evaluate Child Welfare Committee and the Specialised
Juvenile Police Unit.

3. He can check the capacity and background of the Child Care Institute, following which they
will be recommended for registration.

(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 2 only (D) 1 and 3 only

has launched an app called Sandes. This instant messaging platform is similar
to WhatsApp.

(A) Indian Institute of Technology, Madras

(B) Indian Institute of Technology, Gandhinagar
(C) Indian Institute of Technology, Kharagpur
(D) None of the above

Which of the following statements is/are correct regarding third edition of Indian Sign Languages
dictionary?

1. The Ministry of Higher Education will release this third edition

2. The new edition will comprise 10,000 terms of daily use.

3. It will also include the academic, legal, medical, technical, administrative and agricultural
terms in it.

(A)1,2and 3 (B) 2 and 3 only
(C) 2 only (D) 1 and 3 only

Which of the following statements is/are correct regarding amendments to the public sector
banks?

(A) Amendments will be made in the Banking Companies (Acquisition and Transfer of
Undertakings) Act, 1970.

(B) Amendments will be made in the Banking Companies (Acquisition and Transfer of
Undertakings) Act, 1980

(C) Both (A) and (B)
(D) Neither (A) nor (B)

[CSP-2] rro. [H
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